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‘hmamîQ́> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h

(4)  Am{W©H$ Am{U gm‘m{OH$ {dH$mg (15)
1) eml²dV {dH$mg (2)
2) J[a~r (2)
3) gd©g‘mdoeH$Vm (2)
4) bmoH$g§»`memó (2)
5) gm‘m{OH$ joÌmVrb CnH«$‘ (2)
6) ^maVr` AW©ì`dñWm - gmd©O{ZH$ {dÎm (1)
7) {dXoer ì`mnma (1)
8) ~±qH$J, ‘hmJmB© (1)
9) CÚmoJ (1)
10) eoVr (1)

1) dmT> Am{U {dH$mg - joÌr` dmT>, EgS>rOr, n§Mdm{f©H$ ¶moOZm d {dH$mg H$m¶©H«$‘
2) ^maVr¶ AW©ì¶dñWoMr AmìhmZo d Am{W©H$ gwYmaUm - amï´>r` CËnÞ - OrìhrE, OrS>rnr
3) J[a~rMr g§H$ënZm, ‘moO‘mn Am{U A§XmO, J[a~r {Z‘y©bZ H$m ©̀H«$‘
4) ~oH$mar - H$maUo, ñdén, àH$ma, amoOJma {Z{‘©Vr H$m ©̀H«$‘
5) {d{dY d§{MV JQ>m§À`m g§X^m©V gd©g‘mdoeH$Vm d gm‘m{OH$ gwajm
6) {dH$mg H$m ©̀H«$‘ - ‘{hbm, ‘wbo, ¶wdH , àH$ën~m{YV, `m§À`m g§X^m©V
7) {ejU, Amamo½`, H¥$fr, J¥h{Z‘m©U joÌmMm {dH$mg
8) ‘hmJmB© - H$maUo, n[aUm‘, {Z §̀ÌU, Cnm`. ‘°H«$mo BH$m°Zm°{‘Šg / g‘J«bjr AW©emó
9) bmoH$g§»`m - g§»¶mË‘H$ Am{U JwUmË‘H$ d¡{eîQ>ço
10) bmoH$g§»`m MH«$, bmoH$g§»`m YmoaU
11) Am{W©H$ Am{U {dÎmr` YmoaU - H$a, {~Ja H$a, ^m§S>dbr ‘hgyb, gmd©O{ZH$ {dÎm Am{U {dÎmr` g§ñWm,AW©g§H$ën,

gmd©O{ZH$ IM©, boIm Am{U boImnarjU
12) ^maVmMm {dXoer ì`mnma - AmH$ma‘mZ, {Xem Am{U aMZm , Am§Vaamï´>r` AW©emó Am{U Am§Vaamï´>r` ^m§S>db Midi
13) ~±qH$J- MbZ nwadR>m, H«o${S>Q> Am{U ‘m°{ZQ>ar nm°{bgr
14) ^maVr` CÚmoJ, nm`m ŷV gw{dYm Am{U godm joÌ
15) H¥$fr Am{U J«m‘rU {dH$mg - ghH$ma joÌ

1) eml²dV {dH$mg (2)

46) dmT> Am{U {dH$mg - joÌr` dmT>, EgS>rOr, n§Mdm{f©H$ ¶moOZm d {dH$mg H$m¶©H«$‘
47) ^maVr¶ AW©ì¶dñWoMr AmìhmZo d Am{W©H$ gwYmaUm - amï´>r` CËnÞ - OrìhrE, OrS>rnr

2) J[a~r (2)

48) J[a~rMr g§H$ënZm, ‘moO‘mn Am{U A§XmO, J[a~r {Z‘y©bZ H$m ©̀H«$‘
49) ~oH$mar - H$maUo, ñdén, àH$ma, amoOJma {Z{‘©Vr H$m ©̀H«$‘
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3) gd©g‘mdoeH$Vm (2)

50) {d{dY d§{MV JQ>m§À`m g§X^m©V gd©g‘mdoeH$Vm d gm‘m{OH$ gwajm
51) {dH$mg H$m ©̀H«$‘ - ‘{hbm, ‘wbo, ¶wdH , àH$ën~m{YV, `m§À`m g§X^m©V

4) gm‘m{OH$ joÌmVrb CnH«$‘ (2)

52) {ejU, Amamo½`, H¥$fr, J¥h{Z‘m©U joÌmMm {dH$mg
53) ‘hmJmB© - H$maUo, n[aUm‘, {Z §̀ÌU, Cnm`. ‘°H«$mo BH$m°Zm°{‘Šg / g‘J«bjr AW©emó

5) bmoH$g§»`memó (2)

54) bmoH$g§»`m - g§»¶mË‘H$ Am{U JwUmË‘H$ d¡{eîQ>ço
55) bmoH$g§»`m MH«$, bmoH$g§»`m YmoaU

6) ^maVr` AW©ì`dñWm - gmd©O{ZH$ {dÎm (1)

56) Am{W©H$ Am{U {dÎmr` YmoaU - H$a, {~Ja H$a, ^m§S>dbr ‘hgyb
gmd©O{ZH$ {dÎm Am{U {dÎmr` g§ñWm
amï´>r` CËnÞ - OrìhrE, OrS>rnr
AW©g§H$ën
gmd©O{ZH$ IM©
boIm Am{U boImnarjU

7) {dXoer ì`mnma (1)

57) Am§Vaamï´>r` AW©emó Am{U Am§Vaamï´>r` ^m§S>db Midi
^maVmMm {dXoer ì`mnma - AmH$ma‘mZ, {Xem Am{U aMZm

8) ~±qH$J, ‘hmJmB© (1)

58) ~±qH$J- MbZ nwadR>m, H«o${S>Q> Am{U ‘m°{ZQ>ar nm°{bgr

9) CÚmoJ (1)

59) ^maVr` CÚmoJ, nm`m ŷV gw{dYm Am{U godm joÌ

10) eoVr (1)

60) H¥$fr Am{U J«m‘rU {dH$mg - ghH$ma joÌ
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Am{W©H$ Am{U gm‘m{OH$ {dH$mgda àíZ AgUmè¶m ‘hmamḯ> bmoH$godm
Am¶moJmÀ¶m narjm

1) amÁ¶godm nyd©narjm nona -1, OmZodmar 2022
2) amÁ¶godm nyd©narjm nona -1, OmZodmar 2022
3) JQ> -~ g§¶wº$ nyd©narjm, ’o$~«wdmar 2022
4) {d^mJr¶ EEgAmo narjm nona -1, ‘mM© 2022
5) {d^mJr¶ EEgAmo narjm nona -1, ‘mM© 2022
6) Oo‘E’$gr d {XdmUr Ý¶m¶mYre H${Zð> ñVa nyd© narjm, ‘mM© 2022
7) JQ> -H$ g§¶wº$ nyd©narjm, E{àb 2022
8) ImË¶m§VJ©V nmocrg Cn{ZarjH$ nyd©narjm, E{àb 2022
9) ‘hmamï´> amÁ¶ Vm§{ÌH$ nyd© narjm, E{àb 2022
10) amÁ¶godm gm_mÝ` AÜ``Z nona -1, ‘o 2022
11) amÁ¶godm gm_mÝ` AÜ``Z nona -2, ‘o 2022
12) amÁ¶godm gm_mÝ` AÜ``Z nona -3, ‘o 2022
13) amÁ¶godm gm_mÝ` AÜ``Z nona -4, ‘o 2022
14) amÁ¶ H$a {ZarjH$ ‘w»¶ narjm, Owb¡ 2022
15) ghm¶H$ H$j A{YH$mar ‘w»¶ narjm, Owb¡ 2022
16) JQ>-H$, ‘w»¶ narjm nona -1, Am°JñQ> 2022
17) {b{nH$ Q>§H$boIH ‘w»¶ narjm, Am°JñQ> 2022
18) Xþæ¶‘ {ZarjH$ ‘w»¶ narjm, Am°JñQ> 2022
19) amÁ¶godm nyd©narjm nona -1, Am°JñQ> 2022
20) amÁ¶godm nyd©narjm nona -2, Am°JñQ> 2022
21) H$a ghm¶H$ ‘w»¶ narjm, Am°JñQ> 2022
22) Vm§{ÌH$ ghm¶H$ ‘w»¶ narjm, gßQ>|~a 2022
23) CÚmoJ {ZarjH$ ‘w»¶ narjm, gßQ>|~a 2022
24) H¥$fr godm ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
25) H¥$fr godm ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
26) dZgodm ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
27) dZgodm ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
28) JQ> -~ g§¶wº$ nyd©narjm, Am°³Q>mo~a 2022
29) amÁ¶ H$a {ZarjH$ ‘w»¶ narjm, Am°³Q>mo~a 2022
30) ghm¶H$ H$j A{YH$mar ‘w»¶ narjm, Am°³Q>mo~a 2022
31) JQ>-H$ godm g§¶wº$ nyd©narjm, Zmoìho§~a 2022
32) A{gñQ>§Q> Q>mD$Z ßb°Za narjm, Zmoìh|~a 2022
33) d[að> g§emoYZ A{YH$mar narjm, {S>g|~a, 2022
34) àemgH$s¶ A{YH$mar narjm, {S>g|~a 2022
35) {d^mJr¶ EEgAmo narjm nona -1, {S>g|~a 2022
36) {d^mJr¶ EEgAmo narjm nona -2, {S>g|~a 2022
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37) ‘hmamï´> amÁ¶ Vm§{ÌH$ nyd©narjm, {S>g|~a 2022
38) newd¡ÚH$s¶ A{YH$mar narjm,  {S>g|~a 2022

‘hmamḯ> bmoH$godm Am¶moJmÀ¶m narjm
1) amÁ¶godm nyd©narjm nona -1, OmZodmar 2022
2) amÁ¶godm nyd©narjm nona -1, OmZodmar 2022
3) JQ> -~ g§¶wº$ nyd©narjm, ’o$~«wdmar 2022
4) {d^mJr¶ EEgAmo narjm nona -1, ‘mM© 2022
5) {d^mJr¶ EEgAmo narjm nona -1, ‘mM© 2022
6) Oo‘E’$gr d {XdmUr Ý¶m¶mYre H${Zð> ñVa nyd© narjm, ‘mM© 2022
7) JQ> -H$ g§¶wº$ nyd©narjm, E{àb 2022
8) ImË¶m§VJ©V nmocrg Cn{ZarjH$ nyd©narjm, E{àb 2022
9) ‘hmamï´> amÁ¶ Vm§{ÌH$ nyd© narjm, E{àb 2022
10) amÁ¶godm gm_mÝ` AÜ``Z nona -1, ‘o 2022
11) amÁ¶godm gm_mÝ` AÜ``Z nona -2, ‘o 2022
12) amÁ¶godm gm_mÝ` AÜ``Z nona -3, ‘o 2022
13) amÁ¶godm gm_mÝ` AÜ``Z nona -4, ‘o 2022
14) JQ>-~, ‘w»¶ narjm nona -1, Owb¡ 2022
15) Oo‘E’$gr ‘w»¶ narjm nona-1, Owb¡ 2022
16) Oo‘E’$gr ‘w»¶ narjm nona-2, Owb¡ 2022
17) nmobrg Cn{ZarjH$ ‘w»¶ narjm, Owb¡ 2022
18) amÁ¶ H$a {ZarjH$ ‘w»¶ narjm, Owb¡ 2022
19) ImË¶m§VJ©V nmocrg Cn{ZarjH$ ‘w»¶ narjm, Owb¡ 2022
20) ghm¶H$ H$j A{YH$mar ‘w»¶ narjm, Owb¡ 2022
21) JQ>-H$, ‘w»¶ narjm nona -1, Am°JñQ> 2022
22) ghm¶H$ gaH$mar A{^¶moº$m narjm nona -1, gßQ>|~a 2022
23) ghm¶H$ gaH$mar A{^¶moº$m narjm nona -2, gßQ>|~a 2022
24) {b{nH$ Q>§H$boIH ‘w»¶ narjm, Am°JñQ> 2022
25) Xþæ¶‘ {ZarjH$ ‘w»¶ narjm, Am°JñQ> 2022
26) amÁ¶godm nyd©narjm nona -1, Am°JñQ> 2022
27) amÁ¶godm nyd©narjm nona -2, Am°JñQ> 2022
28) H$a ghm¶H$ ‘w»¶ narjm, Am°JñQ> 2022
29) Vm§{ÌH$ ghm¶H$ ‘w»¶ narjm, gßQ>|~a 2022
30) JQ>-~ ‘w»¶ narjm nona-1 , gßQ>|~a 2022
31) CÚmoJ {ZarjH$ ‘w»¶ narjm, gßQ>|~a 2022
32) nmobrg Cn{ZarjH$ (‘w»¶) narjm, gßQ>|~a 2022
33) H¥$fr godm ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
34) H¥$fr godm ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
35) ¶m§{ÌH$s A{^¶m§{ÌH$s ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
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36) ¶m§{ÌH$s A{^¶m§{ÌH$s ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
37) dZgodm ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
38) dZgodm ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
39) JQ> -~ g§¶wº$ nyd©narjm, Am°³Q>mo~a 2022
40) amÁ¶ H$a {ZarjH$ ‘w»¶ narjm, Am°³Q>mo~a 2022
41) ghm¶H$ H$j A{YH$mar ‘w»¶ narjm, Am°³Q>mo~a 2022
42) {dÚwV A{^¶m§{ÌH$s ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
43) {dÚwV A{^¶m§{ÌH$s ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
44) ñWmnË¶ A{^¶m§{ÌH$s ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
45) ñWmnË¶ A{^¶m§{ÌH$s ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
46) JQ>-H$ godm g§¶wº$ nyd©narjm, Zmoìho§~a 2022
47) A{gñQ>§Q> Q>mD$Z ßb°Za narjm, Zmoìh|~a 2022
48) AZwdmXH$ (‘amR>r) MmiUr narjm, [S>g|~a, 2022
49) d[að> g§emoYZ A{YH$mar narjm, {S>g|~a, 2022
50) àemgH$s¶ A{YH$mar narjm, {S>g|~a 2022
51) {d^mJr¶ EEgAmo narjm nona -1, {S>g|~a 2022
52) {d^mJr¶ EEgAmo narjm nona -2, {S>g|~a 2022
53) ‘hmamï´> amÁ¶ Vm§{ÌH$ nyd©narjm, {S>g|~a 2022
54) ñQ>oZmo ‘amR>r narjm,  {S>g|~a 2022
55) ñQ>oZmo B§J«Or narjm,  {S>g|~a 2022
56) newd¡ÚH$s¶ A{YH$mar narjm,  {S>g|~a 2022
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‘hmamîQ́> bmoH$godm Am¶moJ narjm 2023
1) ^maVmMm B{Vhmg Am{U ̂ maVr` amï´>r` Midi (15)
2) ‘hmamï´>, ̂ maV Am{U OmJ{VH$ ̂ yJmob (15)
3) ^maVr` amÁ¶ì¶dñWm Am{U emgZ (15)
4) Am{W©H$ Am{U gm‘m{OH$ {dH$mg (15)
5) n[apñW{VH$s, O¡d-{d{dYVm Am{U hdm‘mZ ~Xb (10)
6) gm‘mÝ` {dkmZ (15)
7) Mmby  KS>m‘moS>r -  amï´>r` Am{U Am§Vaamï´>r` ‘hÎd (15)
8) Vm{H©$H$  Am{U {dl²bofUmË‘H$ j‘Vm (10)
9) gm‘mÝ` ‘mZ{gH$ j‘Vm (7)
10) ‘yb ŷV g§»`mË‘H$ j‘Vm (8)
11) {ZU©¶j‘Vm Am{U g‘ñ`m gmoS>dUyH$, g§dmX H$m¡eë` d Am§Vaì¶º$s H$m¡eë`  (5)
12) AmH$bZ, ‘amR>r Am{U B§J«Or ̂ mfm AmH$bZ H$m¡eë ò (50)
13) ‘m{hVr A{YH$ma A{Y{Z¶‘ (5)
14) ‘hmamîQ´> bmoH$godm h¸$  (5)
15) ‘m{hVr d g§àofU V§ÌkmZ  (10)

(1)  ^maVmMm B{Vhmg Am{U ^maVr` amḯ>r` Midi (15)
1) àmMrZ ^maVmMm B{Vhmg (4)
2) ‘Ü¶¶wJrZ  ^maVmMm B{Vhmg (3)
3) AmYw{ZH$ ^maVmMm B{Vhmg (4)
4) ^maVr` amï´>r` Midi (4)

(2)  ‘hmamḯ>, ^maV Am{U OmJ{VH$ ŷJmob (15)
1) OJmMm ^m¡{VH$ ŷJmob (3)
2) OJmMm gm‘m{OH$ ŷJmob (1)
3) OJmMm Am{W©H$ ŷJmob (1)
4) ^maVmMm ^m¡{VH$ ŷJmob (2)
5) ^maVmMm gm‘m{OH$ ŷJmob (1)
6) ^maVmMm Am{W©H$ ŷJmob (2)
7) ‘hmamï´>mMm ^m¡{VH$ ŷJmob (2)
8) ‘hmamï´>mMm gm‘m{OH$ ŷJmob (1)
9) ‘hmamï´>mMm Am{W©H$ ŷJmob (2)

(3)  ‘hmamḯ> Am{U ^maV - ^maVr` amOH$maU Am{U emgZ (15)
1) g§{dYmZ - ^maVmÀ¶m amÁ¶KQ>ZoMm àmW{‘H$ Aä¶mg (3)
2) amOH$s` ì`dñWm (3)
3) n§Mm`Vr amO Am{U ehar emgZ (3)
4) gmd©O{ZH$ YmoaU (3)
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5) ‘mZdr h¸$ g‘ñ`m (3)
* ‘m{hVr A{YH$ma A{Y{Z¶‘, 2005
* ‘hmamîQ´> bmoH$godm h¸$, 2015

(4)  Am{W©H$ Am{U gm‘m{OH$ {dH$mg (15)
1) emœV {dH$mg (2)
2) J[a~r (2)
3) g‘mdoe (2)
4) bmoH$g§»`memó (2)
5) gm‘m{OH$ joÌmVrb CnH«$‘ (2)
6) ^maVr` AW©ì`dñWm - gmd©O{ZH$ {dÎm (1)
7) {dXoer ì`mnma (1)
8) ~±qH$J, ‘hmJmB© (1)
9) CÚmoJ (1)
10) eoVr (1)

(5) n[apñW{VH$s, O¡d-{d{dYVm Am{U hdm‘mZ ~Xb (10)
1) n[apñW{VH$s (2)
2) O¡d{d{dYVm (2)
3) hdm‘mZ ~Xb (2)

(6)  gm‘mÝ` {dkmZ (15)
1) ^m¡{VH$emó (3)
2) agm¶Zemó  (3)
3) àm{Uemó  (2)
4) dZñn{Vemó  (2)
5) H¥$fr / eoVrg§b¾ {dkmZ (2)
6) Amamo½¶emó  (5)
7) {dkmZ Am{U V§ÌkmZ (2)
* ‘m{hVr d g§àofU V§ÌkmZ

(7)  Mmby KS>m‘moS>r, amḯ>r` Am{U Am§Vaamḯ>r` ‘hÎd (15)
1) amOH$s¶ KQ>Zm  (2)
2) Am{W©H$ d {dÎmr¶ KQ>Zm (2)
3) d¡km{ZH$ KQ>Zm (2)
4) gm‘m{OH$ d e¡j{UH$ KQ>Zm (2)
5) ^m¡Jmo{bH$, gm§ñH¥${VH$ d gm{hpË¶H$ KQ>Zm (3)
6) Zo‘UwH$m d nwañH$ma$ KQ>Zm (2)
7) gm‘mÝ¶kmZ d H«$sS>m{df¶H$ KQ>Zm (2)

(8) Vm{H©$H$ VH©$ Am{U {dl²bofUmË‘H$ j‘Vm (10)
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1) {Xboë¶m dmŠ`aMZodéZ {ZU©̀ , {ZîH$f© H$mT>Uo
2) {dYmZo Am{U ẁ{º$dmX, {dYmZo Am{U J¥{hVHo$, {dYmZo Am{U {ZîH$f©
3) n[apñWVr Am{U à{VgmX, n[aÀN>oXm§déZ {ZîH$f© H$mT>Uo
4) {dYmZ Am{U H¥$VrMm ‘mJ©, à{VnmXZ Am{U H$maU, {dYmZmÀ`m gË`VoMr nS>VmiUr
5) ~¡R>H$, H«$‘ d ‘m§S>Ur ì`dñWm, ‘mZm§H$Z MmMUr, VwbZm
6) ZmVog§~§Y
7) ‘erZ BZnwQ> Am{U {MÝho, J{UVr` VH©$
8) ñWmZ {ZpíMVr MmMUr, {Xem{ZX}e
9) {dl²bofU, {ZU©̀  KoUo, g‘ñ`m gmoS>dUo
10) Hy$Q> ‘m{hVrdarb àíZ

(9) gm‘mÝ` ‘mZ{gH$ j‘Vm (7)
1) H«$‘ Am{U ‘m{bH$m 1
2) H«$‘ Am{U ‘m{bH$m 2
3) gm§Ho${VH$ ^mfm/ H$moqS>J-{S>H$moqS>J
4) gmå¶, VwbZm, dJuH$aU
5) J{UVr` / A§H$J{UVr` {H«$`m
6) AmH¥$Ë`m§da àl²Z 1
7) AmH¥$Ë`m§da àl²Z 2

(10) ‘yb ŷV g§»`mË‘H$ j‘Vm (8)
1) A§H$J{UVr¶  H$m¡eë¶ - Xem§e AnyUmªH$,  ~oarO, dOm~mH$s, JwUmH$ma, ^mJmH$ma Am{U gabrH$aU

g§»`màUmbr - bgm{d, ‘gm{d, KmVm§H$, dJ©‘yi Am{U KZ‘yi
2) Q> o̧$dmar, ^mJrXmar Am{U Jw§VdUyH$, JwUmoÎma Am{U à‘mU, gmIir {Z`‘
3) doi Am{U A§Va, aoëdoJmS>çm, ~moQ> Am{U Obàdmh
4) {dH«$s Am{U IaoXr, gdbV, Z’$m Am{U VmoQ>m, gai ì`mO Am{U MH«$dmT> ì`mO
5) doi Am{U H$m‘, nmB©n>, KS>çmi, H°$b|S>a, d¶mdarb  àíZ
6) g§̂ mì`Vm, H«$‘M¶, gamgar
7) ŷ{‘Vr - joÌ’$i, KZ’$i> Am{U n[a{‘Vr
8) AmboI, Vºo$, S>oQ>m g{’${gEÝgr

(11) {ZU©¶j‘Vm Am{U g‘ñ`m gmoS>dUyH$,  g§dmX H$m¡eë`- Am§Vaì¶º$s H$m¡eë` (5)
1) n[apñWVr hmVmiUo
2) àemgH$s` j‘Vm
3) gm‘m{OH$ Ym{‘©H$ g‘ñ`m
4) «̂ï>mMma, gMmoQ>r, Z¡{VH$Vm
5) ì`dñWmnH$s` H$m¡eë ò

(12) CVmao,  ‘amR>r Am{U B§J«Or ^mfm AmH$bZ H$m¡eë`(40)
1) Eo{Vhm{gH$ KQ>Zm
2) gmYZg§nÎmr d n¶m©daUr¶ ~m~r
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3) amOH$s¶ joÌ
4) Am{W©H$ d gm‘m{OH$ {dH$mg
5) {dkmZ d V§ÌkmZ joÌ
6) H$bm, g{hË¶ d gm§ñH¥${VH$ joÌ
7) ‘amR>r ^mfm AmH$bZ H$m¡eë`
8) B§J«Or ^mfm AmH$bZ H$m¡eë`

(13) ‘m{hVr A{YH$ma A{Y{Z¶‘, 2005 (5)
1) H$m¶ÚmMr CËH«$m§Vr, gwYmaUm d BVa ~m~r
2) H$m¶ÚmVrb ‘hÎdmMr H$b‘o
3) H$m¶Úmer g§~§{YV ¶§ÌUm d A{YH$mar
4) H$m¶ÚmZwgmaMr H$madmB© d {ejoMr VaVyX
5) H$m¶ÚmVrb ÌwQ>r d XþéñË¶m, Anrb

(14) ‘hmamîQ́> bmoH$godm h¸$, 2015 (5)
1) H$m¶ÚmMr CËH«$m§Vr, gwYmaUm d BVa ~m~r
2) H$m¶ÚmVrb ‘hÎdmMr H$b‘o
3) H$m¶Úmer g§~§{YV ¶§ÌUm d A{YH$mar
4) H$m¶ÚmZwgmaMr H$madmB© d {ejoMr VaVyX
5) H$m¶ÚmVrb ÌwQ>r d XþéñË¶m, Anrb

(15) ‘m{hVr d g§àofU V§ÌkmZ (10)
1) g§JUH$ V§ÌkmZ - AmYw{ZH$ g‘mOmVrc g§JUH$mMr ŷ{‘H$m, doJdoJù¶m joÌmVrc OrdZmV g§JUH$mMm dmna
2) H$å¶w{ZHo$eZ V§ÌkmZ - S>mQ>m H$å¶w{ZHo$eZ, ZoQ>d{Hª$J Am{U do~ Q>o³Zm°cm°Or
3) gm¶~a JwÝho d Ë¶mg à{V~§Y
4) emgZmMo Am¶Q>r H$m¶©H«$‘ - {‘S>r¶m c°~ E{e¶m, {dÚm dm{hZr, kmZ dm{hZr, gm‘y{hH$ ‘m{hVr H|$Ð BË¶mXr
5) ‘m{hVr V§ÌkmZ CÚmoJ - ‘m{hVr V§ÌkmZ CÚmoJmVrc ‘yc ŷV àíZ d Ë¶mMo ^{dVì¶, ZdrZ CÚmoJ åhUyZ ‘m{hVr

V§ÌkmZmMm {Za{Zamù¶m godm gw{dYm§Mr ‘m{hVr {‘iÊ¶mgmR>r hmoUmam Cn¶moJ, ̂ maVmVrc ‘m{hVr V§ÌkmZ CÚmoJmMr dmT>
d Ë¶mMm XOm©.
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‘hmamḯ> ZmJar godm amOn{ÌV nyd© narjm 2023

 ‘hmamḯ> AamOn{ÌV godm (JQ> ~ d JQ> H$) nyd© narjm 2023

‘hmamḯ> AamOn{ÌV godm ‘w»¶ narjm (JQ> ~)/(JQ> H$)2023
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‘hmamḯ> AamOn{ÌV godm ‘w»¶ narjm (JQ> ~)/(JQ> H$)  2023

nona H«$‘m§H$ - 1 : ‘amR>r d B§J«Or

1) ‘amR>r ^mfm (50)

(1) gd©gm_mÝ` eãXg§J«h /15
(2) dmŠ`aMZm/13
(3) ì`mH$aU/12
(4)  åhUr d  dmH²$àMma (AW© d Cn`moJ)/5
(5) CVmè`mdarc àíZmoÎmao/5

(2) B§J«Or ^mfm /50
(6) CommonVocabualry / 10

(7) SentenceStructure / 20

(8) Grammar /10

(9) Use of Idioms and Phrases / 5

(10) Comprehension / 5

nona H«$‘m§H$ - 2 : gm‘mÝ¶ AÜ¶¶Z d ~wpÜX‘mnZ MmMUr
1) _hmamï´>mMm ̂ yJmoc  /10
2) n¶m©daU /5
3) ^maVr¶ amÁ¶KQ>Zm/10
4) ‘m{hVr A{YH$ma A{Y{Z¶‘, 2005  /5
5) ‘hmamîQ´> bmoH$godm h¸$, 2015 /5
6) g‘J«bú¶r AW©emó /5
7) ^maVr¶ AW©ì¶dñWm/10
8) gm‘mÝ¶ {dkmZ  d V§ÌkmZ /10
9)$ ‘m{hVr d g§àofU V§ÌkmZ /5
10) Mmcy KS>m‘moS>r - OmJ{VH$ VgoM  ‘hmamï´>mgh ̂ maVmVrc /15
11) gm‘mÝ¶ ~w{Õ‘mnZ d AmH$bZ /10
12) A§H$J{UV Am{U gm§p»¶H$s /10
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{XdmUr Ý¶m¶mYre H${Zð> ñVa d Ý¶m¶X§S>m{YH$mar àW‘ dJ© narjm -2023

Civil judge (Junior Div) & Judicial Magistrate (1st Class)

Preliminary Examination

* Standard : Suitable to the post

* Maximum Marks : 100

* Medium : English

* Duration : Two Hours

* Nature of the paper : Objective type ( multiple choice question)

nyd©narjoMm Aä¶mgH«$‘
1) H$moS> Am°’$ {H«${‘Zc àmo{gOa
2) {gpìhc àmo{gOa H$moS>
3) EpìhS>Ýg A°³Q>
4) Q´>mÝg’$a Am°’$ àm°nQ>u A°³Q>
5) ñno{g{’$H$ [a{c’$ A°³Q>
6) ‘hmamï´> a|Q> H§$Q´>moc A°³Q>
7) {c{‘Q>oeZ A°³Q>
8) H$m°pÝñQ>Q>çweZ Am°’$ B§{S>¶m
9) B§{S>¶Z {nZc H$moS>
10) cm° Am°’$ H$m°ÝQ´>°³Q>, goc Am°’$ JwS²>g A°³Q> A°ÝS> nmQ>©Za{en A°³Q>

* Syllabus for Competitive Examination to the post of recruitment for  Civil judge ( junior

Division ) & Judicial Magistrate ( First Class) ( Preliminary) Examination under judi-

cial Service of the Government of Maharashtra .

1) Code of Criminal Procedure

2) Civil Procedure Code

3) Evidence Act

4) Transfer of property Act

5) Specific Relief Act

6) Maharashtra Rent Control Act

7) Limitation Act

8) Constitution of India

9) Indian penal Code

10) Law of Contracts, Sale of Goods Act & Partnership
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‘hmamîQ́> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h

Am{W©H$ Am{U gm‘m{OH$ {dH$mg

Am{W©H$ Am{U gm‘m{OH$ {dH$mg {df¶mMo KQ>H$, CnKQ>H$ Am{U ‘hÎdmMo ‘wÔo

(1)  eml²dV {dH$mg
1) dmT> Am{U {dH$mg - joÌr` dmT>, EgS>rOr, n§Mdm{f©H$ ¶moOZm d {dH$mg H$m¶©H«$‘
2) ^maVr¶ AW©ì¶dñWoMr AmìhmZo d Am{W©H$ gwYmaUm - amï´>r` CËnÞ - OrìhrE, OrS>rnr

(2)  J[a~r
3) J[a~rMr g§H$ënZm, ‘moO‘mn Am{U A§XmO, J[a~r {Z‘y©bZ H$m ©̀H«$‘
4) ~oH$mar - H$maUo, ñdén, àH$ma, amoOJma {Z{‘©Vr H$m ©̀H«$‘

(3)  gd©g‘mdoeH$Vm
5) {d{dY d§{MV JQ>m§À`m g§X^m©V gd©g‘mdoeH$Vm d gm‘m{OH$ gwajm
6) {dH$mg H$m ©̀H«$‘ - ‘{hbm, ‘wbo, ¶wdH , àH$ën~m{YV, ̀ m§À`m g§X^m©V

(4)  gm‘m{OH$ joÌmVrb CnH«$‘
7) {ejU, Amamo½`, H¥$fr, J¥h{Z‘m©U joÌmMm {dH$mg
8) ‘hmJmB© - H$maUo, n[aUm‘, {Z §̀ÌU, Cnm`. ‘°H«$mo BH$m°Zm°{‘Šg / g‘J«bjr AW©emó

(5)  bmoH$g§»`memó
9) bmoH$g§»`m - g§»¶mË‘H$ Am{U JwUmË‘H$ d¡{eîQ>ço
10) bmoH$g§»`m MH«$, bmoH$g§»`m YmoaU

(6)  ̂ maVr` AW©ì`dñWm
11) Am{W©H$ Am{U {dÎmr` YmoaU - H$a, {~Ja H$a, ^m§S>dbr ‘hgyb, gmd©O{ZH$ {dÎm Am{U {dÎmr` g§ñWm,AW©g§H$ën,

gmd©O{ZH$ IM©, boIm Am{U boImnarjU
12) ^maVmMm {dXoer ì`mnma - AmH$ma‘mZ, {Xem Am{U aMZm , Am§Vaamï´>r` AW©emó Am{U Am§Vaamï´>r` ̂ m§S>db Midi
13) ~±qH$J- MbZ nwadR>m, H«o${S>Q> Am{U ‘m°{ZQ>ar nm°{bgr
14) ^maVr` CÚmoJ, nm`m ŷV gw{dYm Am{U godm joÌ
15) H¥$fr Am{U J«m‘rU {dH$mg - ghH$ma joÌ
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(1)  emœV {dH$mg Am{U dmT>, EgS>rOr, n§Mdm{f©H$ ¶moOZm d {dH$mg H$m¶©H«$‘
1) {dH$mg Am{U dmT>
2) eml²dV {dH$mg - EgS>rOr
3) {Z¶moOZ à{H«$¶m
4) n§Mdm{f©H$ ¶moOZm d {dH$mg H$m¶©H«$‘
5) eml²dV {dH$mgmMo H$m¶©H«$‘

1) {dH$mg Am{U dmT>
1) "Am{W©H$ d¥ÕrMr' nwT>rb g§H$ënZm Hw$Ur ‘m§S>bobr Amho ?

""Am{W©H$ d¥Õr åhUOo ~MV Xa Am{U bmoH$g§»¶oV hmoUmè¶m dmT>r ‘wio XrK©H$mimV H«$‘mZo Am{U pñWanUmZo hmoUmam ~Xb
hmo¶.''
1) lr‘Vr Cgw©bm {h³g 2) àmo. qH$S>c~J©a 3) A‘Ë¶© goZ 4) àmo. ewpånQ>a

1) Who stated the following definition of Economic Growth’ ?

“Economic growth is a gradual and steady change in the long-run which comes by gradual increase

in the rate of savings and population.”

1) Mrs. Ursula Hicks 2) Prof. Kindleberger 3) Amartya Sen 4) Prof. Schumpeter

2) Zohê$§À`m gm‘m{OH$ {dH$mgmÀ¶m g§H$ënZo‘Ü¶o nwT>rcn¡H$s H$moUË¶m KQ>H$mMm g‘mdoe Zmhr ?
1) g‘mOdmX Am{U {Z¶moOZ~Õ Am{W©H$ {dH$mg    2) Am¡Úmo{JH$aU, {dkmZ d V§ÌkmZ {dH$mg
3) ŷ. gwYmaUm§À¶m ‘mÜ¶‘mVyZ J«m‘rU g‘mOmMr gwYmaUm   4) gm‘m{OH$ ~XcmH$[aVm gË¶ Am{U Aqhgm

2) Among the following, what is not the ingredient of Nehru's concept of Social Development ?

(1)  Socialism and planned economic development

(2)  Industrialization, development of Science and Technology

(3)  Improvement of rural society through land reforms

(4)  Truth and non-violence for social change

3) Hw$PZoQ>À¶m CbQ>çm "U" J¥{hVH$mZwgma ......... n{hë¶m§Xm dmT>Vmo/dmT>Vo Am{U Ë¶mZ§Va H$mbm§VamZo XoemÀ¶m {dH$mgm
~amo~a Ë¶mV KQ> hmoVo/hmoVmo.
1) ì¶mO Xa 2) n¡emMm nwadR>m 3) CËnÞmVrb {df‘Vm 4) Jw§VdUyH$

3) According to Kuznet's inverted-'U° hypothesis, ...... first rises and then falls as a country develops

over time.

Answer Options :

1) Interest rate 2) Money supply 3) Income inequality 4) Investment

4) Am{W©H$ {dH$mgmVrc {~Ja Am{W©H$ KQ>H$ ............ Amho/AmhoV.
a) ‘mZdr g§gmYZo b) Vm§{ÌH$ {ejU c) amOH$s¶ ñdmV§Í¶ d) ^m§S>dc {Z{‘©Vr
n¶m©¶r CÎmao :
1) (a) Am{U (b) 2) (b) Am{U$ (c) 3) (a),(b) Am{U (c) 4) darc gd©
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4) ........... is/are the non-economic factors in economic development.

a) Human Resources b) Technical Education  c) Political Freedom d) Capital Formation

Answer options :

1) (a) and (b) 2) (b) and (c) 3) (a),(b) and (c) 4) All of the above

5) Am{W©H$ {dH$mgmMo gm‘m{OH$ {ZX}eH$ H$moUVo AmhoV?
A) {ejU ~) Amamo½¶ H$) AÞ S>) ñWyb amḯ>r¶ CËnÞmMr d¥Õr
n¶m©¶r CÎmao …
1) ’$º$ S> 2) ’$º$ A, ~ Am{U H$ 3) ’$º$ A, ~ Am{U S> 4) ¶mn¡H$s gd©

5) Which are the social indicators of economic development ?

a) Education b) Health

c) Food d) Growth of Gross National Income

Answer Options :

1) Only d 2) Only a, b and c 3) Only a, b and d 4) All of the above

6) EH$Xm d¥ÕrMm nwaogm Cƒ Xa gmÜ¶ Pmë¶mda Ë¶mMo ’$m¶Xo AmnmoAmnM g‘mOmVrb ImbÀ¶m ñVam‘Ü¶o ngaVmV d Ë¶m§À¶m
Am{W©H$ pñWVrV bjUr¶ gwYmaUm hmoVo. hm à{gÕ ............ {gÕm§V Amho.
1) ‘moR>m Y¸$m 2) {PanUmam {dH$mg
3) gd©g‘mdoeH$ d¥Õr 4) {H$‘mZ {ZUm©¶H$ à¶ËZmMm

6) Once a high enough rate of growth is achieved, the benefits will automatically spread to the lower

strata of the society whose economic position would then improve considerably. This is the

famous  ......   theory.

1) Big puah 2) Trickle down

3) Inclusive grmvth 4) Critical Minimum Effort

2)  emídV {dH$mg - EgS>rOr
1) emídV {dH$mgmMr g§H$ënZm gd©àW‘ Imcrcn¡H$s H$moUË¶m AhdmcmV ‘m§S>cr Jocr hmoVr ?

1)  ‘mZdr {dH$mg {ZX}em§H$ Ahdmc 2) ~«wQ>c±S> Ahdmc
3) OmJ{VH$ {dH$mg Ahdmc 4) {Z¶moOZ Am¶moJ Ahdmc

1) In which of the following reports the concept of sustainable development was coined for the first

time ?

1)  Human Development Index Report 2) Brundtland Report

3) World Development Report 4) Planning Commission Report

2) emídV {dH$mg VoìhmM gmÜ¶ hmoD$ eHo$b Oa ........... g§a{jV gwYm[aV AgVo.
a) amOH$s¶ ñdmañ¶ b) AmË‘{dídmg c) n¶m©daU
n¶m©¶r CÎmao …
1) (a) 2) (b) 3) (c) 4) (a) Am{U (b)

2) Sustainable development can be achieved only if the ...... is conserved and

a) political interest b) self-confidence c) environment
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Answer Options :

1) (a) 2) (b) 3) (c) 4) (a) and (b)

3) Ag§ {ZarjUmV Amb§ Amho H$s …
a) n¶m©daU emídVVm ho C{Ôï> d (Am{W©H$) d¥ÕrMo C{Ôï> ¶mV Zoh‘r g§Kf© AgVmo.
b) {dH$mg Am{U n¶m©daU emídVVm ¶m‘Ü¶o Zoh‘r nañna {damoY (Q´>oS> Am°’$) AgVmo.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo ~amo~a AmhoV/V?
1) (a) 2) (b) 3) (a) Am{U (b) XmoÝhr 4) H$moUVohr Zmhr

3) It is observed that :

a) the objective of environment sustainability often conflicts with growth objective.

b) There is a trade-off between development and Environmental sustainability.

Which of the above statement/s is/are correct?

1) (a) 2) (b) 3) Both (a) and (b) 4) None of both

4) emídV {dH$mg Ü¶o¶m§À¶m (SDGs) g§X^m©V Imbrbn¡H$s H$moUVo {dYmZ / {dYmZo ¶mo½¶ Amho/V?
a) emídV {dH$mgmÀ¶m g§X^m©Vrb g§¶wº$ amï´>m§Mr n[afX, [aAmo Xr OmZoamo ¶oWo 2015 ‘Ü¶o Pmbr.
b) emídV {dH$mg Ü¶o¶o OmJ{VH$ Ü¶o¶o åhUyZhr AmoiIbr OmVmV.
c) emídV {dH$mg Ü¶o¶m§Zr (SDGs) ghòH$mVrb {dH$mg Ü¶o¶m§Mr (MDGs) OmJm KoVbr.
d) emídV {dH$mg Ü¶o¶o (SDGs) OmZodmar 2012 nmgyZ ApñVËdmV Ambr.
n¶m©¶r CÎmao …
1) (b) ’$º$ 2) (a) Am{U (b) 3) (b) Am{U (c) 4) (d) ’$º$

4) Which of the following statement/s is/are correct about Sustainable Development Goals (SDGs)?

a) The United Nations conference on Sustainable Development was held in Rio de Janeiro in

2015.

b) The Sustainable Development Goals are otherwise known as the Global Goals.

c) The SDGs Replace the Millennium Development Goals (MDGs).

d) Th SDGs came in to effect in January 2012.

Answer Options :

1) (b) only 2) (a) and (b) 3) (b) and (c) 4) (d) only

5) nwT>rbn¡H$s ¶mMm / ¶m§Mm ghóH$s¶ {dH$mg C{Ôï>m§‘Ü ò g‘mdoe hmoV Zmhr?
a) àmW{‘H$ {ejUmMo gmd©ÌrH$aU gmÜ¶ H$aUo. b) ór-nwéf g‘mZVog àmoËgmhZ XoUo.
c) A ©̂H$ ‘¥Ë¶yMo à‘mU H$‘r H$aUo. d) n¶m©daUr¶ emídVVm (gñQ>oZo{~brQ>r) gwa{jV H$aUo.
n¶m©¶r CÎmao …
1) (a) ’$º$ 2) (a) Am{U (b) ’$º$ 3) (c) ’$º$ 4) (c) Am{U (d) ’$º$

5) Which of the following is / are not a Millennium Development Goal (MDG) ?

a) Achieve universal Primary education. b) Promotion of gender equality.

c) Reducing infant mortality. d) Ensure environmental sustainability.

Answer Options :

1) (a) only 2) (a) and (b) only 3) (c) only 4) (c) and (d) only
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6) ghóH$ {dH$mg C{ÔîQ>ço (MDGs) gmYÊ¶m{df¶r ^maVmÀ¶m g§X^m©V Imbrbn¡H$s H$moUVo/Vr {dYmZ/Zo ¶mo½¶ Amho/
V ?
a) ^maVmZo A{Ve¶ g‘ nÕVrZo Xm[aÚ«mVrb KQ> gmÜ¶ Ho$br Amho.
b) 2015 À¶m A§{V‘aofoZ§Va ŷH$~ir amoIÊ¶mMo C{Ôï> ^maVmZo ¶moOZo ~ahþHy$‘ gmÜ¶ H$aÊ¶mMm à¶ËZ Ho$bm Amho.
c) ‘{hbm gjUrH$aU ho AOyZhr ‘hÎdmMo AmìhmZ Amho.
n¶m©¶r CÎmao …
1) ’$º$ (b) Am{U (c) 2) darb gd©
3) ’$º$ (a) Am{U (b) 4) ’$º$ (a) Am{U (c)

6) Which of the following statements is/are true about Millennium Development Goals (MDGs)

achievements in India?

a) India has achieved the poverty reduction in an even manner.

b) India was on-track to achieve the hunger target after the 2015 deadline.

c) Empowering women remains a major development challenge.

Answer Options:

1) Only (b) and (c) 2) All of the above 3) Only (a) and (b) 4) Only (a) and (c)

7) Rio + 20 g§¶wº$ amï´>o {Za§Va {dH$mg n[afXo{df¶r Imbrbn¡H$s H$moUVo/Vr {dYmZo/Zo ¶mo½¶ Amho ?
1) OyZ 2014 ‘Ü¶o hr n[afX ~«m{Pb‘Ü¶o nma nS>br.
2) ¶m n[afXoV OJmg‘moa ghòH$ {dH$mg Ü¶o¶o ‘m§S>Ê¶mV Ambr.
3) h[aV AW©ì¶dñWm YmoaUm{df¶rMr ‘mJ©Xe©H$ VÎdo ¶m n[afXoV ñdrH$maÊ¶mV Ambr.
4) ¶m n[afXoV g§¶wº$ amï´>o n¶m©daU H$m¶©H«$‘mMo gd© A{YH$ma H$mTy>Z KoÊ¶mV Ambo.

7) Which of the following statements is/are correct about UN Conference on Sustainable

Development Rio+20?

1) The conference was held in June 2014 in Brazil.

2) The conference laid out Millennium Development Goals for the world.

3) The conference adopted guidelines on green economy policies.

4) The member nations de-powered UN Environment Programme in this conference.

8) Zr{V Am¶moJmÀ¶m {Ma§VZ {dH$mg C{Ôï>o {ZX}em§H$ Ahdmbmà‘mUo (2020-21), ^maVmMr C{Ôï>{Zhm¶ H$m‘{Jar Ago
Xe©{dVo H$s .................
a) ^maVmMm {ZX}em§H$ 2020-21 ‘Ü¶o 66 n¶ªV gwYmabm Amho. Vmo 2019-20 ‘Ü¶o 60 Va 2018-19 ‘Ü¶o 57
hmoVm.
b) 2020-21 ‘Ü¶o H$moamoZm g§H$Q> AgVmZmhr ^maVmMr H$m‘{Jar 15 n¡H$s 8 C{Ôï>m§~m~V CÎm‘ am{hbr Amho.
darbn¡H$s H$moUVm/Vo n¶m©¶ ¶mo½¶ Amho/V ?
1) ’$º$ (a) 2) ’$º$ (b) 3) XmoÝhr n¶m©¶ 4) EH$hr n¶m©¶ Zmhr

8) Goal-wise performance of India by NITI Aayog SDG India Index Report (2020 -21) reveals

that………..

a) India’s overall score improved to 66 in 2020 -21 from 60 in 2019 - 20 and 57 in 2018 - 19.

b) Despite 2020- 21 being a pandemic year, India performed well on eight of the 15 SDGs.

Which of the above options is/are correct?

1) Only (a) 2) Only (b) 3) Both the options 4) None of the options
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3) {Z¶moOZ à{H«$¶m
1) ^maVr¶ {Z¶moOZ ‘§S>imMr ñWmnZm ....... amoOr H$aÊ¶mV Ambr.

1) 15 ‘mM©, 1951 2) 15 ‘mM©, 1950 3) 1 E{àb, 1949 4) 1 E{àb, 1950
1) Planning Commission in India was established on

1) 15th March, 1951 2) 15th March, 1950 3) 1st April, 1949 4) 1st April, 1950

2) OZVm ¶moOZm H$moUr V¶ma Ho$br hmoVr ?
1) lr. {dídoídaæ¶m 2) lr. ‘mZd|Ð ZmW am°¶ 3) lr. ‘Þmam¶U AJ«dmb 4) lr. O¶àH$me Zmam¶U

2) Who formulated the People's Plan ?

(1)  Shri Vishweshwaraya (2)  Shri Manvendra Nath Roy

(3)  Shri Mannarayan Agarwal (4)  Shri Jayaprakash Narayan

3) ^maVmÀ¶m {Z¶moOZ à{H«$¶oV nWXe©H$ ŷ{‘H$m nma nmS>Umar 'OZVm ¶moOZm' H$moUmMr hmoVr?
1) lr‘mZ Zmam¶U 2) AmR> CÚmoJnVr 3) ‘mZd|Ð ZmW am°¶ 4) amï´>r¶ {Z¶moOZ Am¶moJ

3) Who formulated the ‘People’s Plan’ which laid down the path for the planning process in India ?

1) Shriman Narayan 2) Eight Industrialists

3) Manbendra Nath Roy 4) National Planning Commission

4) "^m¡{VH$ gmYZm§gmo~VM gm§ñH¥${VH$ nmVir C§MmdUo' ho Imbrbn¡H$s H$moUË¶m à{V‘mZmMo C{Ôï> hmoVo ?
1) Jm§YrMo d¥Õr à{V‘mZ 2) Zohê§$Mo d¥Õr à{V‘mZ 3) ImOJrH$aU à{V‘mZ 4) AmMm¶© AJ«dmb à{V‘mZ

4) To raise the ‘Material as well as cultural level’ is the main objective of which of the following

model ?

1) Gandhi model of growth 2) Nehru model of growth

3) Privatization model 4) Acharya Agrawal model

5) Imbrbn¡H$s {Z¶moOZmMo àH$ma H$moUVo ?
a) bmoH$emhr {Z¶moOZ b) hþHy$‘emhr {Z¶moOZ c) gm‘m{OH$ {Z¶moOZ d) H|${ÐV {Z¶moOZ
n¶m©¶r CÎmao …
1) (a) Am{U (b) 2) (a), (b) Am{U (c) 3) (a), (b) Am{U (d) 4) ¶mn¡H$s gd©

5) Which of the following are types of planning ?

a) Democratic Planning b) Totalitarian Planning

c) Social Planning d) Centralised Planning

Answer options :

1) (a) and (b) 2) (a), (b) and (c) 3) (a), (b) and (d) 4) All above

6) ^maVmVrb ~mOma Am{U Am{W©H$ {Z¶moOZ nañnam§Zm .............. AmhoV.
1) OmoS> XoUmao 2) nyaH$ 3) ñnY©H$ 4) VQ>ñW

6) The market and economic planning in India is to one another.

1) Supplementary 2) Complementary 3) Competitive 4) Neutral
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7) ‘hmamï´> {Oëhm {Z¶moOZ g{‘Vr H$m¶Xm, 1998 Zwgma ‘hmamï´>mV ñWmnZ H$aÊ¶mV Amboë¶m {Oëhm {Z¶moOZ g{‘VrMm
g{Md .............. hm AgVmo.
1) AÜ¶j, {Oëhm n[afX 2) {Oëhm{YH$mar
3) g§gX gXñ¶ (ImgXma) 4) {Oëhm nmbH$‘§Ìr

7) is the Secretary of District Planning Committee formed under the Maharashtra District  Planning

Committee Act, 1998..

(1)  President, Zilla Parishad (Z.P.) (2)  District Collector

(3)  Member of the Parliament (4) District Guardian Minister

8) {Z¶moOZ Am¶moJmZo gwédmVrg {ZpíMV Ho$boë¶m Mma XrK©H$mbrZ C{Ôï>m§‘Ü¶o Imbrbn¡H$s H$moUVo C{Ôï> g‘m{dï> hmoV
Zmhr ?
1) nyU© amoOJma àmár 2) g‘Vm d Ý¶m¶m{Y{ð>V g‘mOdmXr g‘mOaMZm
3) CËnÞ d g§nÎmrVrb {df‘Vm Xÿa H$aUo. 4) ‘{hbm gj‘rH$aU

8) Which of the following is not from among initial four long-term objectives that were set out by

the Planning Commission ?

1) Achievement of full employment

2) Socialistic society based on equality and justice

3) Removal of inequality in income and wealth

4) Women empowerment

9) ZrVr Am¶moJmÀ¶m 2017-2020 ¶m Ì¡dm{f©H$ AmamIS>çmMr hr C{Ôï²> ò AmhoV …
a) gZ 2022 n¶ªV eoVH$è¶m§Mo CËnÞ XþßnQ> H$aUo.
b) gZ 2022 n¶ªV àË¶oH$ KamV drOnwadR>m H$aUo.
c) gZ 2022 n¶ªV àË¶oH$ amÁ¶mV H|$Ðr¶ {dÚmnrR>mMr ñWmnZm H$aUo.
n¶m©¶r CÎmao …
1) (a) ’$º$ ~amo~a Amho. 2) (b) Am{U (c) ’$º$ ~amo~a AmhoV.
3) (a) Am{U (c) ’$º$ ~amo~a AmhoV. 4) (a) Am{U (b) ’$º$ ~amo~a AmhoV.

9) The three year action agenda of (NITI) Aayog for 2017-2020 aimed at :

a) Doubling farmer's income by 2022.

b) Provision of electricity to all households by 2022.

c) Establishing central universities in all states by 2022.

Answer Options :

1) (a) only is correct 2) (b) and c) only are correct

3) (a) and (c) only are correct 4) (a) and (b) only are correct

10) NITI Am¶moJmMo nyU© ê$n gm§Jm …
1) National Institute for Transmitting India       2) National Institute for Transforming India

3) National Institution for Transforming India      4) darbn¡H$s H$moUVohr Zmhr
10) Full form of NITI AAYOG is ..................

1) National Institute for Transmitting India

2) National Institute for Transforming India

3) National Institution for Transforming India

4) None of the above
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11) ZrVr Am¶moJmÀ¶m g§X^m©V Imbrb {dYmZo {dMmamV ¿¶m …
a) AÜ¶j åhUyZ ^maVmMo n§VàYmZ AgVmV.
b) ^maVmMo amï´>nVr CnmÜ¶jm§Mr {ZdS> H$aVmV.
c) gd© amÁ¶m§À¶m ‘w»¶‘§Í¶m§Mm g‘mdoe Jìh{ZªJ H$m¡pÝgb‘Ü¶o AgVmo.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo ¶mo½¶ AmhoV ?
1) ’$º$ (a) ~amo~a Amho 2) ’$º$ (b) ~amo~a Amho.
3) (a) Am{U (b) ~amo~a AmhoV. 4) (a) Am{U (c) ~amo~a AmhoV.

11) Consider the following statements in the context of NITI Aayog :

(a)  The Prime Minister of India is the Chairperson.

(b)  Vice-Chairperson is appointed by the President of India.

(c)  Governing Council comprises the Chief Ministers of all the States.

Which of the statements  given above is/are correct ?

(1)  Only (a) is correct (2)  Only (b) is correct

(3)  (a) and (b) are correct (4) (a) and (c) are correct

4) n§Mdm{f©H$ ¶moOZm d {dH$mg H$m¶©H«$‘
1) Xhmì¶m n§Mdm{f©H$ ¶moOZoMm H$mbmdYr Imbrbn¡H$s H$moUVm ?

1) 1997-2002 2) 2002-2007 3) 2007-2012 4) 2012-2017
1) Which of the followings the duration of 10th Five Year Plan ?

1) 1997-2002 2) 2002-2007 3) 2007-2012 4) 2012-2017

2) AH$amì¶m n§Mdm{f©H$ ¶moOZoA§VJ©V XoIaoI/‘moO‘mn H$aVm ¶oÊ¶mOmo½¶m 27 bú¶m§Mo / C{Ôï>m§Mo {H$Vr ‘w»¶ JQ>mV
{d^mOZ Ho$bo?
1) 6 JQ>m§V 2) 5 JQ>m§V 3) 4 JQ>m§V 4) 9 JQ>m§V

2) Under 11th Five Year Plan, 27 monitorable targets were divided into how many main categories?

Answer Options :

1) 6 categories 2) 5 categories 3) 4 categories 4) 9 categories

3) Xþgè¶m n§Mdm{f©H$ ¶moOZoÀ¶m AmIUrÀ¶m doir ...... ¶m§Zr doVZdñVy à{V‘mZmda ^a {Xbm.
1) gr. EZ. dH$sb Am{U nr. Ama. ~«÷mZ§X 2) Am¶. Or. nQ>ob Am{U Oo. ^JdVr
3) gr. EZ. dH$sb Am{U nr. gr. ‘hmcZmo{~g 4) nr. Ama. ~«÷mZ§X Am{U Oo. ^JdVr

3) ........... emphasised on the wage goods model at the time of formation of Second Five Year Plan.

1) C. N. Vakil and P. R. Brahmananda 2) I. G. Patel and J. Bhagwati

3) C. N. Vakiland P. C. Mahalanobis 4) P. R. Brahmananda and J. Bhagwati

4) nwT>rbn¡H$s H$moUË¶m n§Mdm{f©H$ ¶moOZoV ''AÞ, H$m‘ d CËnmXH$Vm'' ¶m§da ^a XoÊ¶mV Ambm hmoVm?
1) n{hbr n§Mdm{f©H$ ¶moOZm 2) Mm¡Wr n§Mdm{f©H$ ¶moOZm
3) gmVdr n§Mdm{f©H$ ¶moOZm 4) Zddr n§Mdm{f©H$ ¶moOZm
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4) Which of the following five year plans focused on "Food, Work and Productivity" ?

1) Ist Five Year Plan 2) IV‘' Five Year Plan

3) VII" Five Year Plan 4) IXth Five Year Plan

5) ...... ¶m n§Mdm{f©H$ ¶moOZoV H¥$fr {dH$mgm{YnQ>rV d¥Õr ì¶yhaMZoMm ñdrH$ma H$aÊ¶mV Ambm hmoVm.
1) {Vgar ¶moOZm 2) nmMdr ¶moOZm 3) gmVdr ¶moOZm 4) Xhmdr ¶moOZm

5) Agricultural Development-Led growth strategy was adopted in _ five year plan.

(1) Third plan (2) Fifthplan (3) Seventh plan (4) Tenth plan

6) OmoS>çm Owidm d Imbrbn¡H$s ¶mo½¶ n¶m©¶ {ZdS>m.
a) Xþgar n§Mdm{f©H$ ¶moOZm i) Hw$Qw>§~ {Z¶moOZ H$m¶©H«$‘mMr A§‘b~OmdUr
b) Mm¡Wr n§Mdm{f©H$ ¶moOZm ii) A{YH$ doJdmZ d g‘mdoeH$ d¥ÕrH$S>o dmQ>Mmb
c) nmMar n§Mdm{f©H$ ¶moOZm iii) ‘hmbZmo{~g ¶moOZm
d) AH$amdr n§Mdm{f©H$ ¶moOZm iv) 'J[a~r hQ>md' C{Ôï>
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (i) (iii) (iv) (ii)

2) (iii) (i) (iv) (ii)

3) (ii) (i) (iii) (iv)

4) (iv) (iii) (ii) (i)

6) Match the columns and select the correct option.

(a) Second Five Year Plan (i) Implementation of Family Planning Program

(b) Fourth Five Year Plan (ii) Towards faster & more inclusive Growth

(c) Fifth Five Year Plan (iii) Mahalnobis Plan.

(d) Hleventh Five Year Plan (iv) Objective of ‘Garibi Hatao’

Answer Options : |

(a) (b) (c) (d)

1) (i) (iii) (iv) (ii)

2) (iii) (i) (iv) (ii)

3) (ii) (i) (iii) (iv)

4) (iv) (iii) (ii) (i)

7) Xhmì¶m ¶moOZo Xaå¶mZ Imbrbn¡H$s H$moUVo amÁ¶ Xoem§VJ©V CËnmXZmV gdm©{YH$ d¥Õr Xa Xe©drV hmoVo ?
1) {X„r 2) Jmodm 3) Vm{‘iZmSy> 4) ‘hmamï´>

7) Which of the following States shows the highest growth rate in domestic product during the

Tenth Plan ?

1) Delhi 2) Goa 3) Tamil Nadu 4) Maharashtra

8) n{hë¶m n§Mdm{f©H$ ¶moOZoMo ‘w»¶ C{Ôï> H$m¶ hmoVo?
1) CÚmoJmMm {dH$mg 2) Am¶mV Am{U {Z¶m©Vrda bj H|${ÐV
3) eoVr Am{U nm¶m ŷV gw{dYm§Mm {dH$mg 4) ñd¶§nyU©Vm
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8) What was the main objective of First Five Year Plan ?

(1) Development of Industry           (2) Focus on Import & Export

(3) Development of Agriculture and Infrastructure      (4) Self-reliance

9) Imbrbn¡H$s H$moUË¶m H$maUm§‘wio 1965 ‘Ü¶o ^maVmÀ¶m n§Mdm{f©H$ ¶moOZm§‘Ü¶o VmËnwaVm I§S> nS>bm?
a) ^maV-nm{H$ñVmZ ¶wÕ b) gVVMr XmoZ df} XþîH$mi
c) én¶mMo Ad‘yë¶Z d) qH$‘V nmVirVrb dmT>
n¶m©¶r CÎmao …
1) (a), (b) Am{U (c) 2) (a) Am{U (b) 3) (a) Am{U (c) 4) darb gd©

9) Which of the following factors were responsible for disruption of five year planning process in

India in 1965 ? .

(a) Indo-Pakistan conflict (b) Two successive years of drought

(c) Devaluation of Rupee (d) A general rise in prices

Answer Options :

(1) (a), (b) and (c) (2) (a) and (b)  (3) (a) and (c) (4) All of the above

10) Zdì¶m ¶moOZoV ...... da A{YH$ ^a XoÊ¶mV Ambm.
A) godmjoÌmMm {dH$mg ~) Am¡Úmo{JH$ joÌmMm {dH$mg
H$) nm¶m ŷV gw{dYm§Mm {dH$mg S>) gm‘m{OH$ Ý¶m¶ d g‘Vogh d¥Õr
n¶m©¶r CÎmao …
1) ’$º$ A 2) ’$º$ ~ 3) ’$º$ A Am{U ~ 4) ’$º$ S>

10) The focus of the Ninth Plan was on

a) Development of Service Sector b) Development of Industrial Sector

c) Development of Infrastructure d) Growth with Social Justice and Equality

Answer Options :

1) Only a 2) Only b 3) Only a and b 4) Only d

11) AH$amì¶m n§Mdm{f©H$ ¶moOZoV nwT>rcn¡H$s H$moUË¶m C{Ôï>m§Zm àmYmÝ¶ XoÊ¶mV Amco hmoVo ?
a) amoOJma {Z{‘©Vr b) Xm[aÐç {ZdmaU c) gd©g‘mdoeH$ d¥Õr d) {df‘Vm H$‘r H$aUo
n¶m©¶r CÎmao :
1) ’$º$ (a) 2) (a) d (b) 3) ’$º$ (c) 4) (b) d (d)

11) Which of the following objectives was given priority in the Eleventh Five Year Plan ?

a) Employment creation b) Poverty alleviation

c) All inclusive growth d) Reducing inequality

Answer options :

1)  (a) only 2) (a) and (b) 3) (c) only 4) (b) and (d)
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5) emœV {dH$mgmMo H$m¶©H«$‘
1) ñdÀN> ^maV {‘eZ (J«m‘rU) ‘Ü¶o H|$Ð d amÁ¶ emgZmMm {hñgm {H$Vr Amho ?

1) 50 … 50 2) 60 … 40 3) 75 … 25 4) 90 … 10
1) What is the share of central and state government in Swachh Bharat Mission (Rural)?

1) 50 : 50 2) 60 : 40 3) 75 : 25 4) 90 : 10

2) AW©ì¶dñWoMm ~Xbm§À¶m n[aUm‘m§‘wio Ambobr OmoIr‘ …
1) pñWa YmoH$m 2) gÅ>m 3) J{V‘mZ YmoH$m 4) ewÕ YmoH$m

2) ............. risk are those resulting from changes in the economy.

1) Static risk 2) Speculative risk 3) Dynamic risk 4) Pure risk

3) Ymo³¶mMr g§̂ mì¶Vm A§eV… Adb§~yZ Agob,
(a) YmoH$m {H$Vr dma§dmaVoZo ¶oD$ eH$Vmo.
(b) Ë¶mMm à^md {H$Vr J§̂ ra Agy eH$Vmo.
n¶m©¶r CÎmao …
1) ’$º$ (a) ~amo~a Amho 2) ’$º$ (b) ~amo~a Amho 3) XmoÝhr ~amo~a AmhoV 4) XmoÝhr MwH$sMo AmhoV

3) The probability of risk will depend partly on,

a) How frequently the peril may occur.

b) How severe its its impact can be

Answer options :

1) Only (a) is true 2) Only (b) is true 3) Both are true 4) Both are false

4) Imcrc {dYmZo {dMmamV ¿¶m :
a) ‘hm‘mar-g§~§{YV g§H$Q>mMm gdm©V H$‘r n[aUm‘ H¥$fr joÌmda Pmcm.
b) 2021-22 ‘Ü¶o H¥$fr joÌmV 6.9% dmT> hmoÊ¶mMm A§XmO Amho.
n¶m©¶r CÎmao :
1)  Ho$di$ (a) 2) Ho$di (b) 3) XmoÝhr (a) Am{U (b) 4) darcn¡H$s Zmhr

4) Consider the following statements :

a) The least impact of the pandemic related crisis was on the agricultural sector.

b) Agriculture sector is estimated to grow 6.9 percent in 2021-22.

Answer options :

1)  Only (a) 2) Only (b) 3) Both (a) and (b) 4) None of the above

5) Imbr {Xboë¶m OmJ{VH$ ~±Ho$À¶m YmoaU Aä¶mg {ZîH$fmªn¡H$s H$moUVm ¶mo½¶ Amho/AmhoV?
A) nm¶m ŷV gw{dYm gmR>çmMm d¥Õrda gH$mamË‘H$ n[aUm‘ hmoVmo.
~) nm¶m ŷV gw{dYm§Mm Cƒ XOm© d dmT>Vo à‘mU ¶m‘wio CËnÞ Ag‘mZVm KQ>Vo.
n¶m©¶r CÎmao …
1) ’$º$ A 2) ’$º$ ~ 3) A Am{U ~ XmoÝhr 4) darbn¡H$s H$moUVmhr Zmhr

5) Which of the following policy research conclusions by World Bank is/are correct ?

a) Growth is positively affected by stock of infrastructure assets.

b) Income inequality declines with higher infrastructure quantity and quality.
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Answer Options :

1) Only a 2) Only b 3) Both a and b 4) None of the above

6) Z¡g{J©H$ eoVr g§X^m©Vrb Imbrb {dYmZo {dMmamV ¿¶m …
a) ¶m àH$maMr eoVr hr agm¶Z {dahrV eoVrMm àMma H$aVo.
b) Z¡g{J©H$ eoVrMr gwédmV 1990 ‘Ü¶o H¥$frVÁk gŵ mf nmioH$a ¶m§Zr Ho$br hmoVr.
darbn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a Amho/AmhoV?
1) ’$º$ a 2) ’$º$ b 3) a Am{U b XmoÝhr 4) a Am{U b n¡H$s EH$hr Zmhr

6) Consider the following statements about Natural Farming :

a) It is a type of farming that promotes chemical free agricultural practices.

b) It was introduced by agriculturist Subhash Palekar in 1990.

Which of the statements given above is/are correct?

1) Only a 2) Only b 3) Both a and b 4) Neither a nor b

7) Imbrbn¡H$s H$moUVr n[apñWVr Xe©{dVo H$s eoVr ì`dgm`mMr H$m‘{Jar {ZamoJr Am{U ’$m`Xoera Amho?
A) gÜ`mMo à‘mU 1 nojm OmñV Amho ~) gÜ`mMo Xm{`Ëd à‘mU 1 nojm OmñV Amho
H$) S>oQ> B{¹$Q>r aoemo 1 nojm H$‘r Amho S>) EHy$U JwUmoÎma 1 nojm H$‘r Amho
n¶m©¶r CÎmao :
1) A Am{U ~ ’$º$ 2) A, ~ Am{U H$ ’$º$ 3) A, H$ Am{U S> ’$º$ 4) A Am{U S> ’$º$

7) Which of the following situations show that a farm business has a healthy and profitable

performance ?

a) The current ratio is greater than 1 b) The current liability ratio is greater than 1

c) Debt equity ratio is less than 1 d) Gross ratio is less than 1

Answer options :

1) a and b only 2) a, b and c only 3) a, c and d only 4) a and d only

8) Imcrcn¡H$s MwH$sMo {dYmZ AmoiIm.
a) ^maVmZo 2070 gmcmn¶ªV eyÝ¶ Q> o̧$ H$m~©Z CËgO©Z àmá H$aÊ¶mMo cú¶ {ZYm©[aV Ho$co.
b) dZmImcrc joÌmV ^maVmMm OJmV Xhmdm H«$‘m§H$ cmJVmo.
c) ^maVmÀ¶m EHy$U ^m¡Jmo{cH$ joÌmÀ¶m 25% joÌmda dZo AmhoV.
n¶m©¶r CÎmao :
1) {dYmZo (a) d (b) ~amo~a, (c) MyH$ 2) {dYmZo (a) d (c) ~amo~a, (b) MyH$
3) {dYmZo (b) d (c) ~amo~a, (a) MyH$ 4) gd© {dYmZo MyH$

8) Identify incorrect statements from the following :

a) India has set a target of achieving 0% carbon emissions by 2070.

b) India ranks 10th in the world in forest cover land.

c) Forests cover about 25% of the total geographical area of India.

Answer options :

1) Statements (a) and (b) is correct,(c) incorrect

2) Statements (a) and (c) is correct,(b) incorrect

3) Statements (b) and (c) is correct,(a) incorrect

4) All statements are incorrect
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9) ^maV gaH$maZo gwê$ Ho$bobo B©-A‘¥V nmoQ>©b ho Imbrbn¡H$s H$emer g§~§YrV Amho?
1) {Z¶m©V 2) Jw§VdUyH$ 3) Bbop³Q´>H$ dmhZo 4) Bbo³Q´>m°{Z³g

9) E-Amrit portal, launched by Indian Government is related to

1) Export 2) Investment 3) Electric Vehicles 4) Electronics

10) dmVmdaU ~Xbm~m~V amï´>r¶ H¥$Vr {Z¶moOZ ¶m§Mr {e’$mag H$aVo.
a) Q>mH$mD$ nXmWmªnmgyZ D$Om© A{^¶mZ (doñQ> Qy> EZOu {‘eZ)
b) {H$ZmanÅ>r {d^mJmg§~§Yr amï´>r¶ A{^¶mZ (Z°eZb {‘eZ Am°Z H$moñQ>b E[a¶mO)
c) dmV A{^¶mZ (qdS> {‘eZ)
d) dmVmdaU ~Xb Am{U Amamo½¶ A{^¶mZ ({‘eZ Am°Z ³bm¶‘oQ> M|O A°ÊS> hoëW)
n¶m©¶r CÎmao …
1) (a) d (b) ’$º$ 2) (c) d (d) ’$º$
3) (a), (b) Am{U (c) ’$º$ 4) ¶mn¡H$s gd©

10) National Action Plan on Climate Change (NAPCC) recommends this :

a) waste-to-energy mission b) national mission on coastal areas

c) wind mission d) mission on climate change and health

Answer Options :

1) (a) and (b) only 2) (c) and (d) only 3) (a), (b) and (c) only 4) all of these

11) nwT>rb {dYmZo {dMmamV ¿¶m …
a) amï´>r¶ gmobma {‘eZ 2010 ‘Ü¶o gwé H$aÊ¶mV Ambo.
b) gZ 2021-2022 n¶ªV 1,00,000 MW drO{Z{‘©Vr H$aUo ho Ë¶mMo C{Ôï> Amho.
n¶m©¶r CÎmao …
1) (a) ’$º$ ~amo~a Amho. 2) (b) ’$º$ ~amo~a Amho.
3) (a) d (b) XmoÝhr ~amo~a AmhoV. 4) (a) d (b) XmoÝhr MyH$ AmhoV.

11) Consider the following statements :

a) National Solar Mission was launched in 2010.

b) It aims to generate 1,00,000 MW of power by 2021-2022.

Answer Options :

1) (a) only is correct 2) (b) only is correct

3) (a) and (b) both are correct 4) (a) and (b) both are incorrect

12) OmJ{VH$ ~±Ho$À¶m ‘Vo, ^maVr¶ eharH$aUmÀ¶m Imbrbn¡H$s H$moUË¶m ‘hÎdmÀ¶m g‘ñ¶m§Mo {ZamH$aU H$aUo Amdí¶H$
Amho ?
a) Iam~ ñWm{ZH$ àemgZ b) AË¶ën {dÎmnwadR>m
c) IM©dmT> H$aUmao Amamo½¶ {Z¶moOZ d) doJmZo ImbmdV OmUmam n¶m©daU XOm©
n¶m©¶r CÎmao …
1) ’$º$ (a) Am{U (b) 2) (a), (c) Am{U (d)

3) darb gd© 4) ¶mn¡H$s H$moUVmhr Zmhr
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12) Which of the following, according to the World Bank, are critical issues to be addressed in India’s

urbanisation?

a) Poor local governance b) Weak finances

c) Inappropriate planning leading to high costs d) Rapidly deteriorating environment

Answer options:

1) Only (a) and (b) 2) (a), (c) and (d) 3) All of the above 4) None of the above

13) Imcrcn¡H$s ‘hmamï´> emgZmZo "ñ‘mQ>© J«m‘ ¶moOZoMo" H$moUVo Zm‘H$aU Ho$co Amho ?
a)$ñd. ~mimgmho~ R>mH$ao J«m‘ g‘¥Õr ¶moOZm b)$AÊUm hOmao J«m‘ ñdamÁ¶ ¶moOZm
c)$Ama. Ama. Am~m nmQ>rc gw§Xa Jmd nwañH$ma ¶moOZm d)$ñd. JmonrZmW ‘w§S>o ñ‘mQ>© J«m‘ ¶moOZm
n¶m©¶r CÎmao :
1) ’$º$ (b)$ 2) ’$º$ (a)$ 3) ’$º$ (c)$ 4) darcn¡H$s Zmhr

13) ‘Smart Village Scheme’ by the Government of Maharashtra is named as :

(a)  Late Balasaheb Thackeray Gram Samrudhi Yojana

(b)  Anna Hazare Gram Swarajya Yojana

(c)  R.R. Aba Patil Sundar Gaon Puruskar Yojana

(d)  Late Gopinath Munde Smart Gram Yojana

Answer Options :

(1)  Only (b) (2)  Only (a) (3)  Only (c) (4)  None of the above
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(2) ^maVr¶ AW©ì¶dñWm - AmìhmZo,  amḯ>r` CËnÞ - OrìhrE, OrS>rnr,
Am{W©H$ gwYmaUm, ImCOm

1) ^maVr¶ AW©ì¶dñWm - AmìhmZo
2) amï´>r` CËnÞ - OrìhrE, OrS>rnr
3) ^maVr¶ AW©ì¶dñWoMr joÌr¶ H$m‘{Jar
4) ^maVmVrb Am{W©H$ gwYmaUm
5) ImOJrH$aU-CXmarH$aU - OmJ{VH$sH$aU

1)  ^maVr¶ AW©ì¶dñWm - AmìhmZo
1) ^maVr¶ AW©ì¶dñWoMr ‘yc ŷV d¡{eîQ>ço H$moUVr?

A) XaS>moB© CËnÞ H$‘r ~) bmoH$g§»¶oMm àM§S> X~md H$) V§ÌkmZmMm àgma H$‘r S>) g§nÎmrMo {dH¥$V {dVaU
n¶m©¶r CÎmao …
1) ’$º$ A 2) ’$º$ A Am{U ~ 3) ¶mn¡H$s Zmhr 4) ¶mn¡H$s gd©

1) Which of the following are the basic characteristics of the Indian Economy ?

a) Low Per Capita Income b) Heavy Population Pressure

c) Prevalence of Low Level of Technology d)  Maldistribution of Wealth

Answer Options :

1) Only a 2) Only a and b 3) None of the above 4) All of the above

2) Imbrbn¡H$s H$moUVm KQ>H$ àmXo{eH$ {df‘VoMm à‘wI {ZX}eH$ Amho ?
1) ‘yë¶ dY©Z 2) H¥${f CËnmXZ
3) {Zìdi amÁ¶m§VJ©V CËnmXZ 4) qbJ JwUmoÎma à‘mU

2) Which of the following is a principal indicator of regional disparity ?

1) Value addition 2) Agricultural production

3) Net State Domestie Product 4) Sex ratio

3) Imbrbn¡H$s H$moUVo KQ>H$ àmXo{eH$ Ag‘VmobmMo {ZX}eH$ AmhoV?
A) {Zìdi amÁ¶m§VJ©V CËnÞ ~) {Zìdi amÁ¶m§VJ©V XaS>moB© CËnÞ
H$) Jw§VdUwH$sMo H$b S>) nm¶m ŷV gw{dYm§Mr Ag‘mZVm
n¶m©¶r CÎmao …
1) ’$º$ A 2) ’$º$ A Am{U ~ 3) ’$º$ ~ 4) ¶mn¡H$s gd©

3) Which of the following factors indicate regional imbalance ?

a) Net State Domestic Product

b) Per-Capita Net State Domestic Product

c) Trends in Investment

d) Infrastructure Disparities

Answer Options :

1) Only a 2) Only a and b 3) Only b 4) All of the above



‘hmamîQ´> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h … AW©emó / 39

For Private Circulation Only

4) ‘w»¶ Am{W©H$ g„mJma H¥$îU‘yVu gw~«‘Ê¶‘ (Am{W©H$ gd}jU 2020-21) ¶m§À¶m ‘Vo Am{W©H$ nwZ©àmárMo ñdê$n H$go
Agy eH$Vo?
1) U-AmH$mamMo 2) S-AmH$mamMo 3) V-AmH$mamMo 4) Z-AmH$mamMo

4) According to Chief economic Advisor  Krishnamurthy  Subrumnniam (Economic Survey 2020)

what may be the shape of economic recovery ?

(1)  U - shape (2)  S - shape (3)  V - shape (4)  Z - shape

5) 1980 À¶m XeH$mV ^maVr¶ AW©ì¶dñWobm Vm|S> Úmì¶m bmJboë¶m {dÎmr¶ A[aï>mMo ...... ho H$maU hmoVo.
1) Am¶mV Am{U {Z¶m©VrV ’$aH$mV dmT> 2) ~MV Am{U Jw§VdUwH$sVrb ’$aH$
3) gaH$maMm IM© Am{U ‘hgyb ¶mVrb dmT>Vo A§Va 4) ‘mJUr Am{U nwadR>çmVrb ’$aH$

5) The fiscal crisis faced by the Indian economy in 1980s was caused by

(1) Widening gap between imports and exports

(2) Difference between savings and investment

(3) Widening gap between government expenditure and revenue

(4) Difference between demand and supply

2) amḯ>r` CËnÞ - OrìhrE, OrS>rnr
1) {Z¶moOZmÀ¶m Z§VaÀ¶m Q>ßß¶m‘Ü¶o (1981 Vo 2012) gamgar ñWyb Xoem§VJ©V CËnmXZdmT>rMm (GDP) Xa ...... Q> o̧$

hmoVm.
1) 3.5 2) 5.7 3) 5.9 4) 4.2

1) The average GDP growth rate during the later phase of planning from 1981 to 2012 was ...... percent.

1) 35 2) 57 3) 59 4) 42

2) Imbrbn¡H$s H$moUVr g§H$ënZm ''amï´>r¶ CËnÞ'' ¶m g§H$ënZoer g§~§{YV Amho?
1) gmR>m 2) A§ebjr 3) àdmhr 4) darbn¡H$s H$moUVohr Zmhr

2) Which of the following concept is related to the concept of “National Income” ?

(1)  Stock                       (2)  Micro (3)  Flow (4)  None of the above

3) Imcrc {dYmZo {dMmamV ¿¶m :
a) XmXm^mB© Zm¡amoOtZm gd©àW‘ amï´>r¶ CËnÞmMm A§XmO ‘m§S>cm.
b) hm 1867-68 ¶m dfm©Vrc amï´>r¶ CËnÞmMm A§XmO hmoVm.
c) XmXm^mB© Zm¡amoOr ¶m§Zr Ë¶m§À¶m ""nm°dQ>u A°ÊS> AZ-{~«{Q>e éc BZ B§{S>¶m"" ¶m nwñVH$mV amï´>r¶ CËnÞmMm A§XmO
‘m§S>cm Amho.
darcn¡H$s H$moUVr {dYmZo ~amo~a AmhoV ?
1) (a) Am{U (b) 2) (b) Am{U (c)  3) (a) Am{U (c) 4) darc gd©

3) Consider the following statements :

a) Dadabhai Naoroji was the first to estimate the national income.

b) This estimates of national income was for the year of 1867-68.

c) Dadabhai Naoroji estimated the national income in his book titled "Poverty and Un-British

Rule in India".

Which of the statement given above are correct ?

1) (a) and (b) 2) (b) and (c)  3) (a) and (c) 4) All of the above
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4) Imbrb {dYmZo {dMmamV ¿¶m.
A) ñdmV§Í¶mZ§Va, ^maV gaH$maZo Am°JñQ> 1948 ‘Ü¶o amï´>r¶ CËnÞ g{‘VrMr {Z¶wº$s Ho$br.
~) ¶m g{‘Vr‘Ü¶o àm. nr. gr. ‘hmbZmo{~g, àm. S>r. Ama. JmS>Jri Am{U àm. ìhr. Ho$. Ama. ìhr. amd ¶m§Mm g‘mdoe

hmoVm.
H$) amï´>r¶ CËnÞ g{‘VrMm n{hbm Ahdmb 1951 ‘Ü¶o Am{U A§{V‘ Ahdmb 1954 ‘Ü¶o Ambm.
da {Xboë¶m {dYmZm§n¡H$s H$moUVo {dYmZ/H$moUVr {dYmZo MwH$sMr Amho/AmhoV?
n¶m©¶r CÎmao …
1) ’$º$ A 2) ’$º$ A Am{U ~ 3) ’$º$ A Am{U H$ 4) ’$º$ ~ Am{U H$

4) Consider the Following Statements :

a.  After Independence, the Government of India appointed the National Income Committee in

August, 1948.

b.  The committee consisted of  Prof. P. C. Mahalnobis, Prof. D. N. Gadgil and  Prof. V.K.R. V.

Rao.

c. The first report of the National Income Committee appeared in 1951 and  final in 1954

Which of the statements given above is/are incorrect ?

(1)  Only a (2)  Only  a and b (3)  Only a and c (4)  Only b and c

5) Xoem§VJ©V h[aV gH$b CËnmXZ (Green GDP) g§~§Yr {dMma H$aVm Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV ?
a) AW©ì¶dñWoÀ¶m dmT>rgmR>r g§gmYZm§Mm dmna H$am.
b) AW©ì¶dñWoMr dmT> à^mdrnUo H$aÊ¶mgmR>r g§gmYZm§Mm n¶m©á, H$m¶©j‘VoZo Am{U n[aUm‘H$maH$ dmna H$am.
c) AW©ì¶dñWoÀ¶m dmT>r H$[aVm g§gmYZm§Mo emofU H$am.
d) AW©ì¶dñWoÀ¶m dmT>rgmR>r g§gmYZo g§non¶ªV dmnam.
n¶m©¶r CÎmao …
1) {dYmZo (a), (b) Am{U (d) ~amo~a AmhoV 2) Ho$di {dYmZ (b) ~amo~a Amho.
3) {dYmZ (a), (c) Am{U (d) ~amo~a AmhoV 4) Ho$di {dYmZ (c) ~amo~a Amho.

5) Which of the following statements are true in reference to Green GDP ?

(a) To utilize the resources furthering the growth of economies.

(b) To utilize the resources optimally, efficiently and effectively in furthering the growth of

economies.

(c) To exploit the resources furthering the growth of economies.

(d) To exploit the resources till the end of it for growth of economies.

Answer Options :

(1)  Statements (a), (b) and (d) are correct (2)  Only statement (b) is correct

(3)  Statements (a), (c) and (d) are correct (4)  Only statement (c) is correct

6) {Zìdi amï´>r¶ CËnmXZm g§~§YmV H$moUVo/Vr {dYmZ/Zo A¶mo½¶ Amho/V?
a) ho {d{eï> Am{W©H$ dfm©V Ho$bobo dñVy d godm§Mo CËnmXZ ‘yë¶ d naXoemVyZ ¶oUmè¶m {Zìdi CËnmXZ KQ>H$m§Mo CËnÞ

(factor income) XmI{dbo.
b) ¶mÀ¶mV {Z¶m©V, Am¶mV ¶m§Mm g‘mdoe AgVmo na§Vw naXoemVyZ ¶oUmè¶m {Zìdi CËnmXZ KQ>H$m§Mo CËnÞ g‘m{dï>

ZgVo.
c) ¶mbm '{Zìdi' CËnÞ åhUVmV H$maU ¶m‘Ü¶o gH$b amï´>r¶ dm{f©H$ CËnÞmVyZ ^m§S>dbr Kgmè¶mMr dOmdQ> Ho$br

AgVo.
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n¶m©¶r CÎmao …
1) (c) 2) (a) 3) (b) 4) (a) Am{U (c)

6) Which of the following statement/s is/are incorrect about Net National Product (NNP) ?

a) It shows net production of goods and services produced in a given financial year adjusted

for net factor income from abroad.

b) It includes exports, imports but not factor income from abroad.

c) It is called 'net' because it deducts capital depreciation from total National Income.

Answer Options :

1) (c) 2) (a) 3) (b) 4) (a) and (c)

7) amï´>r¶ CËnÞmMr ImVr Imbrb Jmoï>r g‘OyZ KoÊ¶mg ‘XV H$aVmV …
a) MmQ>©S>© AH$m¢Q>§Q>Mm ì¶dgm¶
b) AW©ì¶dñWoÀ¶m EHy$U àXmZmMr H$m‘{Jar
c) {dûcofUmË‘H$ àmê$nmÀ¶m ~m§YUrgmR>rMr Mm¡H$Q>
n¶m©¶r CÎmao …
1) (a) {dYmZ ¶mo½¶ Amho 2) (a) Am{U (b) {dYmZo ¶mo½¶ AmhoV.
3)  (b) Am{U (c) {dYmZo ¶mo½¶ AmhoV 4) (a), (b) Am{U (c) {dYmZo ¶mo½¶ AmhoV.

7) National Income Accounts help to understand the following things :

a) Business of the Chartered Accountants.

b) Economic performance in terms of the aggregate output of an economy.

c) The framework on which analytical models are built. Answer Options :

Answer Options :

1) Statement (a) is correct 2) Statements (a) and (b) are correct

3) Statements (b) and (c) are correct 4) Statements (a), (b) and (c) are correct

8) ñWyb Xoem§VJ©V CËnmXZm~Ôb Imbrb Ñ{ï>H$moZ AmhoV …
a) hm CËnmXZmÀ¶m EHy$U ‘yë¶mMm àdmh
b) hm EHy$U àmárMm qH$dm CËnÞmMm àdmh
c) hm EHy$U IMm©Mm àdmh
n¶m©¶r CÎmao …
1) (a) Am{U (b) {dYmZo ¶mo½¶ AmhoV. 2) (b) Am{U (c) {dYmZo ¶mo½¶ AmhoV.
3) (a) Am{U (c) {dYmZo ¶mo½¶ AmhoV. 4) (a), (b) Am{U (c) {dYmZo ¶mo½¶ AmhoV.

8) The concept of Gross Domestic Product has the following aspects :

a) This is a flow of total value of output.

b) This is a flow of total receipts or incomes.

c) This is a flow of total expenditure.

Answer Options :

1) Statements (a) and (b) are correct 2) Statements (b) and (c) are correct

3) Statements (a) and (c) are correct: 4) Statements (a), (b) and (c) are correct

9) CËnmXZ EH$H$mÛmao ~mOma^mdmZwgma ñWyb ‘yë¶d{Y©V CËnÝZ {‘i{dÊ¶mgmR>r CËnmXZ‘yë¶mVyZ Imbrb Jmoï>r/Jmoï> dOm
H$amì¶m bmJVrb.
a) ‘Ü¶dVu dmnamMo ‘yë¶ b) Jw§VdUwH$sMo ‘yë¶ c) ì¶{º$JV CËnÞ
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n¶m©¶r CÎmao …
1) (a) {dYmZ ¶mo½¶ Amho 2) (b) {dYmZ ¶mo½¶ Amho
3) (c) {dYmZ ¶mo½¶ Amho 4) (a), (b) Am{U (c) {dYmZo ¶mo½¶ AmhoV

9) Gross Value Added at market price by a production unit is obtained when the following things  is/

are deducted from the value of output :

a) Value of intermediate consumption/use

b) Value of the investment

c) Personal income

Answer Options :

1) Statement (a) is correct 2) Statement (b) is correct

3) Statement (c) is correct 4) Statements (a), (b) and (c) are correct

3) ^maVr¶ AW©ì¶dñWoMr joÌr¶ H$m‘{Jar
1) 2004-05 À¶m qH$‘VrZwgma 2010-11 ‘Ü¶o {Zìdi KaJwVr CËnmXZmV V¥Vr¶H$ joÌmMm dmQ>m ........... BVH$m hmoVm.

1) 60.3 Q> o̧$ 2) 26.5 Q> o̧$ 3) 24.7 Q> o̧$ 4) 18.2 Q> o̧$
1) Tertiary sector's share in Net Domestic Product in 2010-11 at 2004-05 price was ..................

1) 60.3 percent 2) 26.5 percent 3) 24.7 percent 4) 18.2 percent

2) 2000-2001 À¶m Mmby qH$‘VrZwgma, Ë¶mM dfu ‘hmamï´>mÀ¶m amÁ¶ CËnÞmV {ÛVr¶ joÌmMm {hñgm ......... BVH$m
hmoVm.
1) 14.5% 2) 22.5% 3) 30.0% 4) 35.5%

2) At current prices of 2000-2001, the share of second sector in the state income of Maharashtra in

the same year was .........

1) 14.5% 2) 22.5% 3) 30.0% 4) 35.5%

3) gZ 2018 Mm Am°³g’°$‘ Ahdmb Ago gm§JVmo H$s ̂ maVmVrb  EH$ Q> o̧$ lr‘§V bmoH$ .........Q> o̧$ EdT>o amḯ>r¶ CËnÞ
{‘i{dVmV.
1) 50 2) 45 3) 73 4) 68

3) The Oxfam report 2018 says that one percent richest people are generating .................. percent

National Income in India.

1) 50 2) 45 3) 73 4) 68

4) AW©ì¶dñWm {dH${gV hmoV AgVmZm, XoemMr ì¶mdgm{¶H$ aMZm gmYmaUnUo Imbrbn¡H$s H$moUË¶m joÌmÀ¶m ~mOyZo
~XbVo ?
1) àmW{‘H$ 2) {ÛVr¶H$ 3) V¥Vr¶H$         4) {ÛVr¶H$ Am{U V¥Vr¶H$ joÌ

4) As the economy develops, the occupational structure of the country generally shifts in favour of

which of the following sector ?

1) Primate 2) Secondary

3) Tertiary 4) Secondary and Tertiary Sectors
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5) nwT>rc {dYmZo {dMmamV ¿¶m :
a) XoemÀ¶m GDP  ‘Ü¶o godm joÌmMm {hñgm 50% nojm A{YH$ Amho.
b) godm joÌmda H$mo{dS> - 19 ‘hm‘marMm ‘moR>m ZH$mamË‘H$ n[aUm‘ Pmcm.
c) 2020-21 ¶m Am{W©H$ dfm©‘Ü¶o godm joÌmV 9.4 Q> o̧$ BVH$s KQ> Pmcr.
n¶m©¶r CÎmao :
1) {dYmZ (a) d (b) ~amo~a, (c) MyH$ 2) {dYmZ (b) d (c) ~amo~a, (a) MyH$
3) {dYmZ (a) d (c) ~amo~a, (b) MyH$ 4) gd© {dYmZo ~amo~a

5) Consider the following statements :

a) The share of the service sector in the country's GDP is more than 50%

b) The COVID - 19 had a major negative impact on the service sector.

c) In the financial year 2020-21 the service sector declined by 9.4%

Answer options :

1) Statement (a) and (b) is correct, (c) incorrect

2) Statement (b) and (c) is correct, (a) incorrect

3) Statement (a) and (c) is correct, (b) incorrect

4) All statements are correct

4) ^maVmVrb Am{W©H$ gwYmaUm
1) ‘Zr bm±S>o[a¨J à{V~§YH$ H$m¶Xm, 2002 ............... nmgyZ A§‘bmV Ambm.

1) 1 Owb¡ 2005 2) 1 gßQ>|~a 2005 3) 1 OmZodmar 2000 4) 1 OyZ 2003
1) The Prevention of Money Laundering Act (PMLA) 2002 was brought into force from :

1) 1st July 2005 2) 1st September 20053)1st Jan. 2000 4) 1st June 2003

2) naH$s¶ MbZ ì¶dñWmnZ {dYo¶H$ (FEMA) ............... ¶m {Xder ^maV gaH$maZo ^maVr¶ g§gXo‘Ü¶o ‘m§S>bm.
1) 15 Am°JñQ>, 1998 2) 4 Am°JñQ>, 1998 3) 10 OmZodmar, 1997 4) 26 OmZodmar, 1998

2) The foreign Exchange Management Bill (FEMA) was introduced by the Government of India in

the Indian  Parliament on

(1)  15 August, 1998 (2)  4th August, 1998 (3) 10 January, 1997 (4) 26th January, 1998

3) XÿaÜdZr godoV naH$s¶ Jw§VdUwH$sg ...... nmgyZ nadmZJr XoÊ¶mV Ambr.
1) 1991 2) 1994 3) 2001 4) 2005

3) Foreign Investment was allowed in Telephone services from .

1) 1991 2) 1994 3) 2001 4) 2005

4) ^maVmV {d‘m joÌmV OmñVrV OmñV {H$Vr WoQ> naH$s¶ Jw§VdUwH$sbm (FDI) nadmZJr Amho ?
1) 26% 2) 49% 3) 74% 4) 100%

4) How much is the maximum Foreign Direct Investment (FDI) allowed in insurance sector in

India ?

1) 26 % 2) 49% 3) 74% 4) 100%
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5) ^maV gaH$maZo 1973 Mm ’o$am H$m¶Xm aÔ H$ê$Z 1999 ‘Ü¶o nwT>rbn¡H$s H$moUVm H$m¶Xm ‘§Oya Ho$bm ?
a) IRDA b) RERA c) FEMA d) FRBM

n¶m©¶r CÎmao …
1) ’$º$ (a) Am{U (b) 2) ’$º$ (c) Am{U (d) 3) ’$º$ (d) 4) ’$º$ (c)

5) Which of the following Act was passed by Govt. of India in 1999 after cancelling FERA, 1973 ?

a) IRDA b) RERA c) FEMA d) FRBM

Answer options :

1) Only (a) and (b) 2) Only (c) and (d) 3) Only (d) 4) Only (c)

6) gmd©O{ZH$ VH«$marMo {ZdmaU {Z¶‘ 1998 ‘wio hr àUmbr V¶ma Pmbr …
1) {d‘m EOÝgr 2) {d‘m bmoH$nmb 3) amÁ¶ Am¶moJ 4) J«mhH$ ‘§M

6) Redressal of Public Grievance Rules 1998 created the system of :

1) Insurance agency 2) Insurance ombudsman

3) State commission 4) Consumer forum

7) 1991 gmbr ñdrH$mabobo Zdo Am{W©H$ YmoaU ......
1) g‘mOdmXmda AmYm[aV hmoVo. 2) g‘mOdmXmÀ¶m VÎdm§er A{O~mV g§~§{YV ZìhVo.
3) g‘mOdmXmg§~§Yr VQ>ñW hmoVo. 4) g‘mOdmXmÀ¶m VÎdm§Mr àe§gm H$aUmao hmoVo.

7) The New Economic Policy adopted in 1991 was ...........

1) based on Socialism

2) not at all related to the principles of Socialism

3) indifferent to the concept of Socialism

4) praised the principles of Socialism

8) Imcrcn¡H$s H$moUVr gwYmaUm ^maVm‘Ü¶o 1991-92 ‘Ü¶o ñdrH$macoë`m {dÎmr¶ joÌmVrc gwYmaUm§Mm ^mJ Zmhr?
1) d¡Ym{ZH$Vm amoIVm à‘mU Am{U amoI amIrd JwUmoÎma ¶m§V ‘moR>r KQ>.
2) gaH$mar H$O© amo»¶m§Mo ~mOma^mdmZwgma qH$‘V {ZYm©aU
3)  {dÎmr¶ g‘mdoeH$Vm AmUÊ¶mgmR>r Cnm¶ ¶moOZm H$aUo.
4) OmoIr‘ ì¶dñWmnZ gj‘ H$aÊ¶mgmR>r Cnm¶ ¶moOZm H$aUo.

8) Which of the following is not a part of reforms in financial sector of India initiated in 1991-92 ?

1) Sharp decline in SLR & CRR.

2) Market determined pricing for government securities.

3)  Measures to ensure financial inclusion.

4) Measures to strength risk management.

9) Am{W©H$ gwYmaUm§Mo g§X^m©V Imbrb {dYmZo {dMmamV ¿¶m.
a) gaH$maÀ¶m ŷ{‘Ho$Mo ê$nm§Va {Z¶§ÌH$mH$Sy>Z gw{dYm nwa{dUmam Ago Pmbo Amho.
b) nm¶m ŷV joÌmVrb gwYmaUogmR>r gaH$ma ~m§Yrb Amho.
c) n§Mm¶V amO g§ñWm nyU©nUo H$m¶m©pÝdV H$aÊ¶mg gaH$ma ~m§Yrb Amho.
darbn¡H$s H$moUVo/H$moUVr {dYmZ/Zo gË¶ Amho/AmhoV ?
1) (a) Am{U (b) 2) (b) Am{U (c) 3) (a) Am{U (c) 4) darb gd©
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9) Consider the following statements regarding Economic Reforms :

a) The role of the Government converts from the ‘controller’ to the ‘facilitator’

b) The Government commits to suitable reforms in the infrastructure sector,

c) The Government commits to the full functional Panchayati Raj Institution.

Which of the statement/s given above is/are correct ?

1) (a) and (b) 2) (b) and (c) 3) (a) and (c) 4) All of the above

10) 1991 gmbr ^maV gaH$maZo ñdrH$maboë¶m ZdrZ Am{W©H$ YmoaUm‘wio nwT>rbn¡H$s H$moUË¶m ‘yë¶mMo ‘hÎd H$‘r Pmbo?
a) g‘mOdmX b) Y‘©{ZanojVm c)  bmoH$emhr d) g§KamÁ¶dmX
AMyH$ CÎmamMo n¶m©¶ …
1) (a) ’$º$ 2) (a) d (b) 3) (a)  d (c) 4) (a) d (d)

10) Which value cost its salience with the adoption of the 1991 New Economic Policy ?

a) Socialism b) Secularism c) Democracy d) Federalism

Correct Answer Options :

1) Only (a) 2) (a) and (b) c) (a) and (c) 4) (a) and (d)

11) ZdrZ Am{W©H$ YmoaU, 1991 AÝd¶o MRTP H$m¶ÚmMr Imbrbn¡H$s H$moUVr d¡{eîQ>ço ZmhrV (g§X ©̂ ^maV) ?
a) H§$nÝ¶m§Zm Jw§VdUwH$sgmR>r MRTP Am¶moJmMr nyd© nadmZJr Amdí¶H$ Amho.
b) MRTP Am¶moJmÀ¶m A{YH$mamV dmT> Ho$br Jobr.
c) AZw{MV ì¶mnma-ì¶dhmam~m~V X§S>mÀ¶m VaVwXr A{YH$ H$R>moa Ho$ë¶m.
d) ‘hmg§MmbH$m‘m’©$V àmW{‘H$ Vnmg A{Zdm¶© Amho.
n¶m©¶r CÎmao …
1) Ho$di (a) Am{U (b) ~amo~a AmhoV. 2) Ho$di (a) Am{U (d) ~amo~a AmhoV.
3) (a), (b) Am{U (c) ~amo~a AmhoV 4) gd© ~amo~a AmhoV

11) According to the New Economic Policy, 1991, which are not the features of the MRTP Act (Ref.

India) ?

(a) Company needed prior permission of MRTP Commission for investment.

(b) Power of MRTP Commission widened.

(c)  Penalty provisions for unfair trade practices are more strict.

(d) Primary investigation by Director General is made compulsory.

Answer Options :

(1)  Only (a) and (b) are correct (2)  Only (a) and (d) are correct

(3) (a), (b) and (c) are correct (4) All are correct

12) OmJ{VH$ ~±Ho$Zo ^maVmbm gwMdbobo g§aMZmË‘H$ gwYmaUm Cnm¶ H$moUË¶m YmoaUmgmR>r hmoVo?
1) e¡j{UH$ YmoaU 2) l‘{df¶H$ YmoaU 3) ZdrZ Am{W©H$ YmoaU 4) ‘m¡{ÐH$ YmoaU

12) Structural reform measures suggested by the World Bank to India were of which policy ?

1) Education Policy 2) Labour Policy

3) New Economic Policy 4) Monetary Policy

13) g‘J« Am{W©H$ pñWarH$aU H$m¶©H«$‘ hm gaH$maZo nwT>rb Cnm¶ ¶moOZmgmR>r am~{dbm …
A) gmoZo Am¶mVrda {Z¶§ÌU ~) ^mddmT>rda {Z¶§ÌU
H$) {dÎmr¶ VyQ> ^ê$Z H$mT>Ê¶mgmR>r S>) ì¶dhmaVmobmVrb pñWVr gwYmaÊ¶mgmR>r
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¶mo½¶ CÎmao {ZdS>m.
n¶m©¶r CÎmao …
1) ’$º$ A, H$ Am{U S> 2) ’$º$ ~, H$ Am{U S> 3) ’$º$ ~ Am{U H$ 4) ’$º$ A Am{U S>

13) Macroeconomic Stabilisation Program was adopted by the Government for the following measures:

a) Control import of gold

b) Control of inflation

c) Fiscal correction

d) Improving Balance of Payment position

Choose the correct answer.

Answer Options :

1) Only a, c and d 2) Only b, c and d 3) Only b and c 4) Only a and d

14) ^maVmVrb Am{W©H$ gwYmaUm§À¶m g§X^m©V Imbrb {dYmZo {dMmamV ¿¶m …
A) ñWyb Am{W©H$ pñWarH$aUm‘Ü¶o MbZdmT>rdarb {Z¶§ÌU, {dÎmr¶ Am{U ì¶dhmaVmob ¶m§Mo g‘m¶moOZ ¶m§Mm g‘mdoe

hmoVmo.
~) g§aMZmË‘H$ g‘m¶moOZm‘Ü¶o ì¶mnma Am{U ^m§S>dbr àdmh gwYmaUm, Am¡Úmo{JH$ {Z¶‘Z ¶m§Mm g‘mdoe hmoVmo.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo ¶mo½¶ Amho/V?
n¶m©¶r CÎmao …
1) ’$º$ A ¶mo½¶ Amho 2) ’$º$ ~ ¶mo½¶ Amho
3) XmoÝhr A Am{U ~ ¶mo½¶ AmhoV 4) XmoÝhr A Am{U ~ A¶mo½¶ AmhoV

14) Consider the following statements in the context of economic reforms in India :

a) Macroeconomic stabilisation consists of control of inflation, fiscal and balance of Payments

adjustment.

b) Structural adjustments consist of trade and capital flows reforms, industrial regulations.

Which of the above statements is/are correct ?

Answer Options :

1) Only a is correct 2) Only b is correct

3) Both a and b are correct 4) Both a and b are incorrect

15) ^maVmVrb Am{W©H$ gwYmaUm§{df¶r Imbrbn¡H$s H$moUVo/Vr {dYmZ/Zo gË¶ Amho/V?
a) gwYmaUm à{H«$¶oV CËnmXZ d godm joÌm§À¶m dmT>rda ^a {Xbm Jobm.
b) H¥$fr joÌmH$S>o Xþb©j Pmbo.
c) H¥$fr joÌmVrb gmd©O{ZH$ Jw§VdUyH$sV KQ> {XgyZ Ambr.
d) N>moQ>çm qgMZ àH$ënm§Imbrb joÌmMm d¥{ÕXa ‘§Xmdbm.
n¶m©¶r CÎmao …
1) (a), (b) Am{U (c) 2) (a), (b) Am{U (d) 3) (a), (c) Am{U (d) 4) darb gd©

15) Which of the following statement/s is/are true about economic reforms in India ?

(a) The reforms process has emphasized the growth of manufacturing and service sectors.

(b) Agriculture sectors was neglected.

{c) The public investment in agriculture has shown a decline.

(d) The growth rate of irrigated area under minor irrigation has slowed down.

Answer Options :

(1) (a), (b) and (c) (2) (a) (b) and (d) (3) (a), (c) and (d) (4) All the above
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5) ImOJrH$aU-CXmarH$aU - OmJ{VH$sH$aU
1) CXmarH$aU, ImOJrH$aU, OmJ{VH$sH$aU (LPG)  YmoaUmA§VJ©V ^maV gaH$maZo 100 Q> o̧$ {dXoer àË¶j Jw§VdUwH$scm

Imcrcn¡H$s .............. joÌmH$[aVm nadmZJr {Xcocr hmoVr.
A) CËnmXZ ~) Am¡fY H$) ImOJr {dXoer ~±H$ S>) Xÿag§Mma
n¶m©¶r CÎmao :
1) ’$º$ ~, H$ Am[U S> 2) ’$º$ A,H$ Am{U S> 3) ’$º$ A, ~ Am{U S> 4) ’$º$ A, ~ Am{U H$

1) Under the Liberalisation, Privatisation, Globalisation (LPG) Policy, Government of India allowed

100 percent FDI in ............. sector

a) Manufacturing b) Pharma c) Private foreign d) Telecom

Answer options :

1) b, c and d only 2) a, c and d only 3) a, b and d only 4) a, b and c only

ImOJrH$aU

1) ImOJrH$aUmÀ¶m g§H$ënZoV Imbrb ~m~tMm g‘mdoe hmoVmo …
a) gmd©O{ZH$ CÚmoJm§À¶m ‘mbH$sMo ImOJr CÚmoJm§H$S>o hñVm§VaU.
b) gmd©O{ZH$ Am{U ImOJr CÚmoJm§Mr g§{‘l ^mJrXmar.
c) gmd©O{ZH$ CÚmoJmVrb ‘mb‘ÎmoMr {dH«$s
d) ImOJr ì¶dñWmnZmH$S>o h¸$ hñVm§V[aV H$aUo.
AMyH$ CÎmao {ZdS>m.
1) (a) Am{U (b) 2) (b) Am{U (c) 3) (c) Am{U (d) 4) darb gd©

1) Privatization concept includes :

a) Transfer of ownership of public enterprises to private enterprises.

b) Joint partnership of public and private enterprises.

c) Selling of public enterprise assets.

d) Transferring rights to private management.

Choose correct options :

1) (a) and (b) 2)  (b) and (c) 3)  (c) and (d) 4) All above

2) ImOJrH$aUmÀ¶m à{H«$¶oV H$moUË¶m ~m~r AnojrV AgVmV ?.
A) gmd©O{ZH$ joÌ ho ImOJr Jw§VdUyH$ Iwco H$aUo.
~) ‘wº$ ì¶mnma YmoaU
H$) {deof Am{W©H$ joÌ
S>) gaH$mar CÚmoJm§Mr ‘mcH$s ImOJrjoÌmH$S>o hñVm§V[aV H$aUo.
n¶m©¶r CÎmao :
1) ’$º$ A Am{U S> 2) ’$º$ A, ~  Am{U H$ 3) ’$º$ ~ Am{U H$ 4) darcn¡H$s gd©

2) Which things are expected in the privatization process ?

a) To open public sector for private investment

b) Free trade policy

c) Special Economic Zone

d) Government industry ownership transfer to private sector ?
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Answer options :

1) a and d only 2)  a, b and c only 3) b and c only 4) All of the above

3) ImOJrH$aU ........ er g§~§{YV AgVo.
A) JwUdÎmm ~) «̂ï>mMma ZgUo H$) H$m¶©j‘Vm S>) {ZJwªVdUyH$
n¶m©¶r CÎmao :
1) ’$º$ A 2) ’$º$ ~ Am{U S> 3) ’$º$ A Am{U H$ 4) darcn¡H$s gd©

3) Privatisation is related to .........

a) Quality b) Non-corruption c) Efficiency d) Disinvestment

Answer options :

1)  a only 2) b and d only 3) a and c only 4) All of the above

4) emgZ gmd©O{ZH$ CnH«$‘ ImOJr joÌmH$S>o gwnyX© H$aVo åhUOoM ............. joÌ.
1) ^m§S>dcrH$aU 2) ImOJrH$aU 3) {‘l AW©ì¶dñWm 4) ¶mn¡H$s Zmhr

4) The Government hands over the PSU's to private sector, which means ...........

1) Capitalisation 2) Privatisation 3) Mixed economy 4) None of the above

5) ImOJrH$aUmA§VJ©V KoVboë¶m ‘mbH$s{df¶H$ Cnm¶mV Imbrbn¡H$s H$moUVo g‘m{dï> Zmhr?
1) gmd©O{ZH$ CÚmoJmMr ‘mbH$s ImOJr joÌmH$S>o hñVm§V[aV H$aUo 2) g§¶wº$ CnH«$‘
3) CÚmoJ Adgm¶ZmV H$mT>Uo 4) ^mS>o nQ²>Q>çmZo XoUo

5) Which of the following is not a part of ownership measures taken under privatisation ?

1) Transfer of ownership of a public enterprise to private hand 2) Joint Venture

3) Liquidation 4) Leasing

6) ImOJrH$aUm‘Ü¶o gaH$mar gmYZm§Mo Ý¶yZ ‘yë¶m§H$Z åhUOo - gaH$maMo Am{U Ë¶m‘wio ...... Mo ‘moR>o ZwH$gmZ hmo¶.
1) gaH$mar CnH«$‘m§À¶m ^mJrXmam§Mo 2) XoemVrb H$aXmË¶m ZmJ[aH$m§Mo
3) H$a Z XoUmè¶m XoemVrb gd© ZmJ[aH$m§Mo 4) darb gdmªMo

6) In privatisation, undervaluation of Government assets implies sustainable losses to the Govern-

ment and therefore for the

(1) Partners of the Govt. enterprises (2) Tax-paying citizens of the country

(3) Non tax-paying citizens of the country (4) All the above

7) ImOJrH$aUmÀ¶m nÕVr g§X^m©V Imbrb {dYmZo {dMmamV ¿¶m …
A) EHy$U {Zamï´>r¶H$aU ({S>ZoeZbm¶PoeZ) åhUOo gmd©O{ZH$ CnH«$‘mMr g§nyU© ‘mbH$s ImOJr hmVmV hñVm§V[aV

H$aUo.
~) ì¶dñWmnZ IaoXr åhUOo gmd©O{ZH$ CnH«$‘mMr g§nyU© ‘mbH$s ~hþamï´>r¶ H§$nÝ¶m§H$S>o hñVm§V[aV H$aUo.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo MyH$ Amho/V?
n¶m©¶r CÎmao …
1) Ho$di A MyH$ Amho 2) Ho$di ~ MyH$ Amho
3) XmoÝhr A Am{U ~ MyH$ AmhoV 4) XmoÝhr A Am{U ~ ~amo~a AmhoV
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7) Consider the following statements in the context of Methods of Privatisation :

a) Total denationalization implies a complete transfer of ownership of a public enterprise to

private hands.

b) Management buy-out implies a complete transfer of ownership of a public enterprise to

multinational corporations.

Which of the above statements is/are incorrect ?

Answer Options :

1) Only a is incorrect 2) Only b is incorrect

3) Both a and b are incorrect 4) Both a and b are correct

CXmarH$aU

 OmJ{VH$sH$aU

1) ''OmJ{VH$sH$aU åhUOo ̂ m§S>db, dñVy, V§ÌkmZ, H$ënZm Am{U bmoH$m§Mm ‘wº$ g§Mma, H$moUVohr OmJ{VH$sH$aU Oo eodQ>Mo
dJiVo Vo Am§{eH$ AgVo Am{U {Q>H$mD$ ZgVo.'' hr OmJ{VH$sH$aUmMr ì¶m»¶m ...... ¶m§Zr gm§{JVbr Amho.
1) XrnH$ Zm¶a 2) ~«m§H$mo {‘bmZmo{dH$ 3) Omogo’$ pñQ>p½bQ²>O 4) OJXre ^JdVr

1) “Globalisation means free movement of capital, goods, technology, ideas and people.

Any globalisation that omits the last one is partial and not sustainable.” This definition of

globalisation is stated by ......

1) Deepak Nayyar 2) Branko Milanovie 3) Joseph Stiglitz 4) Jagdish Bhagwati

2) OmJ{VH$sH$aUmgmR>r WTO  Zo H$moUË¶m Amdí¶H$ AQ>r gwM{dcoë¶m AmhoV ?
A) ì¶mnmamgmR>r ^m¡Jmo{cH$ gr‘maofm§Mr ‘¶m©Xm ZgUo ~) ^m§S>dcmMr ‘wº$ hmcMmc
H$) V§ÌkmZmMm ‘wº$ àdmh S>) ‘mZdr l‘mÀ¶m Am§Vaamï´>r¶ ‘wº$ hmcMmcr
n¶m©¶r CÎmao :
1) ’$º$ A 2) ’$º$ ~ Am{U S> 3) ’$º$ A, ~ Am{U H$ 4) darbn¡H$s gd©

2) Which essential conditional have been suggested by WTO for globalization ?

a) No limit of geographical boundary for trade b) Free capital movement

c) Free flow of technology d) Free international movement of labour

Answer options :

1) a only 2) b and d only 3) a, b and c only 4) All of the above

3) OmJ{VH$sH$aU hr EH$ Aer à{H«$¶m Amho Á¶m‘wio …
a) Am{W©H$ EH$sH$aUmV OmñV gImobVm ¶oVo. b) Am{W©H$ nmaXe©H$Vm dmT>Vo.
c) gr‘oncrH$S>rc XheVdmXmV dmT> hmoVo. d) Am{W©H$ nañnamdb§{~Ëd dmT>Vo.
n¶m©¶r CÎmao …
1) (a), (b) d (c) 2) (b), (c) d (d) 3) (a), (b) d (d) 4) (a), (c) d (d)

3) Globalization is a process of :

a) deepening economic integration b) increasing economic openness

c) increasing cross-border terrorism d) growing economic interdependence
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Answer options :

1) (a), (b) and (c) 2) (b), (c) and (d) 3) (a), (b) and (d) 4) (a), (c) and (d)

4) {dH$gZerb Xoem§À¶m g§X^m©V OmJ{VH$sH$aUmÀ¶m g‘W©ZmW© Imbrbn¡H$s H$moUVo ‘wÔo g‘n©H$ AmhoV ?
a) OmJ{VH$sH$aUm‘wio àË¶j naH$s¶ Jw§VdUwH$sg MmbZm {‘iVo d Xoe Am§Vaamï´>r¶ ñVamda H$O©~mOmar hmoV Zmhr.
b) OmJ{VH$sH$aUm‘wio AmYw{ZH$ V§ÌkmZmMm àgma hmoVmo d Xoem§Zm g§emoYZmV ^a Z KmbVm V§ÌkmZ {‘iVo.
c) OmJ{VH$sH$aU à{H«$¶o‘wio {dH$gZerb XoemVrb Xm[aÚ« Xÿa Pmbo Amho.
d) OmJ{VH$sH$aUm‘wio kmZmMr XodmUKodmU ‘moR>çm à‘mUmda hmoVo.
darbn¡H$s ¶mo½¶ CÎma H$moUVo ?
1) (a), (b) Am{U (c) 2) (b), (d) Am{U (c) 3) (a), (c) Am{U (d) 4) (a), (b) Am{U (d)

4) Which of the following points are apt. for developing nations in defense of globalization ?

a) Globalization promotes FDI without forcing developing nations into international indebtedness.

b) Globalization promotes modern technolo gy and enables developing nations to make use of it

without investment in R and D.

c) Globalization has helped to reduce the poverty of nations in developing stage.

d) Globalization leads to faster diffusion of knowledge among developing nations.

Which are the correct answers ?

1) (a), (b) and (c) 2) (b), (d) and (c) 3) (a), (c) and (d) 4) (a), (b) and (d)

5) Imbrbn¡H$s H$moUVo OmJ{VH$sH$aUmMo ‘mnX§S> Zmhr?
1) dñVy d godm§Mm ‘wº$ àdmh 2) ^m§S>dbmMm ‘wº$ àdmh
3) l{‘H$m§Mr ‘wº$ hmbMmb 4) OmJ{VH$ ñVamda gm‘m{OH$-Am{W©H$ g‘mZVm

5) Which of the following is nof a parameter of globalisation ?

1) Free flow of goods and services 2) Free flow of capital

3) Free movement of labour 4) Socio-economic equality at global level

6) ñdXoer AW©ì¶dñWoÀ¶m BVa OJmer AgUmè¶m g§~§YmZm ...... g§~moYVmV.
1) CXmarH$aU 2) ImOJrH$aU 3) OmJ{VH$sH$aU 4) darbn¡H$s EH$hr Zmhr

6) .......... refers to the interaction of the domestic economy with rest of the world.

{1) Liberalisation (2) Privatisation (3) Globalisation (4) None of the above

7) Imbrbn¡H$s H$moUVo KQ>H$ ho OmJ{VH$sH$aUmÀ¶m l‘ ~mOmanoR>odarb n[aUm‘ñdê$n {XgyZ ¶oVmV?
a) d{Y©V ‘yë¶m‘Ü¶o ^m§S>dbmÀ¶m dmQ>çmV dmT> b) l‘mMo Z¡{‘{ÎmH$sH$aU
c) {ZåZ loUrVrb H$m‘mgmR>r ‘OwarV KQ> d) AY©doi H$m‘mÀ¶m g§YrV dmT>
n¶m©¶r CÎmao …
1) (a), (b) Am{U (d) 2) (a), (b) Am{U (c) 3) (b) Am{U (d) 4) darb gd©

7) Which of the following have been observed as affects of globalization on labour markets ?

a) increase in the share of capital in value added

b) Casualization of labour |

c) Lower wages in lower ranks of work

d) Increase in part-time jobs

Answer Options :

(1) (a), (b) and (d) (2) (a), (b) and (c) (3) (b) and (d) (4) All of the above
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(3) J[a~rMr g§H$ënZm, ‘moO‘mn Am{U A§XmO, J[a~r {Z‘y©bZ H$m ©̀H«$‘
1) J[a~rMr g§H$ënZm, H$maUo
2) Xm[aX²Œ¶mMo ‘moO‘mn Am{U A§XmO
3) ‘mZd {dH$mg {ZX}em§H$
4) J[a~r {Z‘y©bZ H$m ©̀H«$‘

1) J[a~rMr g§H$ënZm, H$maUo
1) EHy$U Xm[aÚ« Xar {df¶r (TPG) Imbrbn¡H$s H$moUVo {dYmZ ¶mo½¶ Amho ? (TPG - Total Poverty Gap)

1) Xm[aÚ«aofoImbrb àË¶oH$mbm Ë¶m aofoÀ¶m da AmUÊ¶mgmR>r Amdí¶H$ Agboë¶m EHy$U CËnÞmMo ‘mnZ TPG H$aVo.
2) {Zìdi Xm[aÚ« aofoÀ¶m Imbr Á¶m§Mo CËnÞ Amho, Aem§Mr g§»¶m åhUOo TPG hmo¶.
3) àË¶oH$ CËnmXZ KQ>H$mbm {‘iUmè¶m EHy$U amï´>r¶ CËnÞmVrb dmQ>çmMo ‘mnZ TPG H$aVo.
4) EImÚm XoemVrb CËnÞ {df‘VoÀ¶m gmnoj Vrd«VoMo ‘mnZ TPG H$aVo.

1) Which of the following statements are correct about the Total Poverty Gap (TPG) ?

1) TPG measures the total amount of income necessary to raise everyone below poverty line up

to that line.

2) TPG is the number of those whose incomes fall below absolute poverty line.

3) TPG measures the share of total national income that each factor of production receives.

4) TPG measures the relative degree of income inequality in a country

2) Imbrb {dYmZo {dMmamV ¿¶m …
a) {Zanoj Xm[aÚ«mMo {Z‘y©bZ H$aUo e³¶ AgVo.
b) gmnoj Xm[aÚ« ho OmñV CËnÞ JQ>m~amo~a H$‘r CËnÞ JQ>mÀ¶m VwbZoda AmYm[aV AgVo.
c) Xm[aÚ« ho n¶m©daUmÀ¶m AdZVrgmR>r O~m~Xma Zmhr.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo ~amo~a Amho/AmhoV?
1) (a) Am{U (b) 2) (b) Am{U (c) 3) (a) Am{U (c) 4) darb gd©

2) Consider the following statements :

(a)  Absolute poverty can be eradicated.

(b)  Relative poverty is based on comparison of lower income group with higher income group.

(c)  Poverty is not responsible for degradation of environment.

Which of the statement/s given  above is/are correct ?

(1)  (a) and (b) (2)  (b) and (c) (3)  (a) and (c) (4)  All of the above

2) Xm[aX²Œ¶mMo ‘moO‘mn Am{U A§XmO
1) a§JamOZ g{‘Vr (2014) Zo Xm[aÐçmMr aofm ehar Am{U J«m‘rU ^mJmgmR>r àVr ì¶º$s X¡Z§{XZ IMm©À¶m ñdê$nmV Aer

{ZpíMV Ho$br Amho.
a) 40 Am{U 30 én¶o b) 47 Am{U 32 én¶o c) 50 Am{U 45 én¶o d) 55 Am{U 50 én¶o
n¶m©¶r CÎmao …
1) Ho$di (a) 2) Ho$di (c) 3) Ho$di (d) 4) Ho$di (b)
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1) Rangrajan Comnnittee (2014), defined poverty line in terms of per capita per day expenditure for

urban and rural area as

a) Rs.40 andRs.30 b) Rs.47 and Rs.32 c) Rs.50 and Rs.45 d) Rs. 55 and  Rs.50

Which of the above options is/are correct 2?

(1) Only (a) (2) Only (c) (3) Only (d) (4) Only (b)

2) ‘mM© 2012 À¶m {Z¶moOZ Am¶moJmÀ¶m à{gÕr nÌH$mZwgma Xm[aÚ« aofoImbrb bmoH$g§»¶oMo eoH$S>m à‘mU 2009-10
‘Ü¶o ............. BVHo$ Imbr Ambo.
1) 19.8% 2) 21.9% 3) 29.8% 4) 45.0%

2) According to the press note issued by Planning Commission In March 2012, percent of population

living below poverty line has come down to _______ into 2009-10.

1) 19.8% 2) 21.9% 3) 29.8% 4) 45.0%

3) a§JamOZ g{‘Vr (2014) Zwgma 2011-12 gmbr Xm[aÚ« aofoMr ì¶m»¶m ehar ̂ mJmgmR>r é. ............ d J«m‘rU
^mJmgmR>r é. ............ XaS>moB© Xa{Xder Aer H$aÊ¶mV Ambr.
1) 47 Am{U 39 2) 47 Am{U 31 3) 67 Am{U 32 4) 47 Am{U 32

3) As per Rangrajan Committee (2014) the poverty line for 2011-12 was at Rs. ......... and Rs. ...........

per capita per day respectively for urban and rural areas.

1) 47 and 39 2) 47 and 31 3) 67 and 32 4) 47 and 32

4) Imcrc {dYmZo {dMmamV ¿¶m :
a) a§JamOZ n°ZocZwgma ehar ^mJmV < 47 Xm[aÐçaofm {ZpíMV Ho$cr Amho
b) ¶m Aä¶mgmMm A§XmO Amho H$s, ehar ^mJmV 26.4% cmoH$ Xm[aÐçaofoImcr AmhoV.
darcn¡H$s H$moUVr {dYmZo ~amo~a AmhoV ?
1) Ho$di (a) 2) Ho$di (b) 3) XmoÝhr (a) Am{U (b) 4) darcn¡H$s Zmhr

4) Consider the following statement :

a) According to the Rangarajan panel, the poverty line has been fixed at < 47 in urban area

b) This study estimates that 26.4% of people in urban areas are below the poverty line.

Which of the above statement is true ?

1) Only (a) 2) Only (b) 3) Both (a) and (b) 4) None of the above

5) J[a~r åhUOo j‘Vm d§{MVrH$aU hr g§H$ënZm Hw$Ur ‘m§S>br ?
1) S>m°. A‘Ë¶© goZ 2) S>m°. gwaoe V|Sw>bH$a 3) S>m°. Xm§S>oH$a Am{U S>m°. am¶   4) S>m°. nr. gr. ‘hmcZmo{~g

5) The idea of poverty as capability deprivation was put forward by ......

1) Dr. Amartya Sen 2) Dr. Suresh Tendulkar

3) Dr. Dandekar and Dr. Rath 4) Dr. P.C. Mahalanobis

6) J[a~rÀ¶m ‘wX²ÚmMo nwZn©[ajU H$aÊ¶mgmR>r 2011 - 2012 ‘Ü¶o H$moUVr g{‘Vr Zo‘Ê¶mV Ambr ?
1) Eg. MH«$dVu g{‘Vr 2) S>r. Q>r. bH$S>mdmbm g{‘Vr
3) Ama. gr. XÎm g{‘Vr 4) gr. a§JamOZ g{‘Vr

6) Which Committee was appointed in 2011-2012 to re-examine the issue of poverty ?

1) S. Chakravarty Committee 2) D. T. Lakdawala Committee

3) R. C. Datta Committee 4) C. Rangarajan Committee
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7) ^maVmVrb J[a~m§Mo à‘mU Am{U g§»¶oÀ¶m A§XmOmÀ¶m nÕVera Am{U g§JUH$s¶ ~m~tMm {dMma H$aÊ¶mgmR>r {Z¶moOZ
Am¶moJmZo gßQ>|~a 1989 ‘Ü¶o ......... ¶m§À¶m AÜ¶jVoImbr EH$ "VÁk JQ>' ñWmnZ Ho$bm.
1) àm. Xm§Vdmbm 2) àm. ~«÷mZ§X 3) àm. Ahcwdm{c`m 4) àm. S>r. Q>r. bH$S>mdmbm

7) The Planning Commission constituted an ‘Expert group’ in September 1989 to consider

methodological and computational aspects of estimation of the number of poor in India under the

Chairmanship of ......

1) Prof. Dantwala 2) Prof. Brahmananda 3) Prof. Ahluwalia       4) Prof D. T. Lakdawala

8) 2001-02 À¶m Am{W©H$ gd}jUmZwgma H$moUË¶m amÁ¶mV Xm[aÚ«mMo à‘mU gdm©{YH$ hmoVo ?
1) {Ìnwam 2) Amo{S>em 3) {~hma 4) ‘Ü¶ àXoe

8) According to the Economic Survey of 2001-02, which State had more poverty ?

1) Tripura 2) Odisha 3) Bihar 4) Madhya Pradesh

9) OrdZmMm ^m¡{VH$ JwUdÎmm {ZX}em§H$ (PQLI) ‘moOVmZm H$moUVm KQ>H$ {dMmamV KoVbm OmV Zmhr ?
1) Ano{jV Am¶w‘m©Z 2) XaS>moB© CËnÞ 3) ~mby ‘¥Ë¶y 4) gmjaVm

9) Which factor is NOT considered while calculating Physical Quality of Life Index (PQLI)?

1) Life expectancy 2) Per capita income 3) Infant mortality 4) Literacy

10) Imbrbn¡H$s H$moUr ~hþAm¶m‘r Xm[aÐç {ZX}em§H$ gmXa Ho$bm Amho?
1) OmJ{VH$ ~±H$ 2) ‘mZd {dH$mg Ahdmb, 2010
3) {Z¶moOZ Am¶moJ 4) ^maVr¶ [aPìh© ~±H$

10) Which of the following has introduced Multidimensional Poverty Index ?

1) World Bank 2) Human Development Report, 2010

3) Planning Commission 4) Reserve Bank of India

11) J[a~m§Mm dJ© AmoiIÊ¶mMo AmYma H$m¶ AmhoV ?
a) ŷ{‘hrZ eoV‘Oya b) J«m‘rU d ehar Jar~ ì¶º$s
c) Aën d gr‘m§V ŷYmaH$ åhUyZ d) A{e{jV ì¶º$s
n¶m©¶r CÎmao …
1) (a) Am{U (b) 2) (a) Am{U (c) 3) ’$º$ (b) 4) ¶mn¡H$s gd©

11) What are the base for Identification of class of Poor ?

a) Landless agricultural labour (b) Rural and urban poor person

c) Small and marginal holding labour (d) Uneducated person

Answer options :

1) (a) and (b) 2) (a) and (c) 3) Only (b) 4) All above
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3) ‘mZd {dH$mg {ZX}em§H$
1) J«m‘rU ^mJmVrb ^maVr¶ ‘mUgmbm XaamoOÀ¶m AmhmamVyZ{H$Vr Cî‘m§H$mMr JaO AgVo ?

1) 2000 2) 2400 3) 2500 4) 2750
1) How much calories does a rural Indian man need from his daily diet ?

1) 2000 2) 2400 3) 2500 4) 2750

2) ‘mZd {dH$mg Ahdmc ....... ‘Ü¶o ‘mZdr Xm[aÐç {ZX}em§H$mMr g§H$ënZm ‘m§S>cr Jocr.
1) 1995 2) 1996 3) 1997 4) 1998

2) Human Development Report ........... introduced the concept of Human Poverty Index.

1) 1995 2) 1996 3) 1997 4) 1998

3) 2014 À¶m OmJ{VH$ ‘mZd {dH$mg {ZX}em§H$mÀ¶m (GHDI) AhdmbmZwgma OmJ{VH$ H«$‘dmar‘Ü¶o 188 Xoe Am{U
dgmhVr‘YyZ ^maVmMm H«$‘m§H$ ........ hm Zm|X{dbm Jobm Amho.
1) 75 2) 110 3) 130 4) 125

3) India's position in the Global Human Development Index (GHDI) 2014 was reported at ...... out of

188 countries and territories

1) 75 2) 110 3) 130 4) 125

4) gZ 2020 À¶m ¶y.EZ.S>r.nr. À¶m AhdmbmZwgma ‘mZd {dH$mg {ZX}em§H$mV ^maVmMm {H$Vdm H«$‘m§H$ Amho ?
1) 129 dm H«$‘m§H$ 2) 81 dm H«$‘m§H$ 3) 100 dm H«$‘m§H$ 4) 131 dm H«$‘m§H$

4) UNDP of the year 2020 According to the report of the Human Development Index, what is the

number of India?

1) 129th number 2) 81st number 3) 100th number 4) 131st number

5) ‘hmamï´> ‘mZd {dH$mg Ahdmc 2012 Zwgma ‘w§~B© àW‘ Va eodQ>À¶m ñWmZmda ............ hmoVm.
1) JS>{Mamocr 2) M§Ðnya 3) OmcZm 4) Z§Xþa~ma

5) According to Maharashtra Human Development Report 2012, Mumbai is the first and last    was

...........

1) Gadchiroli 2) Chandrapur 3) Jalna 4) Nandurbar

6) Imbrbn¡H$s H$moUVo/H$moUVr {dYmZ/Zo ~amo~a Amho/AmhoV ?
a) 1995 À¶m ‘mZd {dH$mg AhdmbmV ^maVmVrb 16 amÁ¶m§Mm qbJmYm[aV {dH$mg {ZX}em§H$m§Mm Aä¶mg H$aÊ¶mV

Ambm Amho.
b) 1980 ‘Ü¶o ^maVmVrb {d{dY amÁ¶m§n¡H$s Ho$aiMm qbJ g‘mZVm {ZX}em§H$ gJù¶mV OmñV hmoVm.
c) qbJ^md {df‘Vm hr Zoh‘rM CËnÞ Xm[aÚ«mer {ZJS>rV AgVo.
n¶m©¶r CÎmao …
1) (a) Am{U (b) ~amo~a AmhoV. 2) (a) Am{U (c) ~amo~a AmhoV.
3) (b) Am{U (c) ~amo~a AmhoV 4) ’$º$ (c) ~amo~a Amho.

6) Which of the following statement/s is/are correct ?

a) In 1995, the Human Development Report has studied the Gender-Based Development Index

of 16 states in India.

b) In 1980, the Gender Equality Index of Kerala was highest among states in India.
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c) Gender inequality is always related to income poverty.

Answer Options :

1) (a) and (b) are correct 2) (a) and (c) are correct

3) (b) and (c) are correct 4) Only (c) is correct

7) ¶mo½¶ H$WZ/Zo AmoiIm
a)$g§¶wº$ amîQ´>m§À¶m ‘mZd {dH$mg {ZX}em§H$, 2020 ‘Ü¶o ^maV 131 ì¶m ñWmZmda Amho.
b)$2019 ‘Ü¶o OÝ‘coë¶m ^maVr¶m§Mo Am¶w‘m©Z 72.6 df©o Amho Va ~m§½cmXoemVrc cmoH$m§Mo Am¶w‘m©Z 69.7 df©o Amho.
c)$g§¶wº$ amï´>m§À¶m ‘mZd {dH$mg {ZX}em§H$, 2020 ‘Ü¶o pñdËP©c°ÊS> 1 ë¶m ñWmZmda Amho.
n¶m©¶r CÎmao …
1) ’$º$ (a) Am{U (b)$ 2) ’$º$ (b) Am{U (c)$ 3)  ’$º$ (a) 4)  ’$º$ (c)

7) Select the correct statement/s.

(a) India ranks 131 in United Nation's Human Development Index, 2020.

(b) Life expectancy of Indians at birth in 2019 was 7Z-6 years while Bangladesh had life

expectancy of 69 7 years

(c) Switzerland ranks 1" in United Nation's Human Development Index, 2020.

Answer Options :

(1)  Only (a) and (b) (2)  Only (b) and (c) (3) Only (a) 4) Only (c)

8) ‘mZd {dH$mg {ZX}em§H$ Ahdmb H$moU V¶ma H$aVo ?
1) UNDP 2) UN 3) WTO 4) UHDC

8) Who prepares Human Development Index report?

1) Nachhauz 2) Nach 3) Thadaj 4) Nkauu

9) nwT>rbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
a) 2019 À¶m OmJ{VH$ {dH$mg AhdmbmZwgma ‘mZdr ^m§S>db {ZX}em§H$ hm l{‘H$m§À¶m nwT>rb {nT>çm§À¶m CËnmXH$Vo
g§X^m©V gy{MV Ho$bm OmVmo.
b) ‘mZdr ^m§S>db {ZX}em§H$ hm eyÝ¶ Am{U EH$ ¶m§À¶m Xaå¶mZ AgVmo.
n¶m©¶r CÎmao …
1) (a) ’$º$ ~amo~a 2) (b) ’$º$ ~amo~a
3) (a) Am{U (b) XmoÝhrhr MyH$ 4) (a) Am{U (b) XmoÝhrhr ~amo~a

9) Which of the following statements are correct?

a) The Human Capital Index (HCI) suggested in World Development Report - 2019 is measured

in terms of the productivity of the next generation of workers.

b) HCI ranges between zero and one.

Answer Options :

1) (a) only is correct. 2) (b) only is correct.

3) both (a) and (b) are incorrect 4) both (a) and (b) are correct

10) ‘mZd {dH$mgmÀ¶m Imbrb ‘yb ŷV n[a‘mUm§À¶m ghmæ¶mZo ‘mZd {dH$mg {ZX}em§H$ XoemVrb gamgar CnbãYVrMo ‘mnZ
H$aVmo …
a) Amamo½¶nyU© XrK©Am¶wî¶ b) kmZ {‘iÊ¶mMr g§Yr c) ¶mo½¶ amhUr‘mZmMm XOm©
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n¶m©¶r CÎmao …
1) (a) Am{U (b) {dYmZo ¶mo½¶ AmhoV. 2) (b) Am{U (c) {dYmZo ¶mo½¶ AmhoV.
3) (a), (b) Am{U (c) {dYmZo ¶mo½¶ AmhoV. 4) (a) Am{U (c) {dYmZo ¶mo½¶ AmhoV.

10) Human Development Index measures the average achievement in a country in the following basic

dimensions of human development :

a) A long and healthy life

b) Access to knowledge

c) Decent standard of living

Answer Options :

1) Statements (a) and (b) are correct 2) Statements (b) and (c) are correct

3) Statements (a), (b) and (c) are correct 4) Statements fa) and (c) are correct

11) Imcrcn¡H$s H$moUVo ‘mZdr {dH$mg {ZX}em§H$mMo n[a‘mU Zmhr ?
1) Amamo½¶ 2) {ejU 3) CËnÞ 4) Y‘©

11) Which of the following is not a dimension of Human Development Indez ?

(1)  Health (2)  Education (3)  Income (4)  Religion

12) ‘mZd {dH$mg {ZX}em§H$ cmoH$g§»¶oÀ¶m ........... gyMH$ AgVmo.
1) KZVoMm 2) gmjaVoMm 3) CÐoH$mMm 4) JwUdÎmoMm

12) Human Development Index indicates        of population.

(1)  Deztsity (2)  Literacy (3)  Explosion (4)  Quality

4)  J[a~r {Z‘y©bZ H$m ©̀H«$‘
1) Xm[aÚ«mV KQ> Am{U CnOr{dH$m àmoËgmhZ ¶mgmR>r ^maV gaH$ma ~amo~a g§¶wº$ amï´>o {dH$mg H$m¶©H«$‘mZo Imbrbn¡H$s

H$moUË¶m H$m¶©H«$‘m§Zm nmR>~i {Xbo Amho ?
a) gdmªgmR>r ‘m’$H$ XamV J«m‘rU J¥h{Z‘m©U
b) ~hþamÁ¶r¶ Amamo½¶godm ì¶dñWm j‘Vm gwYmaUm (2013-2017)
c) àemgZ d Jw{UV CnOr{dH$m nmR>~b (GOALS) (2013-2017)
d) Am{Xdmgr {d^mJ amï´>r¶ j‘Vm ~iH$Q>rH$aU (2013-2017)
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) (a), (b) Am{U (c)

3) (b), (c) Am{U (d) 4) darbn¡H$s gd©
1) Which of the following programmes have been supported by United Nations Development

Programme (UNDP) along with Government of India for poverty reduction and livelihoods

promotion?

a) Affordable Rural Housing for All

b) Improving Efficiency of Health Care System in Multiple States (2013 — 2017).

c) Governance and Accelerated Livelihoods Support (GOALS) (2013 -— 2017)

d) Strengthening National Capacities in Tribal Areas (2013 -— 2017)

Answer Options:

1) Only (a) 2) (a), (b) and (c) 3) (b), (c) and (d) 4) All of the above
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2) 2007 gmbr ^maV gaH$maZo Ag§K{Q>V joÌmVrb Xm[aÚ« aofoImbrb Hw$Qw>§~m§gmR>r ........ hr amï´>r¶ Amamo½¶ {d‘m ¶moOZm
Om{ha Ho$br.
1) amï´>r¶ ñdmñÏ¶ {~‘m ¶moOZm 2) ‘hmË‘m ’w$bo OZ-Amamo½¶ ¶moOZm
3) gm‘m{OH$ gwa{jVVm H$m¶Xm, 2008 4) àYmZ‘§Ìr OZ-Amamo½¶ ¶moOZm

2) The Indian Government has launched the National Health Insurance Scheme, namely the ........for

BPL families in unorganised sector in 2007.

(l)  Rashtriya Swasthya Bima Yojana (2)  Mahatma Phule Jan-Aarogya Yojana

(3) Social Security Act, 2008 (4)  Pradhan Mantri Jan-Aarogya Yojana

3) H$moUË¶m ¶moOZoÛmao Jar~ ‘{hbm§Zm ‘mo’$V J°g H$Zo³eZ {Xbo OmVo?
1) C‚dbm ¶moOZm 2) gm¡̂ m½¶ ¶moOZm 3) OrdZ-Á¶moVr ¶moOZm 4) OZ-YZ ¶moOZm

3) Under which scheme free gas connections are given to poor women ?

(1)  Ujjwala Yojana (2)  Saubhagya Yojana

(3)  Jeevan-Jyoti Yojana (4)  Jan-Dhan Yojana

4) ^maVmV Imbrbn¡H$s H$moUVr ¶moOZm J[a~r H$‘r H$aÊ¶mgmR>r gwê$ H$aÊ¶mV Ambobr Zmhr?
1) amoOJma h‘r ¶moOZm 2) Odmha amoOJma ¶moOZm
3) ñdU©O¶§Vr ehar amoOJma ¶moOZm 4) gm§ñH¥${VH$ {dH$mg H$m¶©H«$‘

4) Which of the following schemes has not been introduced for reducing poverty in India ?

(1)  Employment Guarantee Scheme

(2)  Jawahar Rozgar Yojana (JRY}

(3)  Swarnajayanti Shahari Rozgar Yojana (SSRY}

(4)  Cultural Development Programme

5) Xm[aÚ« {Z‘y©bZmgmR>r H$moUVo H$m¶©H«$‘ {ZJS>rV AmhoV ?
a) EH$mpË‘H$ J«m‘rU {dH$mg H$m¶©H«$‘ b) B§{Xam Amdmg ¶moOZm
c) añVo {dH$mg H$m¶©H«$‘ d) J«m‘rU {ejU
n¶m©¶r CÎmao …
1) (a) Am{U (b) 2) ’$º$ (b) 3) ¶mn¡H$s Zmhr 4) ¶mn¡H$s gd©

5) Which Programme are related to poverty alleviation ?

a) IRDP [Integrated Rural Development Programme]

b) IAY [Indira Awas Yojana]

c) Road Development Programme

d) Rural Education

Answer options :

1) (a) and (b) 2) Only (b) 3) None of these 4) All above
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(4) ~oH$mar - H$maUo, ñdén, àH$ma, amoOJma {Z{‘©Vr H$m ©̀H«$‘
1) ~oamoOJmarMr g§H$ënZm, àH$ma,  H$maUo
2) ~oamoOJmarMo  ‘moO‘mn Am{U A§XmO
3) amoOJma {Z{‘©Vr H$m¶©H«$‘

1)  ~oamoOJmarMr g§H$ënZm, àH$ma,  H$maUo
1) ~oH$mar åhUOo :

a)$H$m‘ H$aÊ¶mMr BÀN>m ZgUo.
b)$l‘eº$s H$m‘ H$aÊ¶mÀ¶m CncãY ñWmZm§À¶m g§»¶onojm A{YH$ AgVo.
c)$H$m‘ H$aÊ¶mMr BÀN>m Am{U eº$s AgyZ hr H$m‘ Z {‘iUo.
d)$àM{cV ‘OwarÀ¶m XamV H$m‘ Z {‘iUo
n¶m©¶r CÎmao …
1)$’$º$ (b)$ 2) (a)$Am{U (b) 3) (a),(b)$Am{U (c) 4) (b),(c)$Am{U (d)

1) Unemployment means :

(a)  Not wanting to work

(b)  The worMorce exceeds the number of work openings

(c)  Not getting a job despite the desire and strength to work

(d)  Not getting work at prevailing wage rates

Answer Options :

(I)  Only (b) (2)  (a) and (b) (3)  (a), (b) and (c) (4)  (b), (c) and (d)

2) ^maVr¶ AW©ì¶dñWoV Nw>ß¶m ~oH$marMm àíZ hm àm‘w»¶mZo ..........
1) J«m‘rU ^mJmV ‘moR>çm à‘mUmda AmT>iVmo
2) ehar ^mJmV ‘moR>çm à‘mUmda AmT>iVmo
3) Am¡Úmo{JH$ joÌmV ‘moR>çm à‘mUmda AmT>iVmo
4) ehar H$m‘ H$aUmè¶m ‘{hbm§‘Ü¶o ‘moR>çm à‘mUmda AmT>iVmo.

2) The problem of disguised unemployment in Indian Economy is mainly observed in ......

1) rural areas 2) urban areas 3) Industrial sector 4) urban working women

3) Imbrb {dYmZm§n¡H$s H$moUVo ~amo~a Amho ?
a) àÀN>Þ ~oH$mar CÚmoJ joÌmV AgVo.
b) àÀN>Þ ~oH$mar H¥$fr joÌmV AgVo.
n¶m©¶r CÎmao …
1) (a) ~amo~a Amho 2) (b) ~amo~a Amho.
3) (a) Am{U (b) ~amo~a AmhoV. 4) darbn¡H$s H$moUVohr ~amo~a Zmhr.
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3) Which of the following statements are correct ?

(a)  Disguised unemployment is in industrial sector.

(b) Disguised unemployment is in agricultural sector.

Answer Options :

(1) (a) is correct (2) (b) is correct

(3)  (a) and (b) are correct (4)  None of the above are correct

4) ^maVmV H$moUË¶m àH$maMr ~oH$mar AmT>iVo?
A) Nw>nr ~oH$mar ~) h§Jm‘r ~oH$mar H$) e¡j{UH$ ~oH$mar S>) aMZmË‘H$ ~oH$mar
n¶m©¶r CÎmao …
1) ’$º$ A 2) ’$º$ A, ~ Am{U H$ 3) ’$º$ H$ 4) ¶mn¡H$s gd©

4) Which type of unemployment is found in India ?

a) Disguised unemployment b) Seasonal unemployment

c) Educational unemployment d) Structural unemployment

Answer Options :

1) Only a 2) Only a, b and c 3) Only c 4) All of the above

5) gr. a§JamOZ, gr‘m Am{U B©. E‘. {d~re ¶m§À¶m ‘Vo J«m‘rU ‘{hbm§À¶m l‘eº$sMm gh^mJ Xa ...... ‘wio Kgabm Amho.
1) ~mb {ddmh Am{U d¥ÕrXa KQ>ë¶mZo 2) {ejUmMm n[aUm‘ Am{U CËnÞ n[aUm‘
3) {ejUmMm n[aUm‘ Am{U KQ>Vo ór-nwéf à‘mU 4) CËnÞ n[aUm‘ Am{U KQ>Vo d¥ÕrXa

5) According to C. Rangarajan, Seema and E.M. Vibeesh, the rural females labour force participation

rate has declined due to

1) Child marriages and growth rate decline 2) Education effect and Income effect

3) Education effect and declining sex ratio 4) Income effect and growth rate decline

6) AË¶mYw{ZH$ V§ÌkmZmMm dmna Ho$ë¶mZo H$moUË¶m àH$maMr ~oamoOJmar CX²̂ dVo?
1) MH«$s¶ 2) Vm§{ÌH$ 3) h§Jm‘r 4) àÀN>Þ

6) What kind of unemployment arises due to the use of Sophisticated Technology ?

(1)  Cyclical (2)  Technical (3)  Seasonal (4)  Disguised

7) Am¡Úmo{JH$ joÌmV H$m‘ H$aUmè¶m Am{Xdmgr ~amo~a H$moUVr g‘ñ¶m {Z‘m©U hmoVo ?
1) Amamo½¶ ImbmdVo 2) {ZajaVm 3) ñWmZm§VarV eoVr 4) H$‘r doVZ d ñWbm§Va

7) What problem arises with tribals working in industrial sector?

1) Deterioration of health 2) Illiteracy

3) Shifting agriculture 4) Low wages and migration

8) EZ². Eg². Eg². Amo. (amï´>r¶ Z‘wZm gd}µjU g§ñWm) Zwgma ~oamoOJmarÀ¶m VrZ g§H$ënZm øm AmhoV :
i) Zoh‘rMr ~oamoOJmar pñWVr ii) Mmcy AmR>dS>çmMr ~oamoOJmar pñWVr
iii) AmOÀ¶m {XdgmMr ~oamoOJmar pñWVr iv) gcJ 180 {Xdg ~oamoOJmar pñWVr
n¶m©¶r CÎmao :
1) ’$º$ (i),(iii) Am{U (iv) 2) ’$º$ (i),(ii) Am{U (iii)

3) ’$º$ (i),(iii) Am{U (iv) 4) ’$º$ (i),(ii) Am{U (iv)
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8) The three concepts of unemployment as per NSSO :

i) Usual status unemployment

ii) Current weekly status unemployment

iii) Current daily status unemployment

iv) Consecutive 180 days of unemployment

Answer options :

1) (ii), (iii) and (iv) only 2) (i), (ii) and (iii) only

3) (i), (iii) and (iv) only 4) (i),(ii) and (iv) only

9) h[aV H«$m§VrMm n[aUm‘ åhUyZ, bhmZ eoVH$è`m§Mo Xwb©{jV H$aUo Am{U Hw$im§Zm ~oXIb H$aUo ho ......... ‘Ü ò ObX dmT>
hmoÊ`mg à‘wI H$maUo AmhoV.
1) J[a~r 2) Am¡Úmo{JH$ ‘Oya
3) ŷ{‘hrZ eoV‘Owam§Mr g§»`m 4) AmH$pñ‘H$ ‘Oya

9) As aresult of the Green Revolution, marginalisation of small farmers and eviction of tenants have

been major contributing factors to a faster increase in .............

1) poverty 2) industrial labourers

3) the number of landless agricultural labourers4) casual labourers

10) ........... IoS>oJmdmV eoV‘Owam§Mr H$‘r doVZ Am{U Jar~ Am{W©H$ pñWVr hm AmUIr EH$ ‘hÎdmMm KQ>H$ Amho.
1) H$‘r l‘ H$m ©̀j‘Vm 2) d¡ÚH$s` ‘XVrMm A^md
3) ‘Oya nwadR>çmMm A^md 4) {~Ja eoVr ì`dgm`m§Mr H$‘VaVm

10) .............. in village areas is another important factor for the low wages and poor economic condition

of the farm labourers.

1) Low labour efficiency 2) Lack of medical aid

3) Lack of labour supply 4) Paucity of non-agricultural occupations

2) ~oamoOJmarMo  ‘moO‘mn Am{U A§XmO
1) ^maVmVrb amoOJmam‘Ü¶o g§K{Q>V joÌmMm dmQ>m Xe©dÊ¶mg§X^m©V Imbrb OmoS>çm Owidm.

a) 1983 i) 6.4%
b) 1999-2000 ii) 6.9%
c) 2004-2005 iii) 7.08%
d) 2008-2009 iv) 7.93%
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (iv) (iii) (i) (ii)

2) (i) (ii) (iii) (iv)

3) (ii) (iii) (iv) (i)

4) (iii) (iv) (i) (ii)
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1) Match the columns indicating share of organized sector in employment in India.

(a) 1983 (i) 6.4%

(b) 1999-2000 (ii) 6.9%

(c) 2004-2005 (iii) 7.08%

(d) 2008-2009 (iv) 7.93%

Answer Options :

(a) (b) (c) (d)

1) (iv) (iii) (i) (ii)

2) (i) (ii) (iii) (iv)

3) (ii) (iii) (iv) (i)

4) (iii) (iv) (i) (ii)

2) {H$‘mZ doVZ H$m`ÚmZwgma, 1981 ‘Ü ò eoV‘Owam§Mo gamgar CËnÞ ................ BVHo$ {Xdgmbm dmT>bo.
1) é. 6.95 2) é. 7.06 3) é. 9.25 4) é. 10.06

2) According to Minimum Wages Act, average income of agricultural labour increased to the tune

of ................ as per day in 1981.

1) Rs.6.95 2) Rs. 7.06 3) Rs. 9.25 4) Rs.10.06

3) amï´>r` J«m‘rU l‘ Am`moJ (1991) Zwgma, 1987-88 Xaå`mZ, EHy$U 108.4 Xebj J«m‘rU Hw$Qw>§~m§n¡H$s ..............
Xebj Hw$Qw>§~o J«m‘rU H$m‘Jma Hw$Qw>§~mVrb hmoVr.
1) 40 2) 43 3) 46 4) 49

3) According to the National Commission on Rural Labour (1991), during 1987-88, out of a total

of 108.4 million rural households, ............. million households belonged to rural labour households.

1) 40 2) 43 3) 46 4) 49

4) Imcr ^maVmVrc ¶wdH$m§‘Yrc H$m¶© gh^mJ XamMm H$c Am{U ’$aH$ (1981-2011) Xe©{dcm Amho. ¶mo½¶ OmoS>çm
cmdm:
OZJUZm df© (I) EHy$U ¶wdH$m§Mm H$m‘mVrc gh^mJ (II)

a)$1981 i) 42.4
b)$1991 ii) 36.9
c)$2001 iii) 47.1
d)$2011 iv) 44.6
n¶m©¶r CÎmao …

(a) (b) (c) (d)$
1) (iii) (ii) (i) (iv)

2) (i) (iii) (iv) (ii)

3) (iii) (iv) (i) (ii)

4) (ii) (i) (iii) (iv)
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4) Following is work participation rate trend and differentials among youth in India (1981 — 2011).

Match the following pairs.

Cezsaus 'I’ota1Voutb Wor3z

Year (I) Participation (II)

(a)  1981 (i)  42.4

(b)  1991 (ii)  36.9

(c)  2001 (iii)  47.1

(d) 2011 (iv) 44.6

Answer Options :

(a) (b) (c) (d)

(1) (iii) (ii) (i) (iv)

(2) (i) (iii) (iv) (ii)

(3) (iii) (iv) (i) (ii)

(4) (ii) (i) (iii) (iv)

5) 1960 ‘Ü ò àH$m{eV Pmboë`m Xwgè`m H¥$fr H$m‘Jma Mm¡H$erZwgma, eoV‘Oya Hw$Qw>§~o hr gd© J«m‘rU Hw$Qw>§~m§À`m Odinmg
............... Q> o̧$ AmhoV.
1) 20 2) 25 3) 30 4) 35

5) According to the Second Agricultural Labour Enquiry published in 1960, agricultural labour

families constituted nearly ............... percent of all rural families.

1) 20 2) 25 3) 30 4) 35

6) 12 ì¶m n§Mdm{f©H$ ¶moOZoÀ¶m (2012-2017) A§XmOmZwgma Am¡nMm[aH$ ì¶dgm¶ {ejU {‘i{dcoë¶m 19 Vo 24
d¶moJQ>mVrc ^maVr¶ H$m‘Jmam§Mo à‘mU {H$Vr hmoVo ?
1) 5% nojm H$‘r 2) 10% Vo 15% 3) 16% Vo 20% 4) 21% Vo 35%

6) According to the estimates of the 12 h Five Year Plan (2012 — 2017), what was the proportion of

Indian workers in the age group of 19 to 24 years who have completed formal vocational education?

(1)  Less than 5% (2) 10%to15% (3)  16% to 20% (4)  21% to 35%

7) Imbrb {dYmZo {dMmamV ¿¶m.
a) godm joÌmVrb CËnmXZmÀ¶m VwbZoV amoOJmamVrb dmT> H$‘r XamZo Pmbr Amho.
b) 1990 À¶m H$mimV godm joÌmVrb amoOJma d¥Õr nojm ^maVmVrb l{‘H$m§Mr gamgar CËnmXH$Vm d¥Õr OmñV hmoVr.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo ~amo~a Amho/AmhoV ?
1) ’$º$ (a) 2) ’$º$ (b) 3) (a) Am{U (b) 4) ¶mn¡H$s Zmhr

7) Consider the following statements :

a) Employment increased at a slower rate as compared to output in the services sector.

b) Growth of average productivity of labour in India was higher than employment growth in services

sector during the period of 1990's.

Which of the statement is given above is/are correct ?

1) Only (a) 2) Only (b) 3) (a) and (b) 4)None of these

8) 1981-91 ‘Ü ò nwéfm§À`m H$m‘mVrb gh^mJmÀ`m XamV Pmbobr KgaU ............ nojm ............... ^mJmV A{YH$
ñnï> Amho. Á`m ^mJmV Vo Odinmg 49 Q> o̧$ pñWa Pmbo Amho.
1) ehar, J«m‘rU 2) Cn-ehar, J«m‘rU 3) J«m‘rU, ehar 4) ehar, Cn-ehar
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8) The fall in work participation rate of males during 1981-91 is more conspicuous in the ...............

areas than in the .............. areas where it has almost stabilized around 49 percent.

1) urban, rural 2) sub-urban, rural 3) rural, urban 4) urban, sub-urban

3) amoOJma {Z{‘©Vr H$m¶©H«$‘
1) J«m‘rU ŷ{‘hrZ amoOJma h‘r H$m¶©H«$‘ (RLEGP) Ho$ìhm gwê$ H$aÊ¶mV Ambm ?

1) 15 Am°JñQ> 1972 2) 15 Am°JñQ> 1983 3) 15 Am°JñQ> 1991 4) 15 Am°JñQ> 1993
1) When the Rural Landless Employment Guarantee Programme (RLEGP) was launched ?

1) 15August 1972 2) 15 August 1983 3) 15 August 1991 4) 15 August 1993

2) ‘hmË‘m Jm§Yr amï´>r¶ J«m‘rU amoOJma h‘r ¶moOZoA§VJ©V J«m‘rU ̂ mJmVrc nmÌ H$m‘Jmam§Zm dfm©VyZ {H$‘mZ {H$Vr {XdgmÀ¶m
amoOJmamMr h‘r XoÊ¶mV Amcr Amho ?
a) 110 {Xdg b)$ 100 {Xdg c)$ 90 {Xdg d) 30 {Xdg
n¶m©¶r CÎmao :
1) ’$º$ (c)$ 2) ’$º$ (d)$ 3) ’$º$ (b)$ 4) darcn¡H$s Zmhr

2) Under Mahatma Gandhi National Rural Employment Guarantee Scheme, how many minimum

number of days of  employment is guaranteed to eligible workers in rural areas in a year ?

(a)  110 days     (b)  100 days     (c)  90 days (d)  30 days

Answer Options :

'(1)  Only (c) (2)  Only (d) (3)  Only (b) (4)  None of the above

3) Imbrb {dYmZo {dMmamV ¿¶m …
a) g§nyU© J«m‘rU amoOJma ¶moOZm (SGRY) gßQ>|~a 2001 ‘Ü¶o gwê$ H$aÊ¶mV Ambr.
b) ‘hmË‘m Jm§Yr amï´>r¶ J«m‘rU amoOJma h‘r ¶moOZm (MGNREGS) ’o$~«wdmar 2006 ‘Ü¶o gwê$ H$aÊ¶mV Ambr.
c) Zohê$ amoOJma ¶moOZm (NRY) Am°³Q>mo~a 1989 ‘Ü¶o J«m‘rU J[a~m§À¶m ’$m¶ÚmgmR>r gwê$ H$aÊ¶mV Ambr.
da {Xboë¶m {dYmZ/{dYmZm§n¡H$s H$moUVo {dYmZ/{dYmZo ¶mo½¶ Amho/AmhoV?
1) (a) ’$º$ 2) (b) ’$º$ 3) (a) d (b) ’$º$ 4) (a) d (c) ’$º$

3) Consider the following statements :

a) Sampoorna Grameen Rozgar Yojana (SGRY) was launched September 2001.

b) Mahatma Gandhi National Rural Employment Guarantee Scheme (MGNREGS) was introduced

in February 2006.

c) The Nehru Rozgar Yojana (NRY) was launched in October 1989 for the benefit of the rural

poor.

Which of the following statement/s given above is/are correct ?

1) (a) only 2) (b) only 3) (a) and (b) only 4) (a) and (c) only

4) ñdU©O¶§Vr amoOJma ¶moOZm (SGSY) ¶mMr A§‘b~OmdUr ...... ‘m’©$V hmoVo.
a) ì¶mnmar ~±H$m b) àmXo{eH$ J«m‘rU ~±H$m c) ghH$mar ~±H$m d) naXoer ~±H$m
n¶m©¶r CÎmao …
1) (a) ’$º$ 2) (b) Am{U (c) 3) (a), (b) Am{U (c) 4) (a), (b) Am{U (d)
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4) The implementation of SGSY is done by :

(a)  Commercial Bank (b)  Regional Rural Bank

(c)  Co-operative Bank (d)  Foreign Bank

Answer options :

(1)  Only (a) (2)  (b) and (c) (3)  (a), (b) and (c) (4)  (a), (b) and (d)

5) {OëhmñVar¶ ñWm{ZH$ bmoH$m§Zm amoOJma g{‘VrMo AÜ¶j H$moU AgVmV ?
1) {Oëhm ghmæ¶H$ g§MmbH$, {Oëhm amoOJma d ñd¶§amoOJma ‘mJ©Xe©Z H|$Ð
2) ghmæ¶H$ H$m‘Jma Am¶wº$
3) ‘hmì¶dñWmnH$ {Oëhm CÚmoJ H|$Ð
4) darbn¡H$s EH$hr Zmhr.

5) Who is the chairman of the District Level Employment to local person committee ?

1) District Assistant Director, District Employment and Self Employment Guidance Centre

2) Assistant Labour Commissioner

3) General Manager, District Industries Centre

4) None of the above

6) Imbrbn¡H$s H$moUVr ¶moOZm H|$Ð nwañH¥$V ¶moOZm Amho ?
1) ‘w»¶‘§Ìr H¥$fr d AÞà{H«$¶m ¶moOZm 2) gm‘y{hH$ àmoËgmhZ ¶moOZm, 2013
3) Ob¶wº$ {edma A{^¶mZ 4) àYmZ‘§Ìr amoOJma {Z{‘©Vr ¶moOZm

6) Which of the following schemes is a centrally sponsored scheme?

1) Chief Minister Agriculture and Food Processing Scheme

2) Collective Incentive Scheme, 2013

3) Jalyukta Shivar Abhiyan

4) Pradhan Mantri Rozgar Nirman Yojana

7) ‘w»¶‘§Ìr amoOJma {Z{‘©Vr H$m¶©H«$‘ ¶moOZo~m~V Imbrb {dYmZo {dMmamV ¿¶m.
a) nmÌ CÚmoJ/ì¶dgm¶ A§VJ©V CËnmXZ àH$mamÀ¶m àdJm©Vrb àH$ënmgmR>r àH$ën qH$‘V H$‘mb ‘¶m©Xm én¶o 50.00

bmI Amho.
b) {deof àdJm©‘Ü¶o AZwgy{MV OmVr/O‘mVr/‘{hbm/An§J/‘mOr g¡{ZH$ ¶m àdJm©Mm g‘mdoe Amho.
c) nmÌ CÚmoJ/ì¶dgm¶ A§VJ©V godm àdJ© àH$ënmgmR>r àH$ën qH$‘V H$‘mb ‘¶m©Xm é.30 bmI Amho.
d) e¡j{UH$ nmÌVm é.25 bmImdarb àH$ënmgmR>r 10 dr CÎmrU©.
darbn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a AmhoV ?
1) (a) ’$º$ 2) (a) Am{U (b) ’$º$ 3) (a), (b) Am{U (c) 4) (a), (b) Am{U (d)

7) Consider the following statements related to Chief Minister Employment Generation Programme

Scheme :

a) Project cost for manufacturing category is Rs.50.00 lakh (maximum) for eligible enterprise

b) Special category includes SC/ST/women/differently abled/Ex-service men.

c) Project cost for Service Category Project is Rs.30 lakh (maximum) under eligible enterprise

d) Educational qualification : 10th Std. pass for the project above Rs.25 lakh.

Which of the statement given above is/are correct ?

1) (a) only 2) (a) and (b) only 3) (a), (b) and (c) 4) (a), (b) and (d)
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8) ~§S>ImoarZo J«mgcoë¶m àXoemVrc ¶wdH$m§gmR>r Imcrcn¡H$s H$moUVo CnH«$‘ am~{dÊ¶mV Amco AmhoV ?
a)$Zjc à^m{dV {OëømV H$m¡eë¶ {dH$mg ¶moOZo A§VJ©V Am¶. Q>r. Am¶. d  H$m¡eë¶ H|$Ð H$m¶m©pÝdV Ho$co.
b)$Oå‘y d H$mpí‘aÀ¶m ¶wdH$m§gmR>r "gX²̂ mdZm" CnH«$‘mÛmao amï´>r¶ EH$Vm ghctMo Am¶moOZ H$aÊ¶mV Amco.
n¶m©¶r CÎmao :
1) ’$º$ (b)$ 2) ’$º$ (b)$ 3) (a)$Am{U (b)$ 4) darcn¡H$s Zmhr

8)  Which of the following  activities  were  implemented  for  the youth of the rebel-affected

region ?

(a) I.T.I. and skill development centers are executed in the Naxal affected districts.

(b) Organized national unity tours for the youth of Jammu and Kashmir through ‘Sadbhavna’

Initiative.

Answer Options :

(1)  Only (a) (2)  Only (b) (3)  (a) and (b) (4)  None of the above

9) Imcrcn¡H$s H$moUË¶m ¶moOZoMm CÔoe hm "ZmoH$ar ‘mJUmam, ZmoH$ar XoD$ eHo$c" hm Amho ?
a)$ñQ>mQ>©An B§{S>¶m b)ñQ>°ÊS> An B§{S>¶m c)$H$m¡eë¶ ^maV d)$‘oH$ BZ B§{S>¶m
n¶m©¶r CÎmao …
1) ’$º$ (d)$ 2) ’$º$ (b)$
3) (a),$(c)$Am{U (d)$ 4) darcn¡H$s gd©

9) Which of the following schemes aim ia job aeeker will be job providef ?

(a)  Startup India             (b)  Stand up India (c)  Skill India               (d)  Mabe in India

Answer Options :

(1)  Only (d) (2)  Only (b) (3)  (a), (c) and (d) (4)  All of the above
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(5) {d{dY d§{MV JQ>m§À`m g§X^m©V gd©g‘mdoeH$Vm d gm‘m{OH$ gwajm
1) gd©g‘mdoeH$Vm d g‘mdoeH$ d¥Õr
2) {dÎmr¶ g‘mdoeZmMo H$m¶©H«$‘

*  gm‘m{OH$ gwajm-{d{dY KQ>H$mgmR>r gdbVr d AZwXmZo>
3) AZwgy{MV OmVtMr gwajm Am{U {dH$mg
4) AZwgy{MV O‘mVtMr gwajm Am{U {dH$mg
5) ‘mJmgdJu¶m§Mr gwajm Am{U {dH$mg
6) Aëng§»¶m§H$m§Mr gwajm Am{U {dH$mg
7) Á òð> ZmJ[aH$m§Mr gwajm Am{U {dH$mg
8) {Xì¶m§Jm§Mr gwajm Am{U {dH$mg
9) H$m‘Jmam§Mr gwajm Am{U {dH$mg
10) eoVH$ar d eoV‘Owam§Mr gwajm Am{U {dH$mg

1)  gd©g‘mdoeH$Vm d g‘mdoeH$ d¥Õr
1) ^maVmV ...... ¶m ¶moOZoZo g‘mdoeH$ d¥ÕrMm nm¶m KmVbm.

1) AmR>dr n§Mdm{f©H$ ¶moOZm 2) Xhmdr n§Mdm{f©H$ ¶moOZm
3) AH$amdr n§Mdm{f©H$ ¶moOZm 4) ¶mn¡H$s Zmhr

1) ............ laid the basis for inclusive growth in India.

(1) 18 five year plan (2) 10 five year plan .

(3) 11 five year plan (4) None of these

2) Imbrbn¡H$s H$moUË¶m ñd¶§godr g§ñWm, øm 2007 À¶m ñd¶§godr joÌ amï´>r¶ YmoaUmÀ¶m AIË¶marV ¶oVmV ?
a) Am¡nMm[aH$ d AZm¡nMm[aH$ JQ> b) g‘mOJQ>mYm[aV g§ñWm
c) Y‘m©Xm¶ g§ñWm d) g‘W©H$ g§ñWm
n¶m©¶r CÎmao …
1) ’$º$ (c) 2) ’$º$ (a) Am{U (b) 3) ’$º$ (a), (b) Am{U (c) 4) darb gd©

2) National Policy on Voluntary Sector (2007) covers which of the following voluntary organisations?

a) Formal and Informal Groups b) Community-based organizations

c) Charitable organizations d) Support organizations

Answer Options:

1) Only (c) 2) Only (a) and (b) 3) Only (a), (b) and (c)    4) All of the above

3) Imbrbn¡H$s H$moUmMo A{YH$ma BVa {VKm§nojm doJio AmhoV ?
1) {Oëhm ‘§M 2) amÁ¶ Am¶moJ 3) amï´>r¶ Am¶moJ 4) H$m¶Xm Am¶moJ

3) Which of the following authorities is dissimilar to another three ?

1) District Forum 2) State Commission 3) National Commission  4) Law Commission
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2)  {dÎmr¶ g‘mdoeZmMo H$m¶©H«$‘
1) àYmZ‘§Ìr OrdZ Á¶moVr {d‘m ¶moOZoMm dm{f©H$ hám {H$Vr Amho ?

1) é.220 2) é.230 3) é.330 4) é.130
1)  What is the annual premium of Pradhan Mantri Jeevan Jyoti Bima Yojana?

1) Rs.220 2) Rs.230 3) Rs.330 4) Rs.130

2) {dÎmr¶ ÑîQ>çm d§{MV KQ>H$m§‘Ü¶o ‘moR>çm à‘mUmda nwT>rcn¡H$s H$moUË¶m KQ>H$m§Mm g‘mdoe hmoVmo ?
a) ŷ{‘hrZ ‘Oya b) emar[aH$ ÑîQ>çm {dH$cm§J       c) ‘{hcm d ‘wco d) darc gd©
darcn¡H$s H$moUVr {dYmZ/{dYmZo ~amo~a Amho/AmhoV ?
1) (a) d (b) 2) (b) d (c) 3) (a) d (c) 4) ’$º$ (d)

2) Finally disadvantaged components are largely comprised of which of the following factors?

a) Landless labour b) Physically handicapped

c) Women and childrend) All of the above

Which of the statement/statements given above is/are correct ?

1) (a) and (b) 2) (b) and  (c) 3) (a) and  (c) 4) Only (d)

3) ""’°${‘br H«o${S>Q> ßb°Z'' H$moUË¶m H$m¶©H«$‘mer/¶moOZoer g§~§{YV Amho ?
1) Amídm{gV amoOJma ¶moOZm 2) Odmha amoOJma ¶moOZm
3) {ó¶m Am{U ~mbH$m§Mm {dH$mg ¶moOZm 4) EH$mpË‘H$ J«m‘rU {dH$mg H$m¶©H«$‘

3) Which programme/scheme is related to “Family Credit Plan” ?

(l)  Employment Assurance Scheme

(2) Jawahar Employment Scheme

(3) Development of Women and Children Scheme

(4) Integrated Rural Development Programme

4) ^maVmVrb AÞYmÝ¶ AZwXmZo ¶mV ¶mMm g‘mdoe hmoVmo …
A) eoVH$è¶m§gmR>rMr AZwXmZo
~) Cn^mo³Ë¶m§Mr AZwXmZo
H$) ^maVr¶ AÞYmÝ¶ ‘hm‘§S>imgmR>rMr AZwXmZo
n¶m©¶r CÎmao …
1) ’$º$ A Am{U ~ 2) ’$º$ ~ Am{U H$ 3) ’$º$ A Am{U H$ 4) darbn¡H$s gd©

4) Food subsidy in India comprises of ......

a) Subsidies to farmers

b) Subsidies to consumers

c) Subsidies to Food Corporation of India

Answer Options :

1) Only a and b 2) Only b and c 3) Only a and c 4) All of the above

5) WoQ> bm^ hñVm§VaU (DBT) ¶moOZoMr ¶mn¡H$s H$moUVr C{Ôï>o AmhoV?
A) bú¶ gwYmaUm ~) «̂ï>mMma H$‘r H$aUo H$) Anì¶¶ Q>miUo S>) IMm©da {Z¶§ÌU {‘idUo
n¶m©¶r CÎmao …
1) ’$º$ A Am{U ~ 2) ’$º$ ~ Am{U S> 3) ’$º$ A, ~ Am{U H$ 4) darbn¡H$s gd©
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5) The Direct Benefit Transfer (DBT) plan aims at ......

a) improving targeting b) reduce corruption

c) eliminate waste d) control expenditure

Answer Options :

1) Only a and b 2) Only b and d 3) Only a, b and c 4) All of the above

6) àË¶j hñVm§Va bm^ (PAHAL) ¶m ¶moOZo~m~V Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV ?
a) gXa ¶moOZoMr Zm|X {JZrO ~wH$ Am°’$ dëS>© aoH$m°S>© ‘Ü¶o Pmbr, H$maU gdm©V ‘moR>o WoQ> bm^ hñVm§VaU åhUyZ.
b) ¶m ¶moOZo A§VJ©V eoVH$è¶m§Zm Xa‘hm é.2,000 hñVm§V[aV hmoVmV.
c) gXa ¶moOZoMr gwédmV gZ 2019 ‘Ü¶o Pmbr.
d) Eb.nr.Or. J°g YmaH$m§Zm {Xbo OmUmao AZwXmZ ¶m ¶moOZo A§VJ©V hñVm§V[aV hmoVo.
n¶m©¶r CÎmao …
1) (a), (b) Am{U (c) ~amo~a AmhoV 2) (a) Am{U (b) ~amo~a Amho.
3) (a) Am{U (d) ~amo~a Amho. 4) (b), (c) Am{U (d) ~amo~a AmhoV

6) Which of the following statements are true regarding Direct Benefit Transfer (PAHAL) scheme?

(a)  The scheme was recorded in the Guinness Book of World Records, being largest DBT.

(b) Under the scheme, farmers getting T 2,000 per month directly in their account.

(c)  The scheme was started in 2019.

(d) Subsidy to LPG holders is transferred under the scheme.

Answer Options :

(1) (a), (b) and (c) are correct (2)  (a) and (b) are correct

(3) (a) and (d) are correct (4)  (b), (c) and (d) are correct

7) gmd©O{ZH$ Xm{¶Ëd {d‘m àH$mam‘Ü¶o Imbrbn¡H$s H$moUË¶m KQ>Zm ‘moS>VmV ?
1) AnKmVr ‘¥Ë¶y
2) emar[aH$ BOm
3) {d‘mYmaH$mÀ¶m hbJOunUm‘wio V¥Vr¶ njm§À¶m ‘mb‘Îmog Pmbobo ZwH$gmZ
4) darb gd©

7) Which of the following incidents fall into the category of Public Liability Insurance ?

1) Accidental death

2) Physical injury

3) Damage to third party property due to negligence of the insured

4) All of the above

3) AZwgy{MV OmVtMr gwajm Am{U {dH$mg
1) S>m°. ~m~mgmho~ Am§~oS>H$a H¥$fr ñdmdb§~Z ¶moOZ|VJ©V AZwgy{MV OmVrVrb bm^mÏ¶m©bm H$moUVm bm^ {Xbm OmVmo?

1) KaHw$b 2) {dhra 3) JmoR>m 4) eoir JQ>
1) Dr. What benefit is given to the Scheduled Caste beneficiary under Babasaheb Ambedkar Agricul-

tural Swavalban Yojana?

1) Gharkul 2) Well 3) Manger 4) Goat group
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2) A¶mo½¶ H$WZ/Zo AmoiIm -
a) àmW{‘H$ emio‘Ü¶o AZwgy{MV OmVrVrb ‘wbm§Mr Zm|XUr 2010-11 ‘Ü¶o 19.06% dê$Z 2015-16 ‘Ü¶o 19.8%

n¶ªV dmT>br Amho.
b) àmW{‘H$ emio‘Ü¶o ‘wñcr‘ ‘wbm§Mr Zm|XUr 2010-11 ‘Ü¶o 12.50% dê$Z 2015-16 ‘Ü¶o 13.8% n¶ªV dmT>br

Amho.
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (b) 3) (a) d (b) XmoÝhr 4) ¶mn¡H$s Zmhr

2) Select the incorrect stateozent/s —

a) Enrolment of Scheduled Caate children has grown from 19-06% in 2010 — 11 to 19 8% in

2015 — 16 at elementary level.

b) Enrolment of Muslim children has grown from 12-50 b in 2010 — 11 to 13-8% in 2015 — 16

at elementary level.

Answer Options :

1) Only (a) 2) Only (b) 3) Both (a) and (b) 4) None of the above

4) AZwgy{MV O‘mVtMr gwajm Am{U {dH$mg
1) ‘hmamï´> AZwgy{MV O‘mVtZm O{‘Zr àË`m{n©V H$aÊ¶mgmR>rMm A{Y{Z¶‘ ........

1) 1976 2) 1974 3) 1975 4) 1973
1) An Act to transfer lands to the Scheduled Tribes of Maharashtra ..........

1) 1976 2) 1974 3) 1975 4) 1973

2) Am{Xdmgr {dH$mg {d^mJmMr ñdV§ÌnUo ñWmnZm H$Yr H$aÊ¶mV Ambr ?
1) 9 Am°JñQ>, 1972 2) 22 E{àb, 1976 3) 9 Am°JñQ>, 1980 4) 22 E{àb, 1983

2) When was the Tribal Development Department established separately?

1) August 9, 1972 2) April 22, 1976 3) August 9, 1980 4) April 22, 1983

3) {Oëhm dm{f©H$ Am{Xdmgr Cn¶moOZoV ZmdrÝ`nyU© ¶moOZoMm g‘mdoe H$moUË¶m dfm©nmgyZ H$aÊ¶mV Ambm ?
1) gZ 2014-15 2) gZ 2013-14 3) gZ 2015-16 4) gZ 2016-17

3) From which year innovation scheme was included in district annual tribal deployment?

1) Year 2014-15 2) Year 2013-14 3) Year 2015-16 4) Year 2016-17

4) AZwgy{MV O‘mVrÀ¶m ‘wbm‘wbtZm naXoemV {ejUmgmR>r {eî¶d¥Îmr XoÊ¶mÀ¶m ¶moOZ|VJ©V {eî¶d¥ÎmrH$[aVm nmÌ R>aUmè¶m
{dÚmÏ¶mªÀ¶m Hw$Qw>§~m§Mo dm{f©H$ CËnÞ ‘¶m©Xm ...... n¶ªV Amho.
1) 2.00 bj 2) 10.00 bj 3) 4.00 bj 4) 6.00 bj

4) The annual income limit of families of students eligible for scholarship under the scheme of

providing scholarship for education abroad to Scheduled Tribe children is up to …….

1) 2.00 lakhs 2) 10.00 lakhs 3) 4.00 lakhs 4) 6.00 lakhs

5) Am{Xdmgr Cn¶moOZm joÌmVrb ¶moOZm§Mm/H$m¶©H«$‘m§Mm AmT>mdm KoÊ¶mgmR>r àH$ënñVar¶ {Z¶moOZ d ‘yë¶‘mnZ g{‘Vr‘Ü¶o
{H$Vr AemgH$s¶ gXñ¶m§Mm g‘mdoe AgVmo ?
1) 2 2) 4 3) 6 4) 8
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5) How many non-governmental members are included in the project level planning and evaluation

committee to review the schemes/programmes in the tribal development sector?

1) 2 2) 4 3) 6 4) 8

6) Am{Xdmgr {dH$mg {d^mJmÀ¶m 13/9/2019 À¶m emgZ {ZU©¶mAÝd¶o ZdrZ {H$Vr g{‘VrMr ñWmnZm H$aÊ¶mV Ambr?
1) 5 2) 6 3) 7 4) 8

6) How many new committees were established under the Government decision of Tribal Develop-

ment Department dated 13/9/2019?

1) 5 2) 6 3) 7 4) 8

7) Vm§S>m/dñVr gwajm ¶moOZ|VJ©V 100 Vo 150 bmoH$g§»¶m Agbobo Vm§S>o/dñË¶m ¶m§H$[aVm {H$Vr ‘¶m©Xon¶ªV AZwXmZ
{dVarV H$aÊ¶mV ¶oVo?
1) é. 5.00 bmI 2) é. 10.00 bmI 3) é. 4.00 bmI 4) é. 6.00 bmI

7) To what extent subsidy is disbursed under Tanda/Vasti Suraksha Yojana for Tandas/Vastis having

population of 100 to 150?

1) Rs. 5.00 lakhs 2) Rs. 10.00 lakhs 3) Rs. 4.00 lakhs 4) Rs. 6.00 lakhs

8) A{báVmdmX {gÕm§VmMo àUoVo åhUyZ H$moUË¶m ‘mZdemókmMo Zmd KoVbo OmVo ?
1) ìho[aAa EpëdZ 2) S>m°. Or. Eg. Kẁ } 3) S>m°. S>r. EZ. ‘wOw‘Xma 4) S>m°. BamdVr H$d}

8) Which anthropologist is credited as the pioneer of separatism theory?

1) Verrier Alvin 2) Dr. G. S. Ghurye 3) Dr. D. N. Mujumdar 4) Dr. Irawati Curve

9) A{báVmdmX hm Am{X‘m§À¶m g‘ñ¶odarb Cnm¶ gd©àW‘ H$moUr ‘m§S>bm ?
1) S>m°. hQ>Z 2) R>¸$a ~mßnm 3) S>m°. ‘wOw‘Xma 4) S>m°. EpëdZ

9) Who first proposed separatism as a solution to the problem of primitives?

1) Dr. Hutton 2) Thakkar Bappa 3) Dr. Mujumdar 4) Dr. Alvin

10) Am{XdmgtMo gm{‘brH$aU hr g§H$ënZm Imbrbn¡H$s H$moUr ‘m§S>br ?
1) S>m°. Or. Eg. Kw¶} 2) S>m°. ‘wOw‘Xma 3) S>m°. lr{Zdmg 4) S>m°. EpëdZ

10) Who among the following proposed the concept of integration of tribals?

1) Dr. G. S. Ghurye 2) Dr. Mujumdar 3) Dr. Srinivas 4) Dr. Alvin

11) ""Am{Xdmgr ^mJmV H$m‘ H$ê$ BpÀN>Umè¶m A{YH$mè¶mZo Am{XdmgtÀ¶m OrdZmV g§nyU©nUo g‘ag hmoUo Amdí¶H$ Amho.
Ë¶m§À¶m gwI-Xþ…ImV Ë¶m§Zr gh^mJr Pmbo nm{hOo. Ë¶m§À¶m PmonS>çmV OmD$Z Ë¶m§À¶mer ~mobÊ¶mMr, Ë¶m§À¶m ~amo~a
H$moa^a ̂ mH$a Ë¶m§Mr V¶mar Agbr nm{hOo. AmnU H$moUrVar doJio AWdm ‘moR>o AmhmoV Agm Ah§JS> Z ~miJVm Ë¶m§À¶mV
{‘giyZ Ë¶m§Mo ào‘, {dídmg d AmXa {Z‘m©U Ho$bm nm{hOo.'' Ago Am{XdmgtÀ¶m EH$sH$aUm{df¶r H$moUr ‘V àJQ> Ho$bo?
1) ‘hmË‘m Jm§Yr 2) n§{S>V Zohê$ 3) dra gmdaH$a 4) S>m°. ~m~mgmho~ Am§~oS>H$a

11) "An officer who wishes to work in a tribal area must become completely assimilated into the life

of the tribals. He should participate in their joys and sorrows. They should be ready to go to their

huts and talk to them, have a hearty meal with them. We should mingle with them and create their

love, trust and respect without having the ego that we are someone different or bigger." Who

expressed such an opinion about the integration of tribals?

1) Mahatma Gandhi 2) Pandit Nehru 3) Veer Savarkar      4) Dr. Babasaheb Ambedkar
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12) AZwgy{MV O‘mVr d BVa nma§nm[aH$ dZ {Zdmgr (dZh¸$m§Mr ‘mÝ¶Vm) A{Y{Z¶‘ 2006 H$moUË¶m amÁ¶mbm bmJy Zmhr?
1) {X„r 2) A§X‘mZ {ZH$mo~ma 3) Oå‘y d H$mí‘ra 4) n§Om~

12) Scheduled Tribes and Other Traditional Forest Dwellers (Recognition of Forest Rights) Act 2006

is not applicable to which state?

1) Delhi 2) Andaman and Nicobar     3) Jammu and Kashmir 4) Punjab

13) Am{XdmgrÀ¶m gm‘y{hH$ {dH$mgmgmR>r B.g. 1954 ‘Ü¶o g§¶wº$ amï´>g§KmÀ¶m EH$m {d^mJr¶ n[afXo‘Ü¶o Imbrb C{Ôï>o
ñdrH$maÊ¶mV Ambr ?
A) gm‘y{hH$ {dH$mgm‘wio OrdZ‘mZ C§MmdÊ¶mgmR>r à¶ËZ ìhm¶bm hdoV. Ë¶mgmR>r Amdí¶H$ {‘ÌËdmMo dmVmdaU V¶ma
H$aUo.
~) CnbãY gm‘J«rÀ¶m AmYmamda {dH$mg KS>dyZ AmUUo AmUUo Am{U gw¶mo½¶ ZmJ[aH$ KS>{dUo.
H$) nma§nm[aH$ V§ÌkmZ Am{U {dH$mg ¶mVyZ CnbãY kmZmMm Cn¶moJ H$ê$Z g‘mOmon¶moJr H$m¶©H«$‘ am~{dUo.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo gË¶ Amho/AmhoV?
1) ’$º$ "H$' 2) ’$º$ "A' 3) ’$º$ "~' 4) "~' Am{U "H$'

13) for collective development of tribals. In 1954, the following goals were adopted in a regional

conference of the United Nations?

a) Efforts should be made to raise the standard of living through collective development. Creat-

ing the necessary friendly atmosphere for that.

b) Bringing about development on the basis of available materials and making fit citizens.

c) Implementation of socio-economic programs using knowledge available from traditional tech-

nology and development.

Which of the above statement/s is/are true?

1) c only 2) a only 3) b only 4) b and c

14) Zdg§OrdZ ¶moOZm g‘mOmVrb H$moUË¶m KQ>H$mgmR>r am~{dbr OmVo ?
1) AZwgy{MV OmVr 2) {d‘wº$ d ^Q>³¶m O‘mVr 3) Am{Xdmgr 4) BVa ‘mJmg dJ©

14) Navsanjivan Yojana is implemented for which section of the society?

1) Scheduled Castes 2) Denotified and Nomadic Tribes

3) Tribals 4) Other Backward Classes

15) Imcrcn¡H$s H$moUVr H$maUo ^maVmVrc Am{XdmgtMo àíZ J§̂ ra hmoÊ¶mg H$maUr ŷV R>acr AmhoV ?
a)$Am{X‘ g§ñH¥$VrMm èhmg b)$O§Jc{df¶H$ H$m¶Xo
c) {dH$mg àH$ënm§‘wio hmoUmao {dñWmnZ d)$Am{XdmgtMo Y‘mªVa
n¶m©¶r CÎmao …
1) (a),(b)$Am{U (c)$ 2)  (a),(c)$Am{U (d)$ 3) (b)$Am{U (c)$ 4) darcn¡H$s gd©

15) Which of the following causes are responsible for the problems of tribals in India to be serious?

(a)  Decline of tribal culture    (b)  Forest laws

(c)  Displacement due to development projects    (d)  Conversion of tribals Aoawe  Optiozte :

Answer Options :

(1)  (a), (b) and (c) (2)  (a), (c) and (d) (3)  (b) and (c) (4)  All of the above
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16) H|$Ð gaH$ma ‘m’©$V ‘hmamï´>mV Q´>m¶’o$S> A§VJ©V àYmZ‘§Ìr dZ YZ ¶moOZm am~{dÊ¶mgmR>r ZmoS>b EOÝgr åhUyZ H$moU H$m‘
nmhVo ?
1) Am{Xdmgr g§emoYZ d à{ejU g§ñWm, nwUo 2) Am{Xdmgr {dH$mg ‘hm‘§S>i
3) dZ {dH$mg ‘hm‘§S>i 4) e~ar ‘hm‘§S>i

16) Who acts as the nodal agency for implementation of Pradhan Mantri Van Dhan Yojana under

TRIFED in Maharashtra through the Central Government?

1) Tribal Research and Training Institute, Pune 2) Tribal Development Corporation

3) Forest Development Corporation 4) Sabari Corporation

17) S>m°. ‘wOw‘Xma ¶m§Zr Am{Xdmgt‘Ü¶o Zm|X{dboë¶m g‘ñ¶m§n¡H$s Imbrbn¡H$s H$moUVr g‘ñ¶m g‘m{dï> hmoV Zmhr ?
1) Ý¶m¶mb¶rZ ì¶dñWm 2) ñWmZm§V[aV eoVr
3) ~mb{ddmh 4) AnhaU {ddmh JwÝhm R>a{dÊ¶mV Ambm.

17) Dr. Which of the following is not included among the problems mentioned by Mujumdar among

tribals?

1) Judicial system 2) Shifting agriculture

3) Child marriage 4) Kidnapping marriage was made a crime.

18) AZwgy{MV O‘mVr d BVa nma§nm[aH$ dZ {Zdmgr (dZh¸$m§Mr ‘mÝ¶Vm) A{Y{Z¶‘ 2006 ¶m H$m¶Úm A§VJ©V ""amÁ¶ñVar¶
g§{Z¶§ÌU g{‘Vr'' ‘Ü¶o AÜ¶j åhUyZ H$moU H$m‘H$mO nmhVmo ?
1) g{Md, dZ {d^mJ 2) g{Md, Am{Xdmgr {dH$mg {d^mJ
3) ‘w»¶ g{Md, ‘hmamï´> amÁ¶ 4) g{Md, ‘hgyb {d^mJ

18) Who acts as the Chairman in the "State Level Monitoring Committee" under the Scheduled Tribes

and Other Traditional Forest Dwellers (Recognition of Forest Rights) Act, 2006?

1) Secretary, Forest Department 2) Secretary, Tribal Development Department

3) Chief Secretary, Maharashtra State 4) Secretary, Revenue Department

19) amï´>r¶ AZwgy{MV O‘mVr Am¶moJm~m~V (NCST) Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV ?
a) hr EH$ KQ>ZmË‘H$ g§ñWm Amho Or 2004 ‘Ü¶o ApñVËdmV Ambr Amho.
b) AZwgy{MV O‘mVrÀ¶m h¸$ Am{U g§ajUmÀ¶m d§MZo{damoYmV {d{eï> VH«$matMr Mm¡H$er H$aUo, ho Am¶moJmMo H$m¶© Amho.
c) Am{Xdmgr g‘mOmMm gmjaVm Xa gwYmaÊ¶mgmR>r hm Am¶moJ H$m‘ H$aVmo.
d) Am{Xdmgr ‘{hbm§Mo gj‘rH$aU gwb^ H$aUo, ho Am¶moJmMo H$m¶© Amho.
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (a) Am{U (b) 3) ’$º$ (a), (b) Am{U (c) 4) darbn¡H$s gd©

19) Which of the following statements is/are correct about National Commission for Scheduled

Tribes [NCST]?

a) Itis a constitutional body which came into existence in 2004.

b) Its function is to inquire into specific complaints with respect to the deprivation of rights and

safeguards of Scheduled Tribes.

c) It works to improve literacy rate of Tribal community.

d) Its function is to facilitate women empowerment of Tribal women.

Answer Options :

1) Only (a) 2) Only (a) and (b) 3) Only (a), (b) and 4) All of the above
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20) gm{‘brH$aU {gÕm§VmV Am{XdmgtgmR>r H$moUVm Cnm¶ H$aÊ¶mV ¶oVmo ?
1) àJV g‘mOmnmgyZ doJio R>odUo 2) àJV g‘mOmer {d{bZrH$aU H$aUo
3) àJV g‘mOmV g§Kf© H$aUo 4) àJV g‘mOmbm S>mdbUo

20) What solution is provided for tribals in integration theory?

1) Separation from advanced society 2) Merger with advanced society

3) Struggle in advanced society 4) Marginalize advanced society

21) "Am{XdmgtZm gÜ¶m g‘mOmnmgyZ doJio R>odbo nm{hOo' hm {dMma Imbrbn¡H$s H$moUË¶m {gÕm§VmVyZ àVrV hmoVmo ?
1) n¥WH$Vm 2) gmË‘rH$aU 3) EH$mË‘Vm 4) gm§ñH¥${VH$ g‘m¶moOZ

21) From which of the following theories is this thought that tribals should be kept separate from the

society at present?

1) Isolation 2) Assimilation 3) Integration 4) Cultural adjustment

5) ‘mJmgdJu¶m§Mr gwajm Am{U {dH$mg

6) Aëng§»¶m§H$m§Mr gwajm Am{U {dH$mg

7) Á òð> ZmJ[aH$m§Mr gwajm Am{U {dH$mg
1) ^maV gaH$maZo A§VJ©V AQ>c noÝeZ ¶moOZm (E nr dm¶) g§X^m©V Imcrc {dYmZm§Mm {dMma H$am  :

a)$AQ>c noÝeZ ¶moOZm n§VàYmZ Za|Ð ‘moXr ¶§mZr 9 ‘o, 2016 amoOr Zdr {X„r ¶oWo gwé Ho$cr.
b)Ag§K{Q>V joÌmVrc H$m‘Jmam§Zm d¥ÕmnH$mimMr CËnÞ gwajm àXmZ H$aÊ¶mgmR>r ñdmdc§~Z ¶moOZoÀ¶m EodOr hr ¶moOZm

A§‘cmV AmUcr Jocr.
c)$Am{W©H$ df© 2021 - 22 ‘Ü¶o ¶m ¶moOZoMr gXñ¶ g§»¶m 3.68 H$moQ>rhÿZ A{YH$ Pmcr.
{Xcoco H$moUVo {dYmZ/{dYmZo A¶mo½¶ Amho/AmhoV ?
1) {dYmZ (a)$ A¶mo½¶ Amho 2) {dYmZo (a)$ Am{U (b)$ A¶mo½¶ AmhoV
3) {dYmZo (a)$ Am{U (c)$ A¶mo½¶ AmhoV 4) {dYmZo (a), (b)$ Am{U (c)$A¶mo½¶ AmhoV

1) Consider the following statements with respect to the Ata1 Pension Yojana (APY) of the

Government of India :

(a) The Atal Pension Yojana was launched by Prime Minister Narendra Modi on 9th May, 2016

in New Delhi.’

(b) This scheme replaces Swavalamban Yojana and is established to provide old age income

security  to the workers belonging to the unorganized sector.

(c) During the financial year 2021 — 22, the total number of subscribers of this scheme crossed

3.68 crores.

Which of the given statement/s is/are incorrect ?

(1)  (a) statement is incorrect (2)  (a) and (b) statements are incorrect

(3)  (a) and (c) statements are incorrect (4)  All (a), (b), (c) are incorrect
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2) d¶mod¥Õ ì¶º$s¨gmR>r Imcrcn¡H$s H$moUË¶m ¶moOZo A§VJ©V {Zd¥Îmr doVZ {‘iVo ?
1) d¥Õm§À¶m Amamo½¶ H$miOrgmR>r amï´>r¶ H$m¶©H«$‘ 2) B§{Xam Jm§Yr amï´>r¶ d¥ÕÎd {Zd¥Îmr doVZ ¶moOZm
3) {d‘m ¶moOZm 4) Á¶oð> ZmJ[aH$ H$ë¶mU {ZYr

2) Which of the following schemes provides pensions for the old ?

(1)  National Programme for the Health Care of Elderly

(2)  Indira Gandhi National Old Age Pension Scheme

(3)  Vima Yojana

(4)  Senior Citizens Welfare Fund

8) {Xì¶m§Jm§Mr gwajm Am{U {dH$mg
1) An§J-Aì¶§J ì¶º$sÀ¶m {ddmhmg àmoËgmhZ XoÊ¶mgmR>r Am{W©H$ ghmæ¶mÀ¶m ¶moOZ|VJ©V AO©XmamMo An§JËd {H$‘mZ ......

AWdm Ë¶mnojm OmñV Agmdo bmJVo.
1) 60% 2) 40% 3) 50% 4) 30%

1) Under the scheme of financial assistance to promote the marriage of disabled persons, the dis-

ability of the applicant must be at least ... or more.

1) 60% 2) 40% 3) 50% 4) 30%

9) H$m‘Jmam§Mr gwajm Am{U {dH$mg
1) ^maVmVrc Jar~ cmoH$m§Zm gm‘m{OH$ gwajm XoÊ¶mgmR>r g§nyU© J«m‘rU amoOJma ¶moOZoMm àma§̂  H$aÊ¶mV Amcm hmoVm. ¶m

¶moOZoMo Imcrcn¡H$s H$moUVo C{Ôï> hmoVo ?
1) H$m‘mÀ¶m ~Xë¶mV YmÝ¶ nwa{dUo.
2) J«m‘rU ^mJmVrc AÞgwajm gwYmaÊ¶mgmR>r doVZ amoOJma XoUo.
3) amoOJmamMm h¸$ hm ‘yc ŷV h¸$ ~ZdUo.
4) ŷ{‘hrZ ‘Owam§Zm amoOJma XoUo.

1) What was the objective of the Grameen Rojgar Yojana which was initiated as a part of the

programme towards providing social safety to poor in India ?

1) To provide food for work.

2) To provide wage employment in rural areas to improve food security.

3) To make 'right to work' as a fundamental right.

4) To provide employment for landless labourers.

2) noÝeZg§~§Yr àYmZ‘§Ìr l‘¶moJr ‘mZYZ ¶moOZm ^maVr¶ AW©ì¶dñWoVrb H$moUË¶m joÌmVrb H$m‘Jmam§gmR>r bmJy Ho$br
Amho?
1) ~m§YH$m‘ ‘Oya 2) ÑH²$ lmì¶ H$m‘Jma
3) ‘Ü¶mÝh ^moOZ CnH«$‘mVrb H$m‘Jma 4) darbn¡H$s VrZhr

2) Pension Scheme, Pradhanmantri Shramyogi Mandhan Yojana is applicable for which of the

following in India?

1) Construction workers 2) Audio-Visual workers

3) Mid-day-meal workers 4) All the three mentioned above
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10) eoVH$ar d eoV‘Owam§Mr gwajm Am{U {dH$mg
1) ‘w»¶‘§Ìr gm¡a H¥${f n§n `moOZoA§VJªV gd©gmYmaU JQ>mgmR>r bm^mWu {hñgm {H$Vr Q> o̧$ Amho ?

1) 5% 2) 7% 3) 15% 4) 10%
1) What is the percentage of beneficiary share for general group under Chief Minister Solar Agri-

culture Pump Yojana?

1) 5% 2) 7% 3) 15% 4) 10%

2) àYmZ‘§Ìr {H$gmZ gÝ‘mZ {ZYr ¶moOZ|VJ©V nmÌ eoVH$è¶mg .............. {ZYrMm bm^ AZwko¶ Amho.
1) é.9,000 2) é.6,000 3) é.10,000 4) é.15,000

2) Under Pradhan Mantri Kisan Samman Nidhi Yojana, eligible farmers are admissible to the benefit

of .............. fund.

1) Rs.9,000 2) Rs.6,000 3) Rs.10,000 4) Rs.15,000

3) JmonrZmW ‘w§S>o eoVH$ar AnKmV {d‘m ¶moOZ|VJ©V eoVH$è¶mMm XþX£dr AnKmVr ‘¥Ë¶y Pmë¶mg {H$Vr ZwH$gmZ ^anmB© {Xbr
OmVo ?
1) é.1,00,000 2) é.2,00,000 3) é.3,00,000 4) é.50,000

3) Under Gopinath Munde Farmer Accident Insurance Scheme, how much compensation is paid in

case of unfortunate accidental death of a farmer?

1) Rs.1,00,000 2) Rs.2,00,000 3) Rs.3,00,000 4) Rs.50,000

4) ~ma‘mhr {nH$m§gmR>r EZS>rAmaE’$ A§VJ©V eoVH$è`m§Zm ‘XV XoÊ`mMo {ZH$f H$m` AmhoV?
1) é.13500/ho. 2) é.18000/ho. 3) é.6800/ho. 4) é.15000/ho.

4) What is norms of assistance given to farmers’ under NDRF for perennial crops ?

1) Rs.13500/ha 2) Rs.18000/ha 3) Rs.6800/ha 4) Rs.15000/ha

5) àYmZ‘§Ìr nrH$ {d‘m ¶moOZ|VJ©V ...... OmoIr‘ñVa Xo¶ Amho.
1) 50 Q> o̧$ 2) 60 Q> o̧$ 3) 25 Q> o̧$ 4) 70 Q> o̧$

5) Under Pradhan Mantri Crop Bima Yojana ...... risk level is payable.

1) 50 percent 2) 60 percent 3) 25 percent 4) 70 percent

6) ^maVmVrb nrH$ {då¶mMo OZH$' åhUyZ H$moUmbm AmoiIbo OmVo ?
1) ìhr. E‘. Xm§S>oH$a 2) E‘. ZaqghZ 3) ~r. Ho$. hOmao 4) ‘mohZ H$m§S>m

6) Who is known as the ‘Father of Crop Insurance in India’ ?

(1)  V.M. Dandekar (2)  M. Narasimham (3)  B.K Hajare (4)  Mohan Kanda

7) ‘hmË‘m Á¶mo{Vamd ’w$bo eoVH$ar H$O©‘wº$s ¶moOZm 2019 A§VJ©V àmoËgmhZna bm^ ¶moOZo~m~V Imbrb {dYmZo {dMmamV
KoD$Z CVmamMm AMyH$ n¶m©¶ {ZdS>m.
A) hr ¶moOZm H¥$fr {d^mJm‘m’©$V am~{dÊ¶mV ¶oVo.
~) gXa ¶moOZoÀ¶m bm^mgmR>r d¡¶{º$H$ eoVH$ar hm {ZH$f J¥hrV YaÊ¶mV ¶oVmo.
n¶m©¶r CÎmao …
1) ’$º$ (A) ~amo~a 2) ’$º$ (~) ~amo~a 3) (A) d (~) ~amo~a 4) (A) d (~) MyH$
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7) Select the correct option of slope considering the following statements regarding Incentive Ben-

efit Scheme under Mahatma Jyotirao Phule Shetkari Karjmukti Yojana 2019.

a) This scheme is implemented through the Department of Agriculture.

b) Individual farmer is considered as the criterion for the benefit of the said scheme.

Answer Options :

1) Only (a) is correct 2) Only (b) is correct

3) Both (a) and (b) are correct 4) (a) and (b) are false

8) nrE‘ {H$gmZ `moOZo~m~V Imbrbn¡H$s H$moUVr {dYmZo gË` AmhoV?
A) ¶m `moOZoMo C{Ôï> ho nmÌ eoVH$è`m§Zm CËnÞ bm^ àXmZ H$aUo Amho.
~) nmÌ eoVH$è`m§Zm à{V df© é. 6000 a¸$‘ {‘iVo.
H$) {dYmZg ôMo ‘mOr gXñ` `m `moOZoA§VJ©V bm^mgmR>r nmÌ AmhoV.
S>) {d{hV VmaIoZ§Va, IaoXr H$amamÛmao O{‘ZrÀ`m hñVm§VaUm‘wio O{‘ZrMr ‘mbH$s ~Xbë`mg, hñVm§VaUH$Vm© ¶m

`moOZoA§VJ©V bm^mgmR>r nmÌ Agob.
n¶m©¶r CÎmao …
1) ’$º$ A Am{U ~ 2) A Am{U H$ ’$º$ 3) ~ Am{U S> ’$º$ 4) A, ~ Am{U S> ’$º$

8) Which of the following statements are true regarding PM-KISAN scheme ?

a) Motto of the scheme is to provide income support benefit to eligible farmers.

b) Eligible farmers receive an amount of Rs. 6000 per year.

c) Former members of the Legislative Assemblies are eligible for the benefit under the scheme.

d) Subsequent io the prescribed date, if the ownership of the land is changed due to transfer of

land through Sale Deed, then the transferee will be eligible for the benefit under the scheme.

Answer Options :

1) a and b only 2) a and c only 3) b and d only 4) a,b and d only

9) Imbrb {dYmZo {dMmamV ¿`m:
A) àYmZ‘§Ìr {H$gmZ ‘mZ-YZ `moOZm (PM-KMY) 6-12-2018 nmgyZ à^mdr Amho.
~) PM-KMYgd© nmÌ `moJXmZ XoUmè`m eoVH$è`m§Zm Ë`m§Mo d` 60 df} nyU© Pmë`mda = 3000 Mr ImÌrera ‘m{gH$

noÝeZ àXmZ H$aVo.
H$) àYmZ‘§Ìr {H$gmZ gÝ‘mZ {ZYr `moOZm (PM-KISAN) Am{U PM² `m XmoÝhtgmR>r nmÌVm {ZH$f. KMY g‘mZ

AmhoV.
S>) ‘m{gH$ `moJXmZmMr a¸$‘ `moOZoV eoVH$è`m§À`m àdoemÀ`m d`mZwgma Xa‘hm = 50 Vo = 200 À`m Xaå`mZ Agob,
da {Xboë`m ñQ>oQ>‘o[aQ²gn¡H$s H$moUVo/`mo½` AmhoV?
1) ’$º$ A 2) ~ ’$º$ 3) A Am{U H$ ’$º$ 4) ~ Am{U S> ’$º$

9) Consider the following statements :

a) Pradhan Mantri Kisan Maan-Dhan Yojana (PM-KMY) is effective from 6-12-2018.

b) PM-KMY provides for an assured monthly pension of = 3000 to all eligible contributing

farmers on their attaining the age of 60 years.

c) The eligibility criteria for both Pradhan Mantri Kisan Samman Nidhi Scheme (PM-KISAN)

and PM. KMY are the same.

d) The amount of monthly contribution shall range between = 50 to = 200 per month depending

upon the age of entry of the farmers into the scheme,
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Which of the statemerits given above is/are correct ?

1) a only 2) b only 3) a and c only 4) b and d only

10) àYmZ‘§Ìr {H$gmZ gÝ‘mZ {ZYr ¶moOZo~m~V Imcrcn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a Amho/AmhoV ?
a) Aën d AË¶ën ŷYmaH$ eoVH$è¶m§À¶m CËnÞmg OmoS> XoÊ¶mgmR>r H|$Ð emgZ àYmZ‘§Ìr {H$gmZ gÝ‘mZ {ZYr ¶moOZm
gZ 2018-19 nmgyZ am~drV Amho.
b) ¶m ¶moOZoA§VJ©V nmÌ eoVH$ar Hw$Qw>§~m§Zm Xadfu EHy$U < 6000/-AZwXmZ cm^mÏ¶mªÀ¶m ~±H$ ImË¶mV WoQ> O‘m
H$aÊ¶mV ¶oVo.
n¶m©¶r CÎmao :
1) {dYmZ (a) ~amo~a 2) {dYmZ (b) ~amo~a
3) {dYmZo (a) Am{U (b) ~amo~a 4) {dYmZo (a) Am{U (b) MyH$

10) Which of the following statement/statements regarding Pradhan Mantri Kisan Sanman Nidhi Yojana

is/are correct ?

a) The Central Government has been implementing Pradhan Mantri Kisan Sanman Nidhi Yojana

from the year 2018-19 to supplement the income of small and marginal farmers.

b) A total of Rs. 6000/- per annum is credited directly to the beneficiary's bank account from the

eligible farmer families under this scheme.

Answer options :

1) Statement (a) correct 2) Statement (b) correct

3) Statements (a) and (b) correct 4) Statements (a) and (b) incorrect

11) gd© amÁ`m§‘Ü ò gm‘mÝ` {d‘m H§$nZr (GIC) Ûmao ì`mnH$ nrH$ {d‘m `moOZm (CCIS) ...... ‘Ü ò gwê$ H$aÊ`mV Ambr.
1) 1985 2) 1995 3) 1980 4) 1990

11) Comprehensive Crop Insurance Scheme (CCIS) was introduced by General Insurance Company

(GIC) in all States in the year ......

1) 1985 2) 1995 3) 1980 4) 1990

12) ‘hmamï´> emgZmÀ`m H¥$fr {d^mJmH$Sy>Z Imbrbn¡H$s H$moUVm gdm}ƒ nwañH$ma eoVH$è`m§Zm {Xbm OmVmo?
1) dg§Vamd ZmB©H$ H¥$fr ŷfU 2) S>m°. n§Om~amd Xoe‘wI H¥$fr aËZ
3) dg§Vamd ZmB©H$ joÌ{Zð> eoVH$ar 4) dg§Vamd ZmB©H$ eoVH$ar{‘Ì

12) Which of the following is the highest award conferred on the farmers by Department of Agriculture,

Government of Maharashtra ?

1) Vasantrao Naik Krishi Bhushan 2) Dr. Panjabrao Deshmukh Krishi Ratna

3) Vasantrao Naik Shetinishtha Shetkari 4) Vasantrao Naik Shetimitra

13) ‘w»¶‘§Ìr H¥${f d AÞà{H«$¶m ¶moOZoA§VJ©V bm^ {‘i{dÊ¶mgmR>r nmÌ CÚmoJ/§g§ñWm ¶m‘Ü¶o H$moUË¶m KQ>H$m§Mm g‘mdoe
Amho ?
A) gj‘ eoVH$ar CËnmXH$ H§$nZr/JQ> ~) ImOJr CÚmoJ joÌ
H$) J«m‘rU ~oamoOJma ¶wdH$ S>) ‘{hbm ~MV JQ>
n¶m©¶r CÎmao …
1) A, ~ Am{U H$ 2) A, ~ Am{U S> 3) A, H$ Am{U S> 4) darbn¡H$s gd©
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13) Which entities are included in the eligible industries/organizations to get benefits under the Chief

Minister's Agriculture and Food Processing Scheme?

a) Empowered Farmer Producer Company/Group     b) Private Enterprise Sector

c) Rural unemployed youth         d) Women self-help groups

Answer Options :

1) A, B and C 2) A, B and D 3) A, C and D 4) All of the above

14) "{H$gmZ H«o${S>Q> H$mS>© ¶moOZm' eoVH$è¶m§Zm ............... gwb^VoZo {‘i{dÊ¶mgmR>r gwê$ Ho$br Jobr.
1) XrK© ‘wXVrMm nVnwadR>m 2) ‘Ü¶‘ ‘wXVrMr nVnwadR>m
3) Aën ‘wXVrMm nVnwadR>m 4) darbn¡H$s gd©

14) The ‘Kisan Credit Card Scheme’ was introduced for facilitating access to .............  to farmers.

(1)  Long-term credit (2) Medium-term credit

(3) Short-term credit (4)  All of the above
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(6) {dH$mg H$m ©̀H«$‘ - ‘{hbm, ‘wbo, ¶wdH , àH$ën~m{YV
1) ‘{hbm g~brH$aU Am{U {dH$mg
2) ~mbH$m§Mo  g~brH$aU Am{U {dH$mg
3) ¶wdH$m§Mo g~brH$aU Am{U {dH$mg
4) àH$ën~m{YVm§Mo g~brH$aU Am{U {dH$mg
5) H$m¡eë¶  d CÚmoOH$Vm {dH$mg

1) ‘{hbm g~brH$aU Am{U {dH$mg
1) ''‘mPr H$Ý¶m ^m½¶lr'' gwYmarV ¶moOZoA§VJ©V R>od a¸$‘ ...... BVH$s AgVo.

1) 40,000 2) 21,200 3) 50,000 4) 60,000
1) Deposit amount under “Majhi Kanya Bhagyashree” Revised Scheme is Rs.

1) 40,000 2) 21,200 3) 50,000 4) 60,000

2) 2019-20 ¶mdfu ‘hmamï´>mVrb J«m‘rU ^mJmVrb ‘{hbm ñd-ghmæ¶Vm JQ>m§Mr EHy$U g§»¶m ...... BVH$s hmoVr.
1) 91,368 2) 95,386 3) 96,445 4) 1,20,312

2) In the year 2019-20 the total number of women self help groups in rural areas of Maharashtra

was...

1) 91,368 2) 95,386 3) 96,445 4) 1,20,312

3) ‘{hbm CÚmoOH$m§Zm nmqR>~m XoÊ¶mgmR>r ‘{hbm Am{U ~mb {dH$mg ‘§Ìmb¶mZo gwê$ Ho$boë¶m Am°ZbmBZ ßbQ>’$m°‘©Mo Zmd
gm§Jm.
1) EH$ Wm§~m H|$Ð ¶moOZm 2) ñdmYma ¶moOZm 3) ‘{hbm B©-hmQ> 4) {S>{OQ>b ^maV

3) Name the online platform launched by the Ministry of Women and Child Development to support

women entrepreneurs.

1) One Stop Centre Scheme 2) SWADHAR Scheme

3) Mahila E-Haat 4) Digital India

4) VimJmimVrb ‘{hbm amOH$s¶ ZoË¶m§Mo ZoV¥Ëd H$m¡eë¶ gwYmaÊ¶mgmR>r amï´>r¶ ‘{hbm Am¶moJmZo gd© ñVamVrb ‘{hbm
à{V{ZYrgmR>r ...... H$m¶©H«$‘ gwê$ Ho$bm Amho.
1) {‘eZ eº$s 2) {‘eZ XþJm© 3) {‘eZ gwf‘m 4) er BO A M|O‘oH$a

4) To improve leadership skills of grassroot women, political leaders, the National Commission for

Women has launched a programme ....... for women ‘representatives at all levels.

1) Mission Shakti 2) Mission Durga 3) Mission Sushama   4) She is a Changemaker

5) ‘{hbm d ~mb {dH$mg {d^mJm‘m’©$V am~{dÊ¶mV ¶oUmam Zd-VoOpñdZr ‘hmamï´> J«m‘rU ‘{hbm CÚ‘ {dH$mg àH$ën
H$moUmÀ¶m ghmæ¶mZo am~{dÊ¶mV ¶oVmo?
1) OmJ{VH$ ~±H$ {ZYr 2) Am{e¶mB© ~±H$ {ZYr
3) Am§Vaamï´>r¶ H¥$fr {dH$mg {ZYr 4) ¶w{Zgo’$ ‘XV {ZYr
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5) The Neo-Tejaswini Maharashtra Rural Women Enterprise Development Project implemented

through the Department of Women and Child Development is being implemented with the help of

whom?

1) World Bank Fund 2) Asian Bank Fund

3) International Fund for Agricultural Development 4) UNICEF Relief Fund

6) Imbrbn¡H$s H$moUVo "‘mPr H$Ý¶m ^m½¶lr' ¶m ¶moOZoMo C{Ôï> Amho ?
1) ‘wbtÀ¶m OÝ‘XamV dmT> H$aUo 2) J ©̂Ob narjU amoIUo
3) ‘wbtÀ¶m Amamo½¶mMm XOm© gwYmaUo 4) darb gd©

6) Which of the following is the objective of the scheme 'Majhi Kanya Bhagyashree'?

1) Increasing the birth rate of girls 2) Preventing amniocentesis

3) Improving the health status of girls 4) All of the above

7) gwYmarV ZdrZ ‘ZmoY¡¶© ¶moOZo~m~V Imbrb {dYmZo {dMmamV KoD$Z CÎmamMm ¶mo½¶ n¶m©¶ {ZdmS>m …
A) gwYmarV ZdrZ ‘ZmoY¡¶© ¶moOZm ‘{hbm d ~mb {dH$mg {d^mJm‘m’©$V am~{dÊ¶mV ¶oVo.
~) gXa gwYmarV ZdrZ ‘ZmoY¡¶© ¶moOZoMo nr{S>Vm§À¶m AW©ghmæ¶mMo ‘mJUr AO© ñdrH$maÊ¶mnmgyZ ‘§OwarMo A{YH$ma
‘{hbm d ~mb {dH$mg {d^mJmg AmhoV.
n¶m©¶r CÎmao …
1) ’$º$ (A) ~amo~a 2) ’$º$ (~) ~amo~a 3) (A) d (~) XmoÝhr ~amo~a 4) (A) d (~) XmoÝhr MyH$

7) Consider the following statements regarding the revised New Morale Scheme and judge the cor-

rect answer option :

a) The revised New Manodhairya Yojana is implemented through the Department of Women and

Child Development.

b) The Department of Women and Child Development has the authority to approve the applica-

tion for financial assistance of the victims of the said revised New Manodhairya Yojana.

Answer Options :

1) Only (a) is correct 2) Only (b) is correct

3) Both (a) and (b) are correct 4) Both (a) and (b) are false

8) ¶mo½¶ OmoS>çm Owidm. (H|$ÐemgZmÀ¶m ‘{hbm§gmR>r ¶moOZm)
JQ 'A' (¶moOZm)>                           JQ> '~' (C{Ôï>)
A) Aën‘wXVr {ZdmgJ¥ho i) Am{W©H$ÑîQ>çm Xþ~©b ‘{hbm§Mo H$m¡eë¶ dmT>{dUo
~) ñQ>on ii) gm‘m{OH$ d Z¡{VH$ÑîQ>çm g§H$Q>mV gmnS>boë¶m ‘{hbm§Mo nwZd©gZ
H$) C‚dbm iii) Hw§$Q>UImÝ¶mVyZ ‘wº$ Ho$boë¶m ‘{hbm§Mo nwZd©gZ
S>) ñdmYma iv) ‘{hbm d ‘wbtÀ¶m ‘mZdr dmhVwH$sbm Amim KmbUo
n¶m©¶r CÎmao …

(A) (~) (H$) (S>)
1) (i) (ii) (iii) (iv)

2) (ii) (iii) (iv) (i)

3) (ii) (i) (iv) (iii)

4) (iv) (iii) (ii) (i)



‘hmamîQ´> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h … AW©emó / 81

For Private Circulation Only

8) Match the correct pairs. (Central Govt. Scheme for Women)

Group A (Plan) Group B (Objective)

a) Short-term shelters i) Upskilling of economically weaker women

b) Step ii) Rehabilitation of socially and morally distressed women

c) Ujjwala Lala iii) Rehabilitation of women freed from Kuntankhana

d) Swadhar iv) Stop human trafficking of women and girls

Answer Options :

(a) (b) (c) (d)

1) (i) (ii) (iii) (iv)

2) (ii) (iii) (iv) (i)

3) (ii) (i) (iv) (iii)

4) (iv) (iii) (ii) (i)

9) ‘mPr H$Ý¶m ^m½¶lr gwYm[aV ¶moOZm g§X^m©V Imbrbà‘mUo H$moUVo {dYmZ/{dYmZo MwH$sMo Amho ?
A) ‘wbtÀ¶m Amamo½¶mMm XOm© dmT>{dUo ~) qbJ {ZdS>rg à{V~§Y Z H$aUo
H$) ‘wbtMm OÝ‘Xa dmT>{dUo S>) ‘wbtÀ¶m {ejUm~m~V àmoËgmhZ XoUo
n¶m©¶r CÎmao …
1) ’$º$ A, H$ Am{U S> 2) ’$º$ ~ 3) ’$º$ ~ Am{U S> 4) ’$º$ S>

9) Which of the following statement/s is/are incorrect regarding my daughter Bhagyashree Revised

Scheme?

a) Improving the health status of girls b) Not restricting gender selection

c) Increasing the birth rate of girls d) Encouraging the education of girls

Answer Options :

1) A, C and D only 2) B only 3) B and D only 4) D only

10) Imcrcn¡H$s H$moUVo  {dYmZ/Zo ~amo~a Amho/V
a)$‘{hcm§À¶m gm‘m{OH$-Am{W©H$ g~crH$aUmgmR>r 1993 ‘Ü¶o amï´>r¶ ‘{hcm H$mof ñWmnZ H$aÊ¶mV Amcm.
b)$amîQ´>r¶ ‘{hcm H$mof ‘{hcm§Zm 3.5% BV³¶m H$‘r ì¶mO XamZo H$O©nwadR>m H$aVo. ¶mì¶{V[aº$, amï´>r¶ ‘{hcm H$mof

‘{hcm ñd¶§-ghmæ¶ JQ>m§Zm cKw-nwadR>çmg§~§Yr à{ejU XoVo.
n¶m©¶r CÎmao :
1) ’$º$ (a)$ 2) ’$º$ (b)$ 3) (a)$Am{U (b)$ 4) darcn¡H$s Zmhr

10) Which of the following statements is/are correct ?

(a) Rashtriya Mahila Kosh (RMK) was established in 1993 for socio-economic empowerment

of women.

(b) RMK  provides loans to women with lowest interest rate of 3 5%. In addition, RMK gives

training to SHG's in micro-finance.

Answer Options :

(1)  Only (a) (2)  Only (b) (3)  (a) and (b) (4)  None of the above

11) Apñ‘Vm ¶moOZm H$emer g§~§{YV Amho ?
1) Hw$Qw>§~ {Z¶moOZ 2) ~oQ>r ~MmAmo - ~oQ>r nT>mAmo
3) ‘{hcm {Z¶moOH$ 4) {H$emoa d¶rZ ‘wcrgmR>r g°{ZQ>ar Z°nH$sZMr VaVyX
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11) Asmita Yojana associated with what ?

l)  Family Planning 2)  Beti Bachho — Beti Padhao

3)  Wom2en Entrepreneur 4)  Provision of sanitary napkins to teenage girls

12) Imcrcn¡H$s H$moUVr {dYmZ/{dYmZo ~amo~a Amho/AmhoV ?
a)$PmaI§S>‘Yrc H$mWrHw$S> VmcwH$m nhmS>nya ¶m JmdmVrc gwercm ‘wê$‘ ¶m ‘{hcoZo ñdV:Mm chmÝVr hm ~MV JQ> gwé

Ho$cm.
b)$eoVrÀ¶m nma§nm[aH$ nÕVrVyZ {dH$mg gmYÊ¶mgmR>r gwercm ‘wê$‘ ¶m§Zm B§½c§S>À¶m nwAaoñQ> E[a¶mO {gpìhc gmogm¶Q>r

(PACS)  ¶m g§ñWoZo ‘XV Ho$cr.
c)$PACS ¶m g§ñWo‘m’©$V gwercm ‘wê$‘ ¶m§Zr ‘{hcm§‘Ü¶o à~moYZ H$éZ g‘yheoVr (community farming) hr

g§H$ënZm éOdcr.
d)$¶m n[agamVrc Xmê$ {dH«$s ~§Xr H$aÊ¶mV ‘{hcm§Zm ¶e Amco.
n¶m©¶r CÎmao :
1) (a)$Am{U (b)$ 2) (a),(b)$Am{U (c)$ 3) (b),(c)$Am{U (d)$ 4) darc gd© {dYmZo ~amo~a AmhoV

12) Which of the following statements in/are correct ?

(a) Sushila Murum, a woman from Kathikund  taluka, Paharpur village in Jharkhand started her

own self-help group called Lahanti.

(b) Suehila Murum was helped by the Poorest Areas Cial Society (PACS) of England to develop

through traditional methods of farming.

(c) Through PACS, Sushila Murmu inculcated the concept of community farming in women.

(d) The women succeeded in stopping the sale of liquor in the area.

(1)  (a) and (b) (2)  (a), (b) and (c)

(3)  (b), (c) and Id) (4)  All of the above statements are correct

13) H$moUË¶m ¶moOZo/Zm Imcr ~m{cHo$À¶m OÝ‘mZ§Va ~m{cHo$À¶m ‘mVocm n{hë¶m 5 dfm©gmR>r Xa dfu < 5,000 {‘iVmV.
a)$~m{cH$m g‘¥Õr ¶moOZm b)$YZcú‘r ¶moOZm
c)$gwH$Ý¶m g‘¥Õr ¶moOZm d)$‘mPr H$Ý¶m ^m½¶lr
n¶m©¶r  :
1) (b)$Am{U (c)$ 2) ’$º$ (d)$ 3) (a),(b)$Am{U (d)$ 4) ’$º$ (c)$

13) Under which scheme does the girl child's mother receive T 5,000 every year for the first  5

years after the b‘irth of girl child ?

(a)  Balika Samriddhi Yojana (b)  Dhanalakshmi Yojana

(c)  Sukanya Samriddhi Yojana (d)  Mazi Kanya Bhagyashree Yojana

Answer Options :

(1)  (b) and (c) (2)  Only (d) (3)  (a), (b) and td) (4)  Only (c)

2) ~mbH$m§Mo  g~brH$aU Am{U {dH$mg
1) EH$mpË‘H$ ~mb {dH$mg godm ¶moOZm A§VJ©V Imbrb d¶moJQ>mVrb ~mbH$m§Zm bm^ XoÊ¶mV ¶oVmo …

1) 0-3 df} 2) 0-6 df} 3) 0-5 df} 4) 1-6 df}
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1) Under the Integrated Bal Vikas Seva Yojana, benefits are provided to children of the following age

groups:

1) 0-3 years 2) 0-6 years 3) 0-5 years 4) 1-6 years

2) H$moUË¶m amÁ¶mZo ^maVmV àW‘ ‘Ü¶mÝh ^moOZ ¶moOZm gwê$ Ho$br ?
1) Vm{‘iZmSy> 2) JwOamV 3) ‘Ü¶ àXoe 4) Ho$ai

2)  Which State first introduced the Mid-day Meal Scheme in India ?

(l)  Tamil Nadu (2)  Gujarat (3)  Madhya Pradesh (4)  Kerala

3) 2017-18 ‘Ü¶o XrZ X¶mb CnmÜ¶m¶ ¶m§À¶m ZmdmZo gwê$ Ho$boë¶m ñne© (SPARSH) ¶m ¶moOZoMo Imbrbn¡H$s H$moUVo
CÔoe AmhoV?
a) bhmZ d¶mÀ¶m ‘wbm§Zm Amam‘ Am{U VUmd‘wº$ H$aÊ¶mgmR>r N>§XmMr OmonmgZm H$aUo.
b) ‘wbm§À¶m nmofU Am{U Amamo½¶ pñWVrbm àmoËgmhZ XoÊ¶mH$[aVm.
c) ‘wbm§‘Ü¶o {’$boQ>br ~m~VMo N>§X OmonmgÊ¶mgmR>r MmbZm XoUo {deofV… Q>nmb {V{H$Q>o.
d) embo¶ {dÚmÏ¶mªMr JiVr H$‘r H$aÊ¶mgmR>r.
n¶m©¶r CÎmao …
1) (a) Am{U (b) ~amo~a AmhoV. 2) (a) Am{U (c) ~amo~a AmhoV.
3) (a) Am{U (d) ~amo~a AmhoV 4) (b) Am{U (c) ~amo~a AmhoV.

3) Which of the following are the purposes of the scheme named SPARSH, launched in the name of

Deen  Dayal Upadhyaya in 2017 — 18 ?

(a)  To promote hobbies to relax and de-stress the young age children.

(b)  To improve the nutritional and health status of children.

(e)  To promote philately, among children (specially post stamps).

(d)  To reduce drop-out of school-going children.

Answer Options :

(1)  (a) and (b) are correct (2)  (a) and (e) are correct

(3)  (a) and (d) are correct (4)  (b) and (c) are correct

4) Imcrcn¡H$s EH$mpË‘H$ ~mc {dH$mg godm ¶moOZo A§VJ©V H$moUË¶m godm nwa{dë¶m OmVmV ?
a)$gH$g AmhmamMm nwadR>m H$aUo.
b)${d{dY cgrH$aUmMo H$m¶©H«$‘ Am¶mo{OV H$aUo.
c)$Amamo½¶ {df¶H$ gëcm H|$Ð d godm ¶m§Mm nwadR>m H$aUo.
d)$‘{hcm§Zm gH$g Amhma ~Z{dÊ¶mg§~§Yr {ejU XoUo.
darcn¡H$s H$moUVm/H$moUVo n¶m©¶ MwH$sMm/MwH$sMo Amho/AmhoV ?
1) ’$º$ (d) 2) (a) Am{U (b) 3) darcn¡H$s gd© 4) darcn¡H$s Zmhr

4) Which of the following services are provided through Integrated Child Development Service

Scheme ?

(a)  To provide nutritious food.

(b)  To organise various vaccination programmes.

(c)  To provide health counselling centres and services.

(d)  To educate the women for cooking nutritious food.

Which of the above option(s) is/are  incorrect ?

(l)  Only (d)                 (2)  (a) and (b) (3)  All of the above            (4)  None of the above
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5) ~mc‘¥Ë¶y d Hw$nmofUmMo à‘mU H$‘r H$aÊ¶mgmR>r ‘hmamï´> emgZmZo Imcrcn¡H$s H$moUË¶m ¶moOZm gwé Ho$ë¶m?
a)$Eg. Amo. Eg. pìhcoO b)$Aml‘emim ¶moOZm
c)$’$m°ñQ>a XoI^mc ¶moOZm d)$‘w»¶‘§Ìr {eey ñdmJV {H$Q>
darcn¡H$s H$moUVo n¶m©¶ ~amo~a Amho/AmhoV ?
1) ’$º$ $(b)$ 2) ’$º$ (c)$ 3) ’$º$ (d)$ 4) darcn¡H$s gd©

5) Which of the following schemes are initiated by the Government of Maharashtra to reduce  child

mortality and malnutrition ?

(a)  S.O.S. Village (b)  Ashram School Scheme

(c)  Foster Care Scheme (d)  Mukhyamantri Shishu Swagat Kit

Which of the option(s) given above is/are correct ?

(1)  Only (b)                  (2)  Only (c) (3)  Only (d)                  (4)  All of the above

6) Am¶. gr. S>r. Eg. g§X^m©V Imcrcn¡H$s H$moUVr {dYmZo ~amo~a Amho / AmhoV ?
a)$Am¶. gr. S>r. Eg. chmZ ‘wcm§Zm nyaH$ nmofU Amhma, Amamo½¶ Am{U nyd©-àmW{‘H$ {ejU ¶mgma»¶m godm§Mo

EH$mpË‘H$ nwS>Ho$ (package)  XoV AgVo.
b)$‘hmamï´> amÁ¶mV EHy$U 553 Am¶. gr. S>r. Eg. àH$ën H$m¶©aV AmhoV, Ë¶mn¡H$s 364 àH$ën J«m‘rU ^mJmV, 85

àH$ën Am{Xdmgr joÌmV Am{U 104 àH$ën ZmJar PmonS>nÅ>r joÌmV AmhoV.
n¶m©¶r CÎmao …
1) ’$º$ (a)$ 2)  ’$º$ (b) 3) (a)$$Am{U (b) 4) darcn¡H$s Zmhr

6) Which of the following statements is/are correct regarding ICDS ?

(a) ICDS seeks to provide young children with an integrated package of services such as

supplementary nutrition, health care and pre-school education.

(b) There are total 553 ICDS Projects operational in the State of Maharashtra of which 364

projects are in rural areas, 85 projects are in tribal areas and 104 projects are in urban slum

areas.

Anawer Options :

(1)  Only (a) (2)  Only (b) (3)  (a) and (b) (4)  None of the above

3) ¶wdH$m§Mo g~brH$aU Am{U {dH$mg
1) ‘w»¶‘§Ìr ’o$bmo{en H$m¶©H«$‘mH$[aVm ’o$bm|Mr g§»¶m 20 {ZpíMV H$aÊ¶mV Ambr AgyZ, ’o$bm|À¶m g§»¶oÀ¶m ...... g§»¶m

‘{hbm ’o$bm|Mr AgUma Amho.
1) 1/5 2) 1/4 3) 1/3 4) 1/2

1) The number of fellows for the Chief Minister Fellowship program has been fixed at 20, out of the

number of fellows, the number of women fellows will be …….

1) 1/5 2) 1/4 3) 1/3 4) 1/2

2) ‘w»¶‘§Ìr ’o$bmo{en H$m¶©H«$‘m§VJ©V bm^ KoUmè¶m amÁ¶mVrb VéUm§Mm d¶moJQ> {H$Vr AgUo Amdí¶H$ Amho ?
1) 18 Vo 25 df} 2) 25 Vo 30 df} 3) 21 Vo 25 df} 4) 21 Vo 30 df}

2) What should be the age group of the youth of the state who will be benefited under the Chief

Minister's Fellowship programme?

1) 18 to 25 years 2) 25 to 30 years 3) 21 to 25 years 4) 21 to 30 years
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3) H«$sS>m joÌmVrb {deof C„oIZr¶ H$m‘{Jar H$aUmè¶m ‘hmamï´>mVrb An§J IoimSy>bm H$moUË¶m nwañH$mamZo Jm¡a{dÊ¶mV ¶oVo?
1) {edN>ÌnVr amÁ¶ H«$sS>m nwañH$ma 2) {Oëhm H«$sS>m nwañH$ma
3) EH$bì¶ amÁ¶ H«$sS>m nwañH$ma 4) CËH¥$ï> H«$sS>m ‘mJ©Xe©H$ nwañH$ma

3) Which award is given to the disabled athlete of Maharashtra who has achieved outstanding per-

formance in the field of sports?

1) Shivchhatrapati State Sports Award 2) District Sports Award

3) Eklavya State Sports Award 4) Outstanding Sports Mentor Award

4) ‘w»¶‘§Ìr gwH$‘u nwañH$ma ¶moOZm H$moUË¶m {d^mJm‘m’©$V am~{dbr OmVo ?
1) gm‘mÝ¶ àemgZ {d^mJ 2) gm‘m{OH$ Ý¶m¶ {d^mJ
3) H$m‘Jma {d^mJ 4) ‘hgyb d dZ {d^mJ

4) Chief Minister Sukarmi Puraskar scheme is implemented through which department?

1) General Administration Department 2) Social Justice Department

3) Labor Department 4) Revenue and Forest Department

5) ‘w»¶‘§Ìr gwH$‘u nwañH$ma ¶moOZ|VJ©V nmÌVoMo {ZH$f H$m¶ Amho/AmhoV ?
1) ñWm{¶Ëd à‘mUnÌ
2) 5 dfm©Mr {Z¶{‘V godm
3) emgH$s¶ A{YH$mè¶m§À¶m ~m~VrV n[a{dœmYrZ H$mbmdYr g‘mYmZH$maH$ [aË¶m nyU© Ho$ë¶mMo à‘mUnÌ
4) darbn¡H$s gd©

5) What is/are the eligibility criteria under Chief Minister Sukarmi Puraskar Yojana?

1) Durability Certificate

2) 5 years regular service

3) Certificate of satisfactory completion of probationary period in case of Government Officers

4) All of the above

4) àH$ën~m{YVm§Mo g~brH$aU Am{U {dH$mg

5) H$m¡eë¶  d CÚmoOH$Vm {dH$mg
1) amÁ¶mV gm‘w{hH$ àmoËgmhZ ¶moOZm ...... nmgyZ am~{dÊ¶mV ¶oV Amho.

1) 1960 2) 1964 3) 1997 4) 2013
1) Mass Incentive Scheme is being implemented in the state from ...

1) 1960 2) 1964 3) 1997 4) 2013

2) {deof KQ>H$ ¶moOZoA§VJ©V {Zdmgr CÚmoOH$Vm {dH$mg à{ejU {e~ra H$mbmdYr {H$Vr {Xdgm§Mm AgVmo ?
1) 12 {Xdg 2) 15 {Xdg 3) 30 {Xdg 4) 45 {Xdg

2) What is the duration of Residential Entrepreneurship Development Training Camp under special

component plan ?

1) 12 days 2) 15 days 3) 30 days 4) 45 days
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3) ñd. ¶ed§Vamd MìhmU amÁ¶ dmL²>‘¶ nwañH$ma ¶moOZoA§VJ©V EHy$U ....... {d{dY dmL²>‘¶ àH$mamVrb nwñVH$m§Mr
nwañH$mam§Mr {ZdS> H$aÊ¶mV ¶oVo.
1) 40 2) 25 3) 35 4) 20

3) Under Late Yashwantrao Chavan State Literary Awards Scheme, a total of .............. books in vari-

ous literary genres are selected for awards.

1) 40 2) 25 3) 35 4) 20

4) ""gm‘y{hH$ àmoËgmhZ ¶moOZm'' 2013 A§VJ©V {demb àH$ën JQ>mV "H$' dJuH¥$V Vmbw³¶m§H$[aVm H$moUVo {ZH$f AmhoV?
1) é.100 H$moQ>r Jw§VdUyH$ qH$dm 250 ì¶º$s¨Zm amoOJma
2) é.500 H$moQ>r Jw§VdUyH$ qH$dm 1000 ì¶º$s¨Zm amoOJma
3) é.750 H$moQ>r Jw§VdUyH$ qH$dm 1500 ì¶º$s¨Zm amoOJma
4) é.350 H$moQ>r Jw§VdUyH$ qH$dm 500 ì¶º$s¨Zm amoOJma

4) What are the criteria for taluks classified under “Collective Incentive Scheme” 2013 in Vishal

Project Group?

1) Investment of Rs.100 crores or employment of 250 persons

2) Investment of Rs.500 crores or employment of 1000 persons

3) Investment of Rs.750 crores or employment of 1500 persons

4) Investment of Rs.350 crores or employment of 500 persons

5) ""A{V{demb àH$ën'' hm g§dJ© H$moUË¶m àH$ën/¶moOZo A§VJ©V ¶oVmo ?
1) Obg§nXm àH$ën 2) Ob¶wº$ {edma
3) gm‘y{hH$ àmoËgmhZ ¶moOZm 4) àYmZ‘§Ìr Amdmg ¶moOZm

5) Under which project/scheme comes the category “Major Project”?

1) Water Resources Project 2) Watershed Shiwar

3) Collective Incentive Scheme 4) Pradhan Mantri Awas Yojana

6) gm‘y{hH$ àmoËgmhZ ¶moOZm, 2013 .............. àemgH$s¶ {d^mJm‘m’©$V am~{dÊ¶mV ¶oVo.
1) gm‘m{OH$ Ý¶m¶ {d^mJ 2) ‘{hbm d ~mb {dH$mg {d^mJ
3) gmd©O{ZH$ Amamo½¶ {d^mJ 4) CÚmoJ, D$Om© d H$m‘Jma {d^mJ

6) Collective Incentive Scheme, 2013 .............. is implemented through Administrative Department.

1) Department of Social Justice         2) Department of Women and Child Development

3) Department of Public Health          4) Department of Industries, Energy and Labour

7) gm‘y{hH$ àmoËgmhZ ¶moOZm 2019 Zwgma, nmÌ gyú‘, bKw d ‘Ü¶‘ {Z{‘©Vr CÚmoJm§Zm Imbrbà‘mUo bm^ XoÊ¶mV ¶oVmV.
a) ^m§S>dbr AZwXmZ b) ì¶mO AZwXmZ c) {dÚwV ewëH$ ‘m’$s d) ‘wÐm§H$ ewëH$ ‘m’$s
darbn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a AmhoV ?
1) ’$º$ (a) 2) ’$º$ (a), (b) 3) ’$º$ (b), (c), (d) 4) darb gd©

7) According to the package scheme of incentives 2019 the following benefits are given to eligible

micro, small and medium manufacturing industries.

a) Capital subsidy b) Interest subsidy

c) Exemption from electricity duty d) Waiver of stamp duty

Which of the above given statement is/are correct?

1) Only (a) 2) Only (a), (b) 3) Only (b), (c), (d) 4) All of the above
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8) Imbrbn¡H$s H$moUVr/H$moUË¶m ¶moOZm ImXr J«m‘moÚmoJ ‘§S>imer g§~§{YV Amho ?
a) H$mamJra amoOJma h‘r ¶moOZm b) {Oëhm CÚmoJ H|$Ð H$O© ¶moOZm
c) gwYm[aV drO ^m§S>db ¶moOZm d) gm‘y{hH$ àmoËgmhZ ¶moOZm-2019
n¶m©¶r CÎmao …
1) (a) ’$º$ 2) (a), (b), (c) 3) (c) ’$º$ 4) darb gd©

8) Which of the following scheme/schemes are related with Khadi Village Industries Board?

a) Artisan Employment Guarantee Scheme b) DIC Loan Scheme

c) revised Seed Money Scheme d) Package Scheme of Incentive Scheme-2019

Answer options :

1) (a) only 2) (a), (b), (c) 3) (c) only 4) All of these

9) ì¶dgm{¶H$ à{ejUmcm àmoËgmhZ XoÊ¶mgmR>r {ZYr XoUmar g§ñWm H$moUVr ?
1) amï´>r¶ H$m¡ec {dH$mg ‘hm‘§S>i (EZ. Eg. S>r. gr.) 2) gmd©O{ZH$ ImOJr ^mJrXmar (^maVmVrc)
3) H$m¡ec {dH$mg ‘§Ìmc¶ 4) amï´>r¶ e¡j{UH$ YmoaU - 2019

9) Which is an institution to fund vocational training initiatives ?

(1)  National Skill Development Corporation (NSDC)

(2)  PPP in India

(3)  Ministry of Skill Development

(4)  National Education Policy — 2019

10) OmoS>çm Owidm …
ñV§̂  - "A' ñV§̂  - "~'

a) {Zð>m (l) H$m¡eë¶ {dH$mgmgmR>r hþema {dÚmWu ¶m§Mm emoY KoUo.
b) Xrjm (m) AÜ¶¶Z d AÜ¶mnZmgmR>rMm V§ÌkmZmda AmYm[aV ‘§WZ
c) Y«wd (n) emioÀ¶m ‘w»¶mÜ¶mnH$m§À¶m g‘J« e¡j{UH$ CÞVrgmR>rMm CnH«$‘
n¶m©¶r CÎmao …
1) (a)-(n), (b)-(m), (c)-(l) 2) (a)-(l), (b)-(m), (c)-(n)

3) (a)-(n), (b)-(l), (c)-(m) 4) (a)-(m), (b)-(l), (c)-(n)

10) Match the columns:

Group -A Group - B

a) NISHTHA (i) identify talented students to enrich their skills .

b) DIKSHA (ii) technology enabled platform for teaching and learning

c) DHRUV (ii) initiative for school heads for holistic advancement

Answer options :

1) (a)-(n), (b)-(m), (c)-(l) 2) (a)-(l), (b)-(m), (c)-(n)

3) (a)-(n), (b)-(l), (c)-(m) 4) (a)-(m), (b)-(l), (c)-(n)

11) Imcrcn¡H$s H$moUVr ‘mZd g§gmYZ {dH$mgmMr gmYZo AmhoV  ?
a)$H$m¡eë¶dmT> b)$g§emoYZ c)$V§ÌkmZmMm {dH$mg d)$CÚmoOH$Vm {dH$mg
e)$H$m¶©j‘ ‘Zwî¶~i {dH$mg
n¶m©¶r CÎmao :
1) ’$º$ (a) 2) (a),(b) Am{U (d)$ 3) (a),(b),(e) Am{U (d)$ 4) darcn¡H$s gd©
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11) Which of the following are the means of Human Resource Development ?

(a)  Skill Enhancement (b)  Research

(c)  Development of Technology (d)  Entrepreneurship Development

(e)  To develop efficient manpower

Answer Options :

(1)  Only (a) (2)  (a), (b) and (d) (3)  (a), (b), (e) and (d) (4)  All of the above

12) Imcrcn¡H$s H$moUVr g§ñWm CÚmoJ ì¶dñWmnZ joÌmV à{ejU XoÊ¶mMo H$m‘ H$aVo ?
a)$^maVr¶ V§ÌkmZ g§ñWm (IIT) b)$amï´>r¶ ì¶mdgm{¶H$ à{ejU ‘§S>i (NCTVT)

c)$A{Ic ^maVr¶ V§Ì{ejU n[afX (AICTE) d)$^maVr¶ ì¶dñWmnZ n[afX (IIM)

n¶m©¶r CÎmao :
1) ’$º$ (b) 2) ’$º$ (d)$ $3) (a) Am{U (c)$ 4) darcn¡H$s Zmhr

12) Which  of  the  following  institutes  provide  training  in  the  field  of Industry Management ?

(a)  Indian Institute of Technology (IIT)

(b)  National Council for Training in Vocational Trade (NCTVT)

(c)  All India Council for Technical Education (AICTE)

(d)  Indian Institute of Management (IIM)

Answer Options :

(1)  Only (b) (2)  Only (d) (3)  (a) and (c) (4)  None of the above

13) ì¶dgm¶{df¶H$ ‘m{hVrMr Amdí¶H$Vm nwT>rc H$moUË¶m H$maUm‘wio AgVo ?
a)$amÁ¶ d H|$Ð gaH$macm cmoH$m§Zm amoOJma nwa{dÊ¶mgmRr
b)$e¡j{UH$ g§ñWmZm ì¶dgm¶{^‘wI Aä¶mgH«$‘ AmIÊ¶mgmR>r
c)${dÚmÏ¶mªZm ¶mo½¶ Aem ì¶dgm¶mV àdoe H$aÊ¶mgmR>r
d)${dÚmÏ¶mªZm {d{dY ZmoH$è¶mg§~§Yr ‘m{hVr {‘iÊ¶mgmR>r
n¶m©¶r CÎmao :
1) (a),(b) d  (c) 2) (a),(b) d  (d) 3) (b),(c) d  (d) 4) (a),(c) d  (d)

13) Occupational information is needed :

(a)  To provide employment to people by State and Central Government.

(b)  To plan the oriented occupational curriculum for educational institutes.

(c)  For the entry of students in proper occupation.

(d)  To provide the information for students regarding different jobs.

Anawer Options :

(1)  (a), (b) and (c) (2)  (a), (b) and (d) (3)  (b), (c) and (d) (4)  (a), (e) and (d)

14) Imcrcn¡H$s H$moUVr ¶moOZm amï´>r¶ H$m¡eë¶ {dH$mg ‘§S>im ‘m’©$V am~{dbr OmV Zmhr ?
1) amoOJma ‘ocm 2) CS>mZ
3) àYmZ‘§Ìr H$m¡eë¶ {dH$mg ¶moOZm 4) H$mamJra à{ejU ¶moOZm

14) Of the following which is not a scheme through NSDC ?

(1) RozgarMela (2)  Udaaa

(3)  Pradhan Mantri Kaushal Vikas Yojana (4)  Craftsmen Training Scheme
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15) A±ào{Q>g{en {ejU hm CÚmoJ qH$dm AmñWmnZo‘Yrc à{ejUmMm Aä¶mgH«$‘ Amho. A±ào{Q>g{en {eH$mD$ C‘oXdma
A{Y{Z¶‘ ¶m‘Ü¶o H$moUË¶m ~m~rMm g‘mdoe AgVmo ?
1) ‘yc ŷV à{ejU KQ>H$ 2) Am°Z-X-Om°~ Q´>oqZJ (OJT)

3) H$m‘mÀ¶m {R>H$mUr àË¶j à{ejU 4) darc gd©
15) Apprenticeship training ia a course of training in an industry or establishment under a contract of

Apprenticeship Act which consists of

(1)  Basic training component (2)  On-the-job training (OUT)

(3)  Practical training at workplace (4)  All of the above
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(7) {ejU, Amamo½`, H¥$fr, J¥h{Z‘m©U joÌmMm {dH$mg
1) {ejU joÌmVrb CnH«$‘, ¶moOZm
2) Amamo½` joÌmVrb CnH«$‘, ¶moOZm
3) H¥$fr d J«m‘rU {dH$mg ¶moOZm, H$m¶©H«$‘
4) AÞgwajm Am{U {dH$mg
5) J¥h{Z‘m©U{df¶H$ ¶moOZm, H$m¶©H«$‘

1) {ejU joÌmVrb CnH«$‘, ¶moOZm
1) gd© {ejm A{^¶mZ H$Yr gwê$ H$aÊ¶mV Ambo?

1) 2002-03 2) 2004-05 3) 2000-2001 4) 2003-2004
1) When was Sarva Shiksha Abhiyan launched?

1) 2002-03 2) 2004-05 3) 2000-2001 4) 2003-2004

2) amï´>r¶ àm¡T> {ejU n[afXoMr ñWmnZm H$moUË¶m n§Mdm{f©H$ ¶moOZoV Ho$cr ?
1) n{hë¶m 2) MdÏ¶m 3) nmMì¶m 4) ghmì¶m

2) In which Five Year Plan was the National Adult Education Council established ?

(l)  First (2)  Fourth (3) Fifth (4) Sixth

3) ""gd© gwYmaUm§Mm AmYma e¡j{UH$ d àmW{‘H$ {ejUmVrb gwYmaUm Amho, Ago H$moUVmhr CËgmhr gwYmaH$ {ZpíMVnUo
åhUob ¶m~Ôb dmX Agmd¶mMo H$maU Zmhr. nU dmabr gma»¶m Am{X‘m§À¶m ~m~VrV àíZ Ë¶m AmYr gmoS>{dbm nm{hOo.
ŵHo$Mr Z¡g{J©H$ JaO ^mJ{dbr nm{hOo. Á¶m bmoH$m§Zm XmoZ doiobm nmoQ>^a ^mH$ar {‘iV Zmhr. Ë¶m§À¶m {df¶r gmjaVm

hm AdmñVd {df¶ hmoB©b.'' ¶m Am{XdmgtÀ¶m ‘mJmgbonUmÀ¶m Am{W©H$ g‘ñ¶oda Ago ^mî¶ H$moUr Ho$bo ?
1) ‘hmË‘m Jm§Yr 2) dra gmdaH$a 3) Ho$. Oo. gmdo 4) n§{S>V Zohê$

3)  "There is no reason to dispute that any ardent reformer will surely say that the basis of all reform

is the reform of education and primary education. But in the case of primitives like Warli the

question must be settled before that. The natural need for hunger should be satisfied. People who

do not get enough bread for two meals. Literacy about them will be a nonsensical subject." Who

commented on the economic problem of the backwardness of these tribals?

1) Mahatma Gandhi 2) Veer Savarkar 3) K. J. Save 4) Pandit Nehru

4) OJm‘Ü¶o ‘wº$ {dÚmnrR>mMr ñWmnZm gd©àW‘ H$moUË¶m XoemV Pmcr ?
1) ¶w. Eg. E. 2) ¶w. Ho$. 3) ^maV 4) Am°ñQ´>o{c¶m

4) In which country was the first Open University in the world established ?

(1)  USA (2)  UK (3)  India (4)  Australia

5) Vm{‘iZmSy>‘Ü¶o E.~r.Eb., H$Zm©Q>H$m‘Ü¶o Z„r H$br, JwOamV‘Ü¶o àkm hr ¶moOZm ...... {ejH$m§gmR>r '{d{eï> {ejH$
à{ejU' ‘m°S>çyb {dH${gV H$aÊ¶mgmR>r Ho$boë¶m AmhoV.
a) dJ© 1 br d dJ© 2 ar À¶m {dÚmÏ¶mªZm AÜ¶mnZ H$aUmè¶m {ejH$m§gmR>r.
b) dJ© 3 ar d dJ© 4 Wr À¶m {dÚmÏ¶mªZm AÜ¶mnZ H$aUmè¶m {ejH$m§gmR>r.
c) dJ© 5 dr d dJ© 6 dr À¶m {dÚmÏ¶mªZm AÜ¶mnZ H$aUmè¶m {ejH$m§gmR>r.
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n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (b) 3) (a) d (b) XmoÝhr 4) darbn¡H$s gd©

5) Under ABL in Tamil Nadu, Nali Kali in Karnataka, Pragya in Gujarat, steps have been taken to

develop ‘specific teacher training’ modules for teachers

a) teaching students in classes 1 and 2.

b) teaching students in classes 3 and 4.

c) teaching students in classes 5 and 6.

Answer Options :

1) Only (a) 2) Only (b) 3) Both (a) and (b) 4) All of the above

6) Zmoìh|~a 2000 ‘Ü¶o gwé Ho$coë¶m gd© {ejm A{^¶mZmMr hr C{ÔîQ>ço hmoVr.
a) emco¶ {ejU ì¶dñWoV gwYmaUm
b) àmW{‘H$ {ejUmMm XOm© C§MmdUo.
c) emim AmdmamV ‘mÜ¶mÝh ^moOZ nwa{dUo
n¶m©¶r CÎmao :
1) ’$º$ (a) ~amo~a Amho 2) (a) Am{U$ (b) ~amo~a Amho
3) (a) Am{U$ (c) ~amo~a Amho 4) (b) Am{U$ (c) ~amo~a Amho

6) Sarva Shiksha Abhiyan (SSA) launched in November 2000 aimed at :

a) Improved performance of school sysyem

b) Imparting quality in elementary education

c) Providing mid-day meal at school premises

Answer options :

1) Only (a) is correct 2) (a) and (b) are correct

3) (a) and (c) are correct 4) (b) and (c) are correct

7) {dÚmnrR> AZwXmZ Am¶moJmZo godm§VJ©V ‘hm{dÚmc¶rZ {ejH$m§À¶m JwUdÎmmdmT>rgmR>r ............ gwé Ho$co AmhoV.
1)  narjm
2)  àmXo{eH$ {ejU ‘hm{dÚmc¶o
3) H|$Ðr` {dÚmnrR>o
 4) A°Ho$S>°{‘H$ ñQ>m’$ H$m°coOog/‘mZdr {dH$mg g§gmYZ H|$Ðo (HRDC)

7) UGC has started ............ for enharieement of quality of in-service collegeteachers

(1) NETexams

(2)  Regional colleges

 (3)  Central universities

(4)  Academic staff collegea/Human Resource Development Centres (HRDC)

8) gmVË¶nyU© gdªH$f ‘yë¶‘mnZmMo C{Ôï> H$m¶ Amho/AmhoV?
a) dV©Z {ZînÎmr
b) {dÚmÏ¶mªÀ¶m ì¶mnH$ AÜ¶¶Z à{H«$¶oMo gmVË¶nyU© ‘yë¶‘mnZ
c) {dÚmÏ¶mª‘Ü¶o Z¡{VH$ d AmÜ¶mpË‘H$ ‘yë¶o q~~{dUo.
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) (a) Am{U (b) XmoÝhr 3) (b) Am{U (c) XmoÝhr 4) darb gd©
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8) What is/are the objectives of Continuous Comprehensive Evaluation ?

a) Behavioural outcomes

b) Continuity in Evaluation and Assessment of Broad Based Learning of students

c) Inculcate the moral and spiritual values in students

Answer Options :

1) Only (a) 2) Both (a) and (b) 3) Both (b) and (c) 4) All of the above

9) A¶mo½¶ H$WZ AmoiIm -
a) ‘mÜ¶{‘H$ {ejUmMr JwUdÎmm gwYmaUo d àdoe dmT>{dUo ¶m CÔoemZo 2009 ‘Ü¶o amï´>r¶ ‘mÜ¶{‘H$ {ejm A{^¶mZ gwê$

H$aÊ¶mV Ambo.
b) emim {gÕr - emioMr ‘mZHo$ Am{U ‘yë¶‘mnZ AmamIS>m Am{U Ë¶mMo do~ nmoQ>©b 2015 ‘Ü¶o gwê$ H$aÊ¶mV Ambo.
c) Am°JñQ>, 2016 ‘Ü¶o 1099 H|$Ðr¶ {dÚmb¶m§Zm H$joV KoÊ¶mgmR>r 'emim Xn©U' àH$ën gwê$ H$aÊ¶mV Ambm.
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (b) 3) ’$º$ (c) 4) ¶mn¡H$s Zmhr

9) Select the incorrect statement —

a) Rashtriya Madhyamik Shiksha Abhiyan was launched in 2009 with the objective to enhance

access to secondary education and improve its quality.

b) Shala Siddhi — School standards and evaluation framework and its web portal was launched in

2015.

c) ‘Shala Darpan’ project to cover all the 1099 Kendriya Vidyalayas was launched in August,

2016.

Answer Options :

1) Only (a) 2) Only (b) 3) Only (c) 4) None of the above

10) 'gd© {ejm A{^¶mZm~m~V' Imbrbn¡H$s H$moUVo {dYmZ MwH$sMo Amho?
a) n§VàYmZ AQ>b {~hmar dmOno¶r ¶m A{^¶mZmMo g§ñWmnH$ AmhoV.
b) 'gdmªgmR>r {ejU' ho ¶m A{^¶mZmMo ~moYdm³¶ Amho.
c) Cƒ {ejUmMo gmd©{ÌH$sH$aU ho ¶mMo C{Ôï> Amho.
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (b) 3) ’$º$ (c) 4) ¶mn¡H$s EH$hr Zmhr

10) Which one of the following statement about the ‘Sarva Shiksha Abhiyan’ is incorrect ?

a) Prime Minister Atal Bihari Vajpayee is the founder of this abhiyan.

b) ‘Education For All’ is the motto of this abhiyan.

c) Universalisation of Higher Education is an aim of this abhiyan.

Answer Options :

1) Only (a) 2) Only (b) 3) Only (c) 4) None of the above

11) Imbrb H$WZo bjmV ¿¶m Am{U A¶mo½¶ H$WZ AmoiIm …
a) amÁ¶ gaH$ma Am{U ñWm{ZH$ ñdamÁ¶ g§ñWm§À¶m ^mJrXmar‘Ü¶o gd© {ejm A{^¶mZ 2001-2002 ‘Ü¶o gwê$

H$aÊ¶mV Ambo.
b) gd© {ejm A{^¶mZm‘Ü¶o bmoH$ Ow§{~e d Am°naoeZ ãb°H$~moS>© H$m¶©H«$‘ g‘m{dï> Ho$bobm Zmhr.
c) EZ.nr.B©.Or.B©.Eb. d H$ñVwa~m Jm§Yr H$m¶©H«$‘ ho gd© {ejm A{^¶mZ‘Ü¶o g‘m{dï> H$aÊ¶mV Ambo.
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n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (b) 3) ’$º$ (c) 4) ¶mn¡H$s Zmhr

11) Consider the following statements and select the incorrect statement :

a) Sarva Shiksha Abhiyan has been launched in 2001 — 2002 in partnership with the State

Governments and Local Self-Governments.

b) Sarva Shiksha Abhiyan does not cover the Lok Jumbish and Operation Blackboard Programme.

c) Sarva Shiksha Abhiyan eovere NPEGEL and Kasturba Gandhi Programme.

Answer Options :

1) Only (a) 2) Only (b) 3) Only (c) 4) None of the above

2) Amamo½` joÌmVrb CnH«$‘, ¶moOZm
1) amï´>r¶ Amamo½¶ A{^¶mZ H$YrnmgyZ am~{dÊ¶mV ¶oV Amho?

1) 10 - 4 - 2006 2) 10 - 4 - 2005 3) 12 - 4 - 2006 4) 12 - 4 - 2005
1) Since when the National Health Mission is being implemented?

1) 10 - 4 - 2006 2) 10 - 4 - 2005 3) 12 - 4 - 2006 4) 12 - 4 - 2005

2) àYmZ‘§Ìr OZAmamo½¶ ¶moOZ|VJ©V {H$Vr {d‘m g§ajU {Xbo OmVo ?
1) à{V Hw$Qw>§~ à{V df© é.1,50,000 2) à{V Hw$Qw>§~ à{V df© é.3,00,000
3) à{V Hw$Qw>§~ à{V df© é.5,00,000 4) à{V Hw$Qw>§~ à{V df© é.2,50,000

2) How much insurance cover is provided under Pradhan Mantri Jan Arogya Yojana?

1) Rs.1,50,000 per year per family 2) Rs.3,00,000 per year per family

3) Rs.5,00,000 per year per family 4) Rs.2,50,000 per year per family

3) ‘hmË‘m ’w$bo OZ Amamo½¶ ¶moOZoV YmoaU dfm©V à{V Hw$Qw>§~ {H$Vr àVrnyVu AZwko¶ Ho$br OmVo ?
1) é.2,00,000 2) é.2,50,000 3) é.1,00,000 4) é.3,00,000

3) In Mahatma Phule Jan Arogya Yojana, how much reimbursement is permissible per family

during the policy year?

1) Rs.2,00,000 2) Rs.2,50,000 3) Rs.1,00,000 4) Rs.3,00,000

3) H¥$fr d J«m‘rU {dH$mg ¶moOZm, H$m¶©H«$‘
1) XrZX¶mb A§Ë¶moX¶ ¶moOZm - amï´>r¶ J«m‘rU OrdZmoÞVr A{^¶mZm§VJ©V H|$Ð d amÁ¶mMm IMm©Mm dmQ>m {H$Vr ?

1) 75 … 25 2) 60 … 40 3) 80 … 20 4) 70 … 30
1) What is the cost share of center and state under Deendayal Antyodaya Yojana - National Rural

Development Mission?

1) 75 : 25 2) 60 : 40 3) 80 : 20 4) 70 : 30
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2) AmXe©Jm§d g§H$ën d àH$ën ¶moOZm H$moUË¶m àemgH$s¶ {d^mJm§VJ©V am~{dÊ¶mV ¶oVo ?
1) J«m‘ {dH$mg {d^mJ 2) Am{Xdmgr {dH$mg {d^mJ
3) ‘¥X d Obg§YmaU {d^mJ 4) Obg§nXm {d^mJ

2) Adarshgaon Resolution and Project Plan is implemented under which administrative department?

1) Village Development Department       2) Tribal Development Department

3) Soil and Water Conservation Department      4) Water Resources Department

3) eaX ndma J«m‘ g‘¥Õr ¶moOZo A§VJ©V Imcrcn¡H$s H$moUË¶m H$m‘m§Zm àmYmÝ¶ XoÊ¶mV ¶oVo ?
a)$Jm¶ d åh¡g ¶m§À¶mH$[aVm n¸$m JmoR>m ~m§YUo. b)$eoirnmcZ eoS> ~m§YUo
c)$Hw$³Hw$Q>nmcZ eoS> ~m§YUo d)$ZmS>on H§$nmopñQ>¨J
n¶m©¶r CÎmao :
1) ’$º$ (a)$ 2) (b)$Am{U (c)$ 3) darcn¡H$s Zmhr 4) darcn¡H$s gd©

3) Which of the following works was given priority under Sharad Pawar Gram Samrudhi Yojana ?

(a)  Construction of permanent shed for cows and buffaloes

(b)  Construction of goat rearing sheds

(c)  Construction of poultry sheds

(d)  Nadep composting

Answer Options :

(l)  Only (a) (2) (b) and (c) (3) None of the above 4) All of the above

4) H|$Ð gaH$maZo nrE‘OrEgdm¶ 3 H$m¶©H«$‘ ‘§Oya Ho$cm ¶m‘Ü¶o J«m‘rU ^mJ H$emZo OmoS>cm OmUma Amho ?
a)$Am§Vaamï´>r¶ {d‘mZVio b)$J«m‘rU H¥$fr ~mOma
c)$Cƒ ‘mÜ¶{‘H$ emim d)$é½Umc¶o
n¶m©¶r CÎmao :
1) (a)$Am{U (b)$ 2) (a),(b)$Am{U (c) 3) (b),(c) Am{U (d)$ 4) gd© n¶m©¶ ~amo~a AmhoV

4) The Central Government has sanctioned PMGSY 3 programmes in rural areas. What is it that is

going to be corrected ?

(a) International Airports (b)  Rural Agriculture Markets

(c)  Higher Secondary Schools (d) Hospitals

Answer Options :

(1)  (a) and (b) (2)  (a), (b) and (c) (3)  (b), (c) and (d)   (4)  All options area correct

5) J«m‘rU OrdZmoÞVr A{^¶mZ AWm©V "C‘oX" A{^¶mZmMr ‘w»¶ H$m¶©o H$moUVr ?
a) J[a~r {Z‘y©cZmMm g‘J« {dMma b)$g‘wXm¶ {dH$mg
c) emídV CnOr{dH$m {Z‘m©U H$aUo d)$~MV JQ>mÛmao {ó¶m§Mo g§KQ>Z
n¶m©¶r CÎmao :
1) (a)$’$º$ (b)$ 2) (b)$Am{U (c)$ 3) ’$º$ (a)$        4) (a), (b), (c) Am{U (d)$

5) What are the specific functions of Gramin Jivanonnati Abiyan  - 'UMED'  ?

(a)  Holistic view of poverty eradication

(b) Community development

(c)  Create sustainable livelihood

(d)  Organisation of women through self-help groups
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Answer Options :

(l)  (a) and (b) (2)  (b) and (c) (3)  Only (a) (4)  (a), (b), (c) and (d)

6) EH$mpË‘H$ J«m‘rU {dH$mg H$m¶©H«$‘mMr H$moUVr d¡{eîQ>ço hmoVr ?
a)$g‘Ýd¶mË‘H$ {dH$mg b)$AZoH$ ~m~tMo EH$mË‘rH$aU
c)$AZwXmZmgh H$O© d)$amoOJmamMr h‘r
n¶m©¶r CÎmao :
1) (a) Am{U (b) 2) (b) Am{U (c) 3)(a),(b) Am{U (c) 4) ¶mn¡H$s Zmhr

6) What were the features of Integrated Rural Development Programme ?

(a) Coordinating development (b)  Integration of many thinga

(c)  Loan with grantG (d)  Guarantee of employment

Answer Options :

(l)  (a) and (b) (2) (b)alld (c) (3)  (a), (b) and (c) (4)  None of the above

7) Imbrbn¡H$s H$moUVr {dYmZo ""XrZX¶mb CnmÜ¶m¶ J«m‘ Á¶moVr ¶moOZm' H$[aVm ~amo~a AmhoV ?
a) J«m‘rU ^maVmbm {dÚwV OmoS>Ur nwadUo.
b) hr ¶moOZm 100 Q> o̧$ H|$Ð gaH$maH$Sy>Z nwañH¥$V Amho.
c) hr ¶moOZm 25 Q> o̧$ amÁ¶ gaH$maZo d 75 Q> o̧$ H|$ÐgaH$maZo nwañH¥$V Ho$br Amho.
d) hr ¶moOZm ’$º$ Xm[aÚ« aofoImbrb Hw$Qw>§~mgmR>r Amho.
n¶m©¶r CÎmao …
1) (a) Am{U (c) {dYmZo ~amo~a AmhoV. 2) (b) Am{U (d) {dYmZo ~amo~a AmhoV.
3) (a) Am{U (b) {dYmZo ~amo~a AmhoV. 4) (a), (d) Am{U (c) {dYmZo ~amo~a AmhoV.

7) Which of the following statements are correct for been Dayal Upadhyaya Gram Jyoti Yojana’ ?

(a) To provide power connection to rural India.

(b) This Yojana is sponsored 100 percent by the Central Government.

(c) This Yojana is sponsored 25 percent by State Governments and 75 percent by the Central

Government.

(d) This Yojana is only for BPL (Below Poverty Line) families.

Answer Options :

(1)  Statements (a) and (c) are correct (2)  Statements (b) and (d) are correct

(3)  Statements (a) and (b) are correct (4)  Statements (a), (d) and (c) are correct

8) ‘hmamï´> amÁ¶ H¥$fr ì¶dgm¶ d J«m‘rU n[adV©Z àH$ën (SMART) H$moUË¶m àemgH$s¶ {d^mJm§‘m’©$V am~{dÊ¶mV ¶oVmo?
1) H¥$fr, nXþ‘ {d^mJ, J«m‘ {dH$mg {d^mJ d Am{Xdmgr {d^mJ
2) H¥$fr, nXþ‘ {d^mJ, J«m‘ {dH$mg {d^Jm d CÚmoJ COm© {d^mJ
3) H¥$fr, nXþ‘ {d^mJ, J«m‘ {dH$mg {d^mJ, ghH$ma d nUZ {d^mJ
4) ¶mn¡H$s Zmhr

8) Maharashtra State Agribusiness and Rural Transformation Project (Dachathadh) is implemented

through which administrative departments?

1) Agriculture, Padum Department, Village Development Department and Tribal Department

2) Agriculture, Padum Department, Village Development Department and Industry Power De-

partment
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3) Agriculture, Padum Department, Village Development Department, Cooperation and Mar-

keting Department

4) None of these

9) PMKSY A§VJ©V gyú‘-qgMZ `moOZogmR>r bm^mÏ`mªZm CnbãY Agboë`m ghmæ`mÀ`m Z‘wZm ~m~VrV Imbrbn¡H$s
H$moUVo ~amo~a Amho?
1) bhmZ Am{U AË`ën ŷYmaH$ eoVH$è`m§gmR>r 60% Am{U BVa eoVH$è`m§gmR>r 40%.
2) 75% bhmZ Am{U gr‘m§V eoVH$è`m§gmR>r Am{U 55% BVa eoVH$è`m§gmR>r.
3) bhmZ Am{U AË`ën ŷYmaH$ eoVH$è`m§gmR>r 55% Am{U BVa eoVH$è`m§gmR>r 45%.
4) gd© eoVH$è`m§gmR>r 50%.

9) Which of the following is correct in case of pattern of assistance available to the beneficiary for

micro-irrigation scheme under PMKSY ?

1) 60% for small and marginal farmers and 40% for other farmers.

2) 75% for small and marginal farmers and 55% for other farmers.

3) 55% for small and marginal farmers and 45% for other farmers.

4) 50% for all farmers.

10) àYmZ‘§Ìr H¥$fr qgMmB© `moOZoÀ`m (PMKSY) AZoH$ ì`mnH$ C{Ôï>m§n¡H$s Imbrb Jmoï>r AmhoV :
A) joÌr` ñVamda qgMZmVrb Jw§VdUwH$sMo A{^gaU gmÜ` H$aUo.
~) eoVmV nmÊ`mMm ^m¡{VH$ àdoe dmT>dm Am{U ImÌrera qgMZmImbr bmJdS>r`mo½` joÌ dmT>dm (ha IoV H$mo nmZr).
H$) AMyH$ qgMZ Am{U BVa nmUr-~MV V§ÌkmZmMm Adb§~ dmT>dm (à{V-W|~ A{YH$ nrH$)
S>) àË òH$ J«m‘rU Hw$Qw>§~mbm ’§$ŠeZb hmCghmoëS> Q>°n H$ZoŠeZ (FHTC) àXmZ H$aÊ`mgmR>r
darbn¡H$s H$moUVr {dYmZo ~amo~a/AmhoV?
1) A Am{U ~ ’$º$ 2) A, ~ Am{U H$ ’$º$ 3) A, ~ Am{U S> ’$º$ 4) darb gd©

10) Following are among the several broad objectives of Pradhan Mantri Krishi Sinchayee Yojana

(PMKSY) :

a) Achieve convergence of investments in irrigation at the field level.

b) Enhance the physical access of water on the’farm and expand cultivable area under assured

irrigation (Har khet ko pani).

c) Enhance the adoption of precision irrigation and other water-saving technologies (More crop

per-drop).

d) To provide Functional Household Tap Connection (FHTC) to every rural household

Which of the above statements is/are correct ?

1) a and b only 2) a, b and c only 3) a, b and d only 4) All of the above

11) GoM Zo PMFBY `moOZoÀ`m A§‘b~OmdUrgmR>r Iarn 2022 h§Jm‘mV nrH$ {d‘m Ñ{ï>H$moZmMo H$n Am{U H°$n ‘m°S>ob
ñdrH$mabo Amho.
`m g§X^m©V, Imbrbn¡H$s H$moUVr {dYmZo MwH$sMr AmhoV/AmhoV.
A) amÁ` gaH$ma A{Ygy{MV ŠbñQ>a‘Ü ò 110% ZwH$gmZ à‘mUmnojm OmñV Xmì`m§Mr ^anmB© H$aob.
~) Ooìhm A{Ygy{MV ŠbñQ>a ZwH$gmZ à‘mU 80% À`m ~amo~arMo AgVo; {d‘m H§$nZr 20% àr{‘`‘ amIyZ R>odVo Am{U

gd© Xmdo ^aVo.
H$) H$n Am{U H°$n nÜXVrÀ`m A§‘b~OmdUr‘wio nrE‘E’$~rdm` A§‘b~OmdUrÀ`m nyduÀ`m nÜXVrÀ`m VwbZoV nrH$

H$mnUrÀ`m Mm§Jë`m dfmª‘Ü ò ImOJr {d‘m H§$nZrMm Z’$m H$‘r hmoD$ eH$Vmo.
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S>) eoVH$è`m§Mo àr{‘`‘ Xa H$n Am{U H°$n ‘m°S>ob ‘Ü ò Joë`m dfuÀ`m àr{‘`‘ Xam§nojm dmT>bo AmhoV.
n¶m©¶r CÎmao :
1) ’$º$ A Am{U ~ 2) A, ~, H$ Am{U S> 3) ~ ’$º$ 4) S> ’$º$

11) The GoM has adopted “Cup and Cap Model” of crop insurance approach in Kharif 2022 season in

implementation of PMFBY scheme.

With respect to this, which of the following statements is/are incorrect.

a) The State Government will pay claims in excess of a 110% loss ratio within a notified cluster.

b) When the notified cluster loss ratio is equal to 80%; the insurance company retains 20% of

the premium and pays all the claims.

c) Implementation of Cup and Cap approach could reduce private insurance company profits in

good years of crop harvest as compared, to earlier PMFBY implementation approach.

d) Farmers’ premium rates are increased in “Cup and Cap Model” over last year’s premium rates.

Answer options :

1) a and b only (2) a, b, c and d 3) b only 4) d only

12) O‘rZXmamMo {hVg§~§Y OnÊ¶mgmR>r EImXo Hy$i H$moUË`mhr doir H$moUË`mhr O{‘ZrÀ`m g§X^m©V ^mS>oH$ama g§nwï>mV AmUy
eH$Vmo H$m?
A) hmò , Vmo Vgo H$ê$ eH$Vmo ~) Zmhr, Vmo Vgo H$ê$ eH$V Zmhr
H$) Aer H$moUVrhr VaVyX Zmhr S>) Vr ~oH$m`Xoera Agob
darbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV/AmhoV?
1) A ’$º$ 2) ~ ’$º$ 3) H$ Am{U S> ’$º$ 4) S> ’$º$

12) Can a tenant terminate the tenancy in respect of any land at any time by surrendering his interest

therein in favour of the landlord ?

a) Yes, he can do so b) No, he cannot do-so

c) There is no such provision d) It will be illegal

Which of the statements given above is/are correct ?

1) a only 2) b only 3) c and d only 4) d only

4) AÞgwajm Am{U {dH$mg
1) amï´>r¶ AÞ gwajm H$m¶Xm {X. ............ nmgyZ g§nyU© Xoe^amV bmJy H$aÊ¶mV Ambm Amho.

1) 2 ’o$~«wdmar 2006 2) 23 OmZodmar 2018 3) 1 E{àb 2016 4) 1 Zmoìh|~a 2016
1) National Food Security Act dt. It has been implemented across the country from .............

1) 2 February 2006 2) 23 January 2018 3) 1 April 2016 4) 1 November 2016

2) amï´>r¶ AÞgwajm H$m¶ÚmA§VJ©V A§Ë¶moX¶ Hw$Qw>§~mgmR>r Xa‘hm {H$Vr bm^ {Xbm OmVmo ?
1) 35 {H$.J«°. AÞ à{V Hw$Qw>§~ à{V‘mh 2) 25 {H$.J«°. AÞ à{V Hw$Qw>§~ à{V‘mh
3) 15 {H$.J«°. AÞ à{V Hw$Qw>§~ à{V‘mh 4) 20 {H$.J«°. AÞ à{V Hw$Qw>§~ à{V‘mh

2) How much monthly benefit is given to Antyodaya family under National Food Security Act?

1) 35 kg. Food per family per month 2) 25 kg. of food per family per month

3) 15 kg. of food per family per month 4) 20 kg. of food per family per month
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3) ^maVr` AÞ gwajm Am{U ‘mZH$ àm{YH$aUmMr ñWmnZm Imbrbn¡H$s H$moUË`m H$m`ÚmZo Ho$br Jobr Amho?
A) AÞ ôgi à{V~§YH$ H$m`Xm, 1954 ~) AÞ CËnmXZ AmXoe, 1956
H$) H¥$fr CËnÞ ~mOma H$m`Xm, 1972 S>) AÞ gwajm Am{U ‘mZH$ H$m`Xm, 2006
darbn¡H$s H$moUVo n`m©̀  `mo½` AmhoV/AmhoV?
1) A Am{U ~ ’$º$ 2) ~ Am{U H$ ’$º$ 3) ~ ’$º$ 4) ’$º$ S>

3) Food Safety and Standards Authority of India is established by which of the following Act ?

a) The Prevention of Food Adulteration Act, 1954

b) Food Production Order, 1956

c) The Agricultural Produce Markets Act, 1972

d) The Food Safety and Standards Act, 2006

Which of the options given above is/are correct ?

1) a and b only 2) b and c only 3) b only 4) d only

4) 'OmJ{VH$ AÞ gwajm {ZX}em§H$ - 2021' ~m~V Imbrb {dYmZm§Mm {dMma H$am.
A) hm Ahdmb b§S>Z pñWV ""BH$m°Zm°{‘ñQ> B©ån°³Q>'' ¶m g§ñWoZo V¶ma Ho$bm hmoVm.
~) ¶m AhdmbmV 113 Xoem§À¶m ¶mXrV ^maV 57.2 JwUm§gh 71 ì¶m ñWmZmda hmoVm.
H$) ¶m ¶mXrV nm{H$ñVmZ 77 ì¶m Zìho Va 78 ì¶m ñWmZmda hmoVm.
S>) OmJ{VH$ H«$‘dmarV Am¶bªS> hm Xoe àW‘ ñWmZmda hmoVm.
n¶m©¶r CÎmao …
1) 'A' Am{U '~' {dYmZo ~amo~a AmhoV. 2) 'A', '~' Am{U 'H$' {dYmZo ~amo~a AmhoV.
3) 'A', '~' Am{U 'S>' {dYmZo ~amo~a AmhoV. 4) darb gd© {dYmZo ~amo~a AmhoV.

4) Consider the statement regarding Global Food Security Index - 2021.

A) This report was prepared by London based organisation "Economist Impact."

B) In this report India was at 71st position with 57.2 score, among the list of 113 countries.

C) In this list Pakistan was not on the 77th but 78th position.

D) Ireland was on the first position among the global ranking.

Answer Options :

1) Statements 'A' and 'B' are correct 2) Statements 'A', 'B' and 'C' are correct

3) Statements 'A', 'B' and 'D' are correct 4) All Statements are correct

5) Imbrbn¡H$s H$moUVo YmoaU AÞ gwajoMm ^mJ Amho ?
a) gmd©O{ZH$ {dVaU ì¶dñWm geº$ H$aUo.
b) nmofU{df¶H$ C{Ôï>o {ZpíMV H$aUo.
c) AÞYmÝ¶mÀ¶m {H$‘mZ AmYma ŷV qH$‘Vr {ZpíMV H$aUo.
d) Xoem§VJ©V CËnmXZ A{YH$m{YH$ dmT>dÊ¶mg àmYmÝ¶ XoUo.
darbn¡H$s ¶mo½¶ n¶m©¶ {ZdS>m …
1) (a) Am{U (b) 2) (a) Am{U (d) 3) ’$º$ (c) 4) darb gd©

5) Which of the following policy is a part of food security ?

a) strengthening public distribution system.

b) to set nutrition related objectives.

c) to decide minimum support prices for food grains.

d) to promote domestic production.
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Choose correct options :

1) (a) and (b) 2) (a) and (d) 3) Only (c) 4) All above

6) Imbrbn¡H$s H$moUVo AÞ YmoaU ^maVmÀ¶m ñdmV§Í¶mnydu hmVr KoÊ¶mV Ambo hmoVo ?
1) nr.Eb.-480 H$ama 2) EH$mpË‘H$ AÞ YmoaU
3) A{YH$ {nH$dm AÞ A{^¶mZ 4) AÞYmÝ¶ Mm¡H$er g{‘VrMr {Z¶wº$s

6)  Which of the following food policy was undertaken before the independence of India ?

1) PL-480 Agreement

2) Integrated Food Policy

3) Grow More Food Campaign

4) Appointment of Foodgrains Enquiry Committee

7) ^maV gaH$maZo 1 OyZ, 1997 nmgyZ bú¶mYm[aV gmd©O{ZH$ {dVaU ì¶dñWm A§‘bmV AmUbr. ¶mMo ñdê$n nwT>rb
à‘mUo Amho …
a) bú¶mYm[aV ì¶dñWm b) Xþhoar qH$‘V c) H|$Ð d amÁ¶mMo {Z¶§ÌU d) EHo$ar qH$‘V
n¶m©¶r CÎmao …
1) (a) 2) (a) Am{U (d) 3) (a), (b) Am{U (d) 4) (a), (b) Am{U (c)

7) The Government of India implemented a targeted public distribution system from 1st June, 1997.

Its format is as follows :

(a)  Targeted system (b)  Double price

(c)  Control of Centre and State (d) Single price

Answer Options :

(1) (a) (2)  (a) and (d) (3) (a), (b) and (d) (4)  (a), (b) and (c)

5) J¥h{Z‘m©U{df¶H$ ¶moOZm, H$m¶©H«$‘
1) .............. ¶m {Xder PmonS>nÅ>r ‘wº$ ^maVmgmR>r ^maVmÀ¶m amï´>nVtZr ""amOrd Amdmg ¶moOZm'' gwê$ Ho$br.

1) 26 OmZodmar, 2016 2) 15 Am°JñQ>, 2013 3) 4 OyZ, 2009 4) 30 OmZodmar, 2009
1) The President of India introduced the “Rajiv Aawas Yojana” on     , for slum free India.

(1) 26th January, 2015 (2) 15th August, 2013

(3) 4th June, 2009 (4) 30 January, 2009

2) amÁ¶mMo D$Om© g§dY©Z YmoaUm§VJ©V Xadfu ............ bm ""D$Om© g§dY©Z {Xdg'' åhUyZ gmOam H$aÊ¶mV ¶oVmo.
1) 15 OmZodmar 2) 10 {S>g|~a 3) 27 {S>g|~a 4) 14 {S>g|~a

2) Every year ............ is observed as “Energy Conservation Day” under the energy conservation policy

of the state.

1) 15 January 2) 10 December 3) 27 December 4) 14 December

3) H|$Ð emgZmÀ¶m gyMZoZwgma ""A‘¥V A{^¶mZ'' amÁ¶mVrb ............... eham§‘Ü¶o am~{dÊ¶mV ¶oUma Amho.
1) 50 2) 45 3) 43 4) 42

3) kendra sasanacya sucanenusara “amr?ta abhiyana” rajyatila............... Saharammadhye rabavi?yata

ye?ara ahe.

1) 50 2) 45 3) 43 4) 42
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4) àYmZ‘§Ìr Amdmg ¶moOZ|VJ©V gnmQ> àXoemgmR>r {H$Vr AW©ghmæ¶ {Xbo OmVo ?
1) é.1,00,000 2) é.1,50,000 3) é.1,20,000 4) é.1,25,000

4) Under Pradhan Mantri Awas Yojana, how much financial support is provided for flat areas?

1) Rs.1,00,000 2) Rs.1,50,000 3) Rs.1,20,000 4) Rs.1,25,000

5) àYmZ ‘§Ìr Amdmg ¶moOZm (ZmJar) (PMAY-U) A§VJ©V 18 OmZodmar, 2021 n¶ªV........... Kao ‘§Oya H$aÊ¶mV
Amcr hmoVr.
1) 68.1 cmI 2) 128.8 cmI 3) 165.8 cmI 4) 109.2 cmI

5) Under Pradhan Mantri Awas Yojana (Urban) (PMAY-U), as on 18th January, 2021 ........... houses

have been sanctioned.

(1)  68-1 Lakhs             (2)  128 8 Lakhs (3)  165-8 LakhS            (4)  109 2 Lakhs

6) Imbrbn¡H$s H$moUË¶m ZJanm{bHo$bm ñdÀN> gd}jU df© 2021 Mm àW‘ H«$‘m§H$ àmá Pmbm?
1) {dQ>m 2) bmoUmdim 3) gmgdS> 4) AH$mobm

6) Which of the following Nagar Palika bagged the 1°* prize in the Cleanliness Survey, 2021? :

l) Vita 2) Lonavala 3) Saswad 4) Akola

7) ""‘mo’$V nmUr ¶moOZm gwê$ H$aUmao n{hbo amÁ¶, ^maVmVbo n{hbo ao~rO ‘wº$ amÁ¶, ¶oWrb Imobm {‘Mubm "OrAm¶
Zm‘m§H$Z' àmá Pmbo Amho.'' ho dU©Z Imbrbn¡H$s H$moUË¶m amÁ¶mer g§~§{YV Amho ?
1) ‘hmamï´> 2) Jmodm 3) Ho$ai 4) {X„r

7) “First state to start free water scheme, first rabies free state in India, Khola Mirchi here has

received ??GI nomination” This description relates to which of the following states?

1) Maharashtra 2) Goa 3) Kerala 4) Delhi

8) Imcrcn¡H$s H$moUË¶m ¶moOZo A§VJ©V ‘hmamï´> emgZmZo J«m‘rU ^mJmV B g. 2024 n¶ªV "ha Ka, Zi go Oc"
nmUrnwadR>m H$aÊ¶mMo C{Ôï> R>a{dÊ¶mV Amco hmoVo ?
a)$AQ>c ŷOc ¶moOZm b)$Oc OrdZ {‘eZ
c)$‘w»¶‘§Ìr nmUrnwadR>m ¶moOZm d)$J«m‘rU ŷOc {‘eZ
n¶m©¶r CÎmao :
1) ’$º$ (a)$ 2) ’$º$ (b)$ 3) (a)$Am{U (b)$ 4) darcn¡H$s Zmhr

8) Under which of the following schemes had the Government of Maharashtra set a target to supply

water  to Tlar Ghar, Nal se Jal’ inrural areas by 2024 ?

(a)  Atal Bhujal Yojana (b) Jal Jivan Mission

(c)  Mukhyamantri Panipurwatha Yojana (d)  Gramin Bhujal Mission

Answer Options :

(1)  Only (a) (2)  Only (b) (3)  (a) and (b) (4)  None of the above

9) ¶ed§Vamd MìhmU ‘wº$ dgmhV ¶moOZm Imcrcn¡H$s H$moUË¶m gm‘m{OH$ àdJm©er g§~§{YV Amho ?
a)$AZwgy{MV OmVr b)$AZwgy{MV O‘mVr
c)$^Q>³¶m O‘mVr d {d‘wº$ OmVr d)$BVa ‘mJmg dJu¶ OmVr
n¶m©¶r CÎmao :
1) (a)$Am{U (d)$ 2) (a) ’$º$ (b)$ 3) (a),(b)$Am{U (d)$ 4) ’$º$ (c)$
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9) Which of the following social categories is associated with Yashwantrao Chavan Mukt Vasahat

Yojana ?

(a)  Scheduled Castes (b)  Scheduled Tribes

(c)  Nomadic Tribes and De-notified tribes (d)  Other Backward Clans Castes

Answer Options :

(1)  (a) and (d) (2)  (a) and (b) (3)  (a), (b) and (d) (4)  Only (c)
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(8) ‘hmJmB© - H$maUo, n[aUm‘, {Z §̀ÌU, Cnm`,  g‘J«bjr AW©emó
1) dñVyMr {H$‘V d ~mOmanoR>
2) ‘hmJmB© - àH$ma, H$maUo, n[aUm‘
3) ‘hmJmB© - {Z §̀ÌU, Cnm`
4) g‘J«bjr AW©emó - n¡gm d MbZnwadR>m

1)  dñVyMr {H$‘V d ~mOmanoR>
1) {~«{Q>e AW©emók ............ ¶m§À¶m ‘Vo n¡emMm cdMrH$ nwadR>m hoM ì¶mnmaMH«$mMo à‘wI H$maU Amho.

1) Ho$Ýg 2) ‘me©b 3) {nJy 4) hm°Q´>o
1) According to the opinion of ...... the British economist, elasticity of money supply is the main

reason for the trade cycle.

1) Keynes 2) Marshall 3) Pigou 4) Hawvtrey

2) Ooìhm BZnwQ> Am{U BZnwQ> godm§Mr qH$‘V pñWa qH$‘Vtda ì`º$ Ho$br OmVo Voìhm Vo ............... qH$‘V ~ZVmV.
1) g§Yr 2) Am{W©H$ 3) {S>âboQ>oS> 4) dmñV{dH$

2) When the cost of inputs and input services are expressed at constant prices they become the

............... cost.

1) Opportunity 2) Economic 3) Deflated 4) Real

3) H$moUVm {Z¶‘ Ago gm§JVmo H$s EImÚm ì`º$sH$S>o {OVH$s OmñV dñVy Agob {VVH$s Ë`mMr Cn ẁº$Vm H$‘r AgVo?
1) g‘Vwë` Cn ẁº$VoMm H$m`Xm 2) ñnY}Mm H$m`Xm
3) gr‘m§V Cn`mo{JVm H$‘r H$aÊ`mMm H$m`Xm 4) {H$‘mZ H$m`Xm

3) Which law says that the more a commodity that an individual possesses, the less is the utility that

is derived from it ?

1) Law of equimarginal uility 2) Law of competition

3) Law of diminishing marginal utility 4) Law of minimum

4) ............. hr qH$‘V gamgar CËnmXZ IMm©da R>a{dbr OmVo. {OMm ‘yi CÔoe hm A{V  CËnmXZ H$mimV qH$‘V
KgaUrnmgyZ eoVH$è¶mMm ~Mmd H$aUo hm Amho.
1) {dVaU qH$‘V 2) {H$‘mZ AmYma ŷV qH$‘V
3) ‘¶m©Xm qH$‘V 4) darbn¡H$s H$moUVohr Zmhr

4)  price is fixed based on the average cost of production. This is mainly aimed at protecting  the

farmers against the price fall during surplus production.

(1)  Issue                   (2)  Minimum Support (3)  Ceiling                 (4)  None of the above

5) à^mdr ‘mJUr åhUOo ............. ¶m§Mm N>oXZq~Xÿ hmo¶.
a) ~MV dH«$ Am{U Jw§VdUyH$ dH«$
b) n¡emMm nwadR>m MH«$ Am{U n¡emÀ¶m ‘mJUrMm MH«$
c) EHy$U ‘mJUr dH«$ Am{U EHy$U nwadR>m MH«$
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n¶m©¶r CÎmao …
1) (b) {dYmZ ¶mo½¶ Amho 2) (c) {dYmZo ¶mo½¶ Amho.
3)  (a) {dYmZo ¶mo½¶ Amho 4) darbn¡H$s H$moUVohr {dYmZ ¶mo½¶ Zmhr

5) Effective demand is defined as the point of intersection of ......

a) saving curve and investment curve

b) money supply curve and demand for money curve

c) aggregate demand curve and aggregate supply curve Answer Options :

Answer Options :

1) Statement (b) is correct 2) Statement (c) is correct

3) Statement (a) is correct 4) None of the above statements are correct

6) JaOm, gwIgmò r Am{U M¡ZrÀ`m dñVy ........ À`m loUr AmhoV.
1) g§nÎmr 2) qH$‘V 3) nm{hOo 4) JaOm

6) Necessities, comforts and luxuries are the categories of ........

1) Wealth 2) Price 3) Wants 4) Needs

7) XmoZ KQ>H$m§‘Yrb ghg§~§Y JwUm§H$ (correlation coefficient) YZ (positive) Amho. øm dê$Z H$m¶ gy{MV hmoVo?
1) EH$m KQ>H$mMr (attribute) Mr qH$‘V dmT>br, Va Xþgè¶mMr qH$‘V gwÕm dmT>Vo.
2) EH$m KQ>H$mMr (attribute) Mr qH$‘V H$‘r Pmbr, Va Xþgè¶mMr qH$‘V dmT>Vo.
3) KQ>H$ (attribute) ho EH$‘oH$m§er linearly g§~§{YV ZmhrV.
4) darbn¡H$s EH$hr Zmhr

7) The correlation coefficient for two real-valued attributes is positive. What can be inferred from

it ?

1) As the ‘value of one attribute increases, the value of second attribute also increases.

2) As the value of one attribute decreases, the value of second attribute increases.

3) The attributes are not linearly related.

4) None of the above

8) {d{Z¶‘ g‘rH$aU ho Imbrb ghg§~§YmMo {dûcofU H$aÊ¶mMo ‘hÎdmMo gmYZ Amho …
a) gd©gmYmaU qH$‘VnmVir Am{U n¡emMo à‘mU/MbZnwadR>m
b) amoOJma nmVir Am{U qH$‘VnmVir
c) n¡emMo à‘mU Am{U H$m‘Jma H$m¶Xo
n¶m©¶r CÎmao …
1) (a) 2) (b) 3) (c) 4) (a), (b) Am{U (c)

8) The equation of exchange is an important tool of analysing correlation between ......

a) general price level and the quantity of money

b) employment level and price level

c) quantity of money and labour laws

Answer Options :

1) (a) 2) (b) 3) (e) 4) (a), (b) and (c)



‘hmamîQ´> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h … AW©emó / 104

For Private Circulation Only

9) {h³gÀ¶m {dûcofUmV MH«$s¶ pñWË¶§Vao hr ............ VÎdm§À¶m g§¶wº$ n[aUm‘mVyZ CX²̂ dVmV.
a) ‘yë¶ MwH$Vo H$aÊ¶mMr j‘Vm Am{U ñdrH$maÊ¶mMr j‘Vm
b) JwUH$ Am{U àdoJ
c) ^m§S>dbmMr gr‘m§V H$m¶©j‘Vm Am{U ì¶mOmMm Xa
n¶m©¶r CÎmao …
1) (a) {dYmZ ¶mo½¶ Amho 2) (b) {dYmZo ¶mo½¶ Amho.
3) (c) {dYmZo ¶mo½¶ Amho 4) (a), (b) Am{U (c) {dYmZo ¶mo½¶ AmhoV.

9) In Hicksian analysis, cyclical fluctuations take place due to a combined effect of ...... principles.

a) ability to pay and ability to accept

b) multiplier and acceleration

c) marginal efficiency of capital and rate of interest

Answer Options :

1) Statement (a) is correct 2) Statement (b) is correct

3) Statement (c) is correct 4) Statements (a), (b) and (c) are correct

10) OmoS>çm bmdm …
AW©emók g‘rH$aU
a) {’$ea i) M = KY

b) ‘me©b ii) P =
   MV + M'V'  .

                    T

c) {nJy iii) P =    M   .

                KT

d) am°~Q>©gZ iv) P = 
   KR   .

                 M

n¶m©¶r CÎmao …
(a) (b) (c) (d)

1) (iv) (iii) (i) (ii)

2) (ii) (i) (iv) (iii)

3) (i) (iii) (ii) (iv)

4) (iii) (ii) (iv) (i)

10) Match the following:

Economicst Equation

(a) Pisher i) M = KY

(b) Marshall ii) P =   MV + M'V'  .

                    T

(c) Pigu iii) P =    M   .

                KT

(d) Robertson iv)  P =    KR   .

                 M
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Answer Options :

(a) (b) (c) (d)

1) (iv) (iii) (i) (ii)

2) (ii) (i) (iv) (iii)

3) (i) (iii) (ii) (iv)

4) (iii) (ii) (iv) (i)

2) ‘hmJmB© - àH$ma, H$maUo, n[aUm‘
1) nwT>rb {dYmZo {dMmamV ¿¶m …

a) am§JVr MbZdmT> hr Am{W©H$ d¥Õr Am{U AZwHy$b n[aUm‘m§gmR>r ’$m¶Xoera Agy eH$Vo.
b) MbZdmT>rÀ¶m H$mimV n¡emMo ‘yë¶ dmT>Vo.
c) MbZdmT> hr F$UH$mobm bm^Xm¶H$ AgVo.
d) MbZdmT>r‘wio CËnÞmVrb {df‘Vm H$‘r hmoVo.
darbn¡H$s H$moUVo {dYmZ / {dYmZo ~amo~a Amho / AmhoV?
1) (a) ’$º$ 2) (b), (c) Am{U (d) 3) (b) Am{U (d) 4) (a) Am{U (c)

1) Consider the following :

a) Creeping inflation is condusive for economic growth and may have favourable effects.

b) During inflation value of money increases.

c) Inflation benefits debtors.

d) Inflation decreases the inequality of income.

Which of the statement/s given above is/are correct?

1) (a) only 2) (b), (c) and (d) 3) (b) and (d) 4) (a) and (c)

2) IM©ào[aV ^mddmT> hr Imbrb n[apñWVrMm n[aUm‘ Amho …
a) CÚmoJmMr CËnmXZ IMm©Vrb dmT>
b) H$a Am{U OH$mVr‘Yrb dmT>
c) eoVr CËnmXZmVrb dmT>
n¶m©¶r CÎmao …
1) (a) Am{U (c) 2) (a) Am{U (b) 3) (a), (b) Am{U (c) 4) (b) Am{U (c)

2) Cost-push inflation is a result of the following situations :

a) Cost of production of industry rises

b) Increase in taxes and customs duties

c) Increase in agricultural products

Answer Options :

1) (a) and (c) 2) (a) and (b) 3) (a), (b) and (c) 4) (b) and (c)

3) ^maVmVrb ^mddmT>rV nwadR>m ~mOyÀ¶m KQ>H$m§Mo àm~ë¶ Agë¶mZo Imbrb XrK©H$mbrZ YmoaU Cn¶wº$ R>ê$ eH$Vo.
a) ~XbVr CËnmXZ aMZm b) {Z¶mo{OV Am¶mV YmoaU
c) dmhVwH$sda ^a d) Zmed§V dñVwgmR>r gmR>dU gw{dYm
darbn¡H$s H$moUVm n¶m©¶ ~amo~a Amho/V ?
1) ’$º$ (a) Am{U (b) 2) ’$º$ (b) Am{U (c) 3) ’$º$ (c) Am{U (d) 4) darb gd©
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3) Given the importance of supply side factors in determination of inflation in India, following

long-term policies are likely to help.

a) Changing production patterns

b) Calibrated import policy

c) Focus on transportation

d) Storage infrastructure for perishable commodities

Which of the above options is/are correct?

1) Only (a) and (b) 2) Only (b) and (c) 3) Only (c) and (d) 4) All of the above

3) ‘hmJmB© - {Z §̀ÌU, Cnm`
1) Imbrb {dYmZo {dMmamV ¿¶m.

a) [aPìh© ~°H$ Am°’$ B§{S>¶m ^mddmT>rÀ¶m H$mimV ‘hmJ MbZ ZrVrMm dmna H$aVo.
b) [aPìh© ~±H$ Am°’$ B§{S>¶m ^mdKQ>rÀ¶m H$mim§V ñdñV MbZ YmoaUmMm dmna H$aVo.
c) [aPìh© ~±H$ Am°’$ B§{S>¶m Zo 1951 ‘Ü¶o ~±H$ Xa 3% BVH$m H$éZ ñdñV MbZ YmoaU gwé Ho$bo.
darbn¡H$s H$moUVo / Vr {dYmZ / Zo ~amo~a Amho / AmhoV ?
1) (a) Am{U (b) 2) (b) Am{U (c) 3) (a) Am{U (c) 4) darb gd©

1) Consider the following statements :

a) Reserve Bank of India use the Dear Money Policy during the period of inflation.

b) Reserve Bank of India use the Cheap Money Policy during the period of depression.

c) The R.B.L. started with a Cheap Money Policy with a Bank rate of 3% in 1951.

Which of the statement/s given above is/are correct ?

1) (a) and (b) 2) (b) and (c) 3) (a) and (c) 4) All of the above

2) OrdZmdûm`H$ dñVy H$m`Xm, 1955 A§VJ©V eoS>çyb‘YyZ H$moUVr dñVy H$moU OmoSy> qH$dm H$mTy> eH$Vo?
A) H|$Ð gaH$ma ~) H|$Ð gaH$ma amÁ` gaH$maer g„m‘gbV H$aVo
H$) amÁ` gaH$ma S>) g§~§{YV ‘§Ìmb`
darbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV/AmhoV?
1) A Am{U ~ XmoÝhr 2) ~ ’$º$ 3) H$ ’$º$ 4) ’$º$ S>

2) Who can add or remove any commodity from the schedule under Essential Commodities Act,

1955 ?

a) Central Government b) Central Government in consultation with the State Government

c) State Government d) The concerned Ministry

Which of the statements given above is/are correct ?

1) Botha and c 2) b only 3) c only 4) d only

3) Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
A) ^maVmV H$m¡Qw>§{~H$ joÌmbm nwa{dbr OmUmar drO OJmV gdm©V ñdñV Amho.
~) ^maVmVrb CÚmoJm§Mm {dOoMm Xa OJmV gdm©V OmñV Amho.
H$) ^maVmVrb drO {dVaUmMm IM© naVmdm g‘mYmZH$maH$ Amho.
n¶m©¶r CÎmao …
1) ’$º$ A Am{U ~ 2) ’$º$ ~ Am{U H$ 3) ’$º$ A Am{U H$ 4) darbn¡H$s H$moUVohr Zmhr
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3) Which of the following statements are correct ?

a.   The price of electricity for Indian households is lowest in the world.

b.  The price of electricity for Indian industries is highest in the world.

c.   Cost recovery in distribution of power is satisfactory in India.

Answer Options :

(l)  Only a and b (2)  Only b and c (3)  Only a and c (4)  None of the above

4) J«mhH$ g§ajU H$m`Xm emoY Am{U Oár Mo A{YH$ma àXmZ H$aVmo H$m?
A) hmò ~) Zmhr
H$) Ago A{YH$ma ^maVr` X§S> g§{hVoV AmhoV. S>) darbn¡H$s H$mhrhr Zmhr:
darbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV/AmhoV?
1) A Am{U H$ ’$º$ 2) ~ Am{U H$ ’$º$ 3) A ’$º$ 4) ’$º$ S>

4) Does the Consumer Protection Act confer the powers of “Search and Seizure” ?

a) Yes b) No

c) Such powers are in the Indian Penal Code. d) None of the above :

Which of the statements given above is/are correct ?

1) a and c only 2) b and c only 3) a only 4) d only

4) g‘J«bjr AW©emó - n¡gm d MbZnwadR>m
1) ImOJr {dÎm hr ........... AW©emómMr ~m~ Amho Am{U gmd©O{ZH$ {dÎm hr ........... AW©emómMr g§~§{YV Amho.

a) gyú‘, ñWyb b) ñWyb, gyú‘ c) n¶m©daUr¶, ^m¡Jmo{bH$ d) Am§Vaamï´>r¶, {d^mJr¶
n¶m©¶r CÎmao …
1) (d) CÎma ~amo~a Amho. 2) (b) CÎma ~amo~a Amho. 3) (c) CÎma ~amo~a Amho. 4) (a) CÎma ~amo~a Amho.

1) Private Finance is a concern of ......  Economics and Public Finance belongs to the category of

......  Economics.

a) Micro, Macro b) Macro, Micro

c) Environmental, Geographical d) International, Regional

Answer Options :

1) Answer (d) is correct 2) Answer (b) is correct

3) Answer (c) is correct 4) Answer (a) is correct

2) EImÚm amï´>mV OZVoÀ`m Xoem§VJ©V ~MVrVyZ {Z‘m©U hmoUmè`m OmJoda AmYm[aV ^m§S>dbmbm ......... ^m§S>db åhUVmV.
1) A§VJ©V 2) ghm`H$ 3) âbmoqQ>J 4) ‘mo~Xbm

2) The capital based on place that is generated from the domestic savings of the public in a nation is

called ........... capital.

1) Internal 2) Auxiliary 3) Floating 4) Remunerative

3) Imbrbn¡H$s H$moUË¶m ‘mZdr Am{W©H$ {H«$¶m nyU©nUo {ZgJm©da Adb§~yZ AgVmV ?
1) àmW{‘H$ 2) {ÛVr¶H$ 3) V¥Vr` 4) ¶mn¡H$s Zmhr
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3) Which of the following human economic activities is totally dependent on nature ?

(1)  Primary (2)  Secondary (3)  Tertiary (4)  None of these

4) ‘. Zm. go. (dV©UyH$) {Z¶‘, 1979 Zwgma "O§J‘ ‘mc‘Îmm" ¶m g§ko‘Ü¶o nwT>rcn¡H$s H$emMm g‘mdoe hmoUma Zmhr?
1) OS>Odmhra 2) eoAg© 3) dmhZo 4) eoVO‘rZ

4) m. no Sec. As per the (Conduct) Rules, 1979, the term "movable property" does not include which

of the following?

1) Real Estate 2) Shares 3) Vehicles 4) Agricultural Land

5) H$moUË`mhr OmJoÀ`m g§~§YmV ‘mZH$ ^mS>o åhUOo -
1) Ý`m`mb`mZo {Z{l²MV Ho$bobo ^mS>o. 2) ^mS>oH$ê$Zo {Z{l²MV Ho$bobo ^mS>o.
3) doimnÌH$mZwgma ^mS>o {Z{l²MV. 4) darb gd©.

5) Standard rent in relation to any premises means -

1) rent fixed by the court. 2) rent fixed by the tenant.

3) rent fixed as per schedule. 4) all the above.

6) H$moUË`m H°$b|S>aÛmao ^mS>o dgyb Ho$bo OmVo?
1) ‘amR>r {XZX{e©H$m 2) XodZmJar {XZX{e©H$m 3) {~«{Q>e H°$b|S>a 4) H$amamÀ`m AQ>r d eVuZwgma

6) By which calender, rent shall be recovered ?

1) Marathi calendar 2) Devanagari calendar

3) British calendar 4) As per terms and condition of contract

7) ‘.Zm.go. (dV©UyH$) {Z¶‘, 1979 Zwgma …
A) JQ> "A' Mm H$‘©Mmar ê$.25,000 n¶ªV qH$‘VrÀ¶m ôQ>dñVy Ë¶mÀ¶m {ddmhàg§Jr Ë¶mÀ¶m ZmVodmB©H$mH$Sy>Z ñdrH$mê$

eHo$b. ¶m~m~V emgZmg H$i{dÊ¶mMr Amdí¶H$Vm Zmhr.
~) JQ> "H$' Mm H$‘©Mmar ê$.7,500 n¶ªV qH$‘VrÀ¶m ôQ>dñVy ImOJr {‘Ìm§H$Sy>Z ñdrH$mê$ eHo$b. ¶m~m~V emgZmg

H$i{dÊ¶mMr Amdí¶H$Vm Zmhr.
n¶m©¶r CÎmao …
1) ’$º$ (A) ~amo~a 2) ’$º$ (~) ~amo~a 3) (A) d (~) ~amo~a 4) (A) d (~) MyH$

7) M.N.S. (Conduct) Rules, 1979 as per :

a) A Group A employee may accept gifts worth up to Rs.25,000 from his relative on the occa-

sion of his marriage. There is no need to inform the government about this.

b) An employee of Group ¨K¨? may accept gifts worth up to Rs.7,500 from private friends.

There is no need to inform the government about this.

Answer Options :

1) Only (a) is correct 2) Only (b) is correct

3) Both (a) and (b) are correct 4) (a) and (b) are false

8) "O§J‘ ‘mb‘Îmm' øm g§ko‘Ü¶o Imbrb H$moUË¶m ‘mb‘ÎmoMm g‘mdoe hmoVmo ?
1) OS>Odm{ha, eoAa, amoIo Am{U F$UnÌo     2) ‘moQ>maJmS>çm, ‘moQ>ma-gm¶H$br, KmoS>o qH$dm H$moUË¶mhr àH$maMo dmhZ
3) ao{’«$OaoQ>a, ao{S>Amo, ao{S>AmoJ«m‘ d Q>o{bpìhOZ goQ>              4) darbn¡H$s gd©
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8) Which of the following property is included in the term "movable property"?

1) Securities, shares, bonds and debentures

2) Motorcarts, motor-cycles, horses or any kind of vehicle

3) Refrigerators, radios, radiograms and television sets

4) All of the above

9) O{‘ZrÀ`m ‘mb‘ÎmoMr {deof d¡{eï²> ò ........ AmhoV.
i) {df‘Vm Am{U ‘mZH$sH$aUmMm A^md. ii) O{‘ZrMm EHy$U nwadR>m {Z{l²MV Zmhr.
iii) {d{dY H$m`Úm§Mm H$moUVmhr à^md Zmhr. iv) O{‘ZrMm EHy$U nwadR>m {Z{l²MV Amho.
darbn¡H$s H$moUVo {deof JwU `mo½` AmhoV?
CÎma n`m©̀  :
1) ’$º$ (i) Am{U (ii) 2) ’$º$ (ii) Am{U (iii)
3) ’$º$ (i) Am{U (iii) 4) ’$º$ (i) Am{U (iv)

9) The special characteristics of landed property are .........

i) Heterogeneity and lack of standardization. ii) Total supply of land is not fixed. ,

iii) No effect of various legislations. iv) Total supply of land is fixed.

Which of the above special characteristics are correct ?

Answer options :

1) Only (i) and (ii) 2) Only (ii) and (iii) 3) Only (i) and (iii) 4) Only (i) and (iv)

10) ‘yë¶‘mnZmMo gmYZ ho n¡emMo H$moUË¶m àH$maMo H$m¶© Amho?
1) àmW{‘H$ H$m¶© 2) Xþæ¶‘ H$m¶© 3) AmZwf§{JH$ H$m¶© 4) BVa H$m¶©

10) What kind of function of money is the measure of value function ?

1) Primary function 2) Secondary function 3) Contingent function 4) Other function

11) ‘wÐm JwUm§H$mda Imbrb ‘w»¶ JwUmoÎmamMm à^md AgVmo …
a) MbZ JwUmoÎma b) ‘wXV R>odr/‘mJUr R>odr (TD/DD) c) amIrd Amdí¶H$Vm
n¶m©¶r CÎmao …
1) (a) Am{U (c) {dYmZo ¶mo½¶ AmhoV. 2) (b) Am{U (c) {dYmZo ¶mo½¶ AmhoV.
3) (a), (b) Am{U (c) {dYmZo ¶mo½¶ AmhoV. 4) (a) Am{U (b) {dYmZo ¶mo½¶ AmhoV.

11) Money multiplier is influenced by the following key ratios :

a) Currency ratio

b) Time Deposit/Demand Deposit (TD/DD)

c) Reserve requirement

Answer Options :

1) Statements (a) and (c) are correct 2) Statements (b) and (c) are correct

3) Statements (a), (b) and (c) are correct 4) Statements (a) and (b) are correct

12) n¡gm JwUH$ H$emda Adb§~yZ AgVmo?
1) qH$‘V nmVir 2) n¡emMr ‘mJUr 3) n¡emMm nwadR>m 4) amIrd n¡gm

12) On what does money multiplier depend ?

1) Price level 2) Demandformoney 3) Supply of money 4) Reservemoney
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13) Cƒ eº$sembr n¡em‘Ü¶o (H) Imbrb Jmoï>tMm g‘mdoe AgVmo …
a) gd©gmYmaU qH$‘VnmVir Am{U n¡emMo à‘mU/MbZnwadR>m
b) amoOJma nmVir Am{U qH$‘VnmVir
c) n¡emMo à‘mU Am{U H$m‘Jma H$m¶Xo
n¶m©¶r CÎmao …
1) {dYmZo (a) Am{U (b) ~amo~a AmhoV 2) {dYmZo (b) Am{U (c) ~amo~a AmhoV
3) {dYmZo (a), (b) Am{U (c) ~amo~a AmhoV 4) {dYmZo (a) Am{U (c) ~amo~a AmhoV

13) Following things are included in High Powered money (H) :

a) Monetary liabilities

b) Government money

c) Black money

Answer Options :

1) Statements (a) and (b) are correct 2) Statements (b) and (c) are correct

3) Statements (a), (b) and (c) are correct 4) Statements (a) and (c) are correct

14) Imbrbn¡H$s H$moUVo dm³¶/dm³¶o A¶mo½¶ Amho/AmhoV?
a) MbZr ZmoQ>m ^maV gaH$maH$Sy>Z Omar Ho$ë¶m OmVmV.
b) g§Hw${MV n¡gm qH$dm E‘-1 ‘Ü¶o bmoH$m§Odirb MbZmMm A§V^m©d/g‘mdoe AgVmo.
n¶m©¶r CÎmao …
1) (a) ’$º$ 2) (b) ’$º$ 3) (a) Am{U (b) XmoÝhr 4) darbn¡H$s H$moUVohr Zmhr

14) Which of the following statement/s is/are incorrect ?

(a)  Currency notes in circulation are issued by the Government of India.

(b)  Narrow money or M1 includes currency with the public

 Answer options :

(1)  Only (a) (3)  Both (a) and (b) (2)  Only (b) (4)  None of the above

15) ‘pëQ>nc arJ«oeZ (Multiple Regression) ‘Ü¶o ........ AgVo.
1) ’$º$ EH$ B§S>rn|S>§Q> MbZ (variable)

2) EH$mnojm OmñV (more than one) S>rn|S>§Q> (dependent) MbZ (variable)

3) EH$mnojm OmñV B§S>rn|S>§Q> (Independent) MbZ (variable)

4) darbn¡H$s EH$hr Zmhr
15) A multiple regression has ......

1) only one independent variable 2) more than one dependent variable

3) more than one independent variable 4) None of the above

16) ñWm{ZH$ ~mOmamÀ¶m ^mfm{df¶H$, gm§ñH¥${VH$ d Vm§{ÌH$ JaOmZwgma gm°âQ>doAa CËnm{XV H$aUo åhUOo ........
1) gm°âQ>doAa bmoH$bmB©PoeZ 2) gm°âQ>doAa g|ÝQ´>bmB©PoeZ
3) gm°âQ>doAa H$ñQ>‘mB©PoeZ 4) gm°âQ>doAa ¶w{Z{’$Ho$eZ

16) Software developed by considering the needs based on language, culture and technology for local

market is called

1) Software localisation 2) Software centralisation

3) Software customisation 4) Software unification
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(1)  emœV {dH$mg Am{U dmT>, EgS>rOr,
n§Mdm{f©H$ ¶moOZm d {dH$mg H$m¶©H«$‘

1) {dH$mg Am{U dmT>

1-4 2-4 3-3 4-3 5-2 6-2

2)  emídV {dH$mg - EgS>rOr

1-2 2-3 3-1 4-3 5-3 6-1
7-3 8-3

3) {Z¶moOZ à{H«$¶m

1-2 2-2 3-3 4-1 5-3 6-2
7-2 8-4 9-4 10-3 11-4

4) n§Mdm{f©H$ ¶moOZm d {dH$mg H$m¶©H«$‘

1-2 2-1 3-1 4-3 5-3 6-2
7-1 8-3 9-4 10-4 11-3

5) emœV {dH$mgmMo H$m¶©H«$‘

1-3 2-3 3-3 4-1 5-3 6-3
7-3 8-1 9-3 10-4 11-3 12-3
13-3

(2) ^maVr¶ AW©ì¶dñWm - AmìhmZo,
amḯ>r` CËnÞ - OrìhrE, OrS>rnr,  Am{W©H$

gwYmaUm, ImCOm

1)  ̂ maVr¶ AW©ì¶dñWm - AmìhmZo

1-4 2-3 3-4 4-3 5-3

2) amï´>r` CËnÞ - OrìhrE, OrS>rnr

1-3 2-3 3-4 4-1 5-2 6-3
7-3 8-4 9-1

3) ̂ maVr¶ AW©ì¶dñWoMr joÌr¶ H$m‘{Jar

1-1 2-3 3-3 4-4 5-1

4) ̂ maVmVrb Am{W©H$ gwYmaUm

1-1 2-2 3-2 4-3 5-4 6-2
7-2 8-3 9-4 10-1 11-2 12-3
13-2 14-3 15-4

5) ImOJrH$aU-CXmarH$aU - OmJ{VH$sH$aU

1-4

ImOJrH$aU

1-4 2-1 3-4 4-2 5-4 6-2
7-2

OmJ{VH$sH$aU

1-2 2-4 3-3 4-4 5-4 6-3
7-4

(3) J[a~rMr g§H$ënZm, ‘moO‘mn Am{U
A§XmO, J[a~r {Z‘y©bZ H$m ©̀H«$‘

1) J[a~rMr g§H$ënZm, H$maUo

1-1 2-1

2) Xm[aX²Œ¶mMo ‘moO‘mn Am{U A§XmO

1-4 2-3 3-4 4-3 5-1 6-4
7-4 8-2 9-2 10-2 11-2

‘hmamîQ́> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h

Am{W©H$ Am{U gm‘m{OH$ {dH$mg
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3) ‘mZd {dH$mg {ZX}em§H$

1-2 2-3 3-3 4-4 5-4 6-1
7-3 8-1 9-4 10-3 11-4 12-4

4)  J[a~r {Z‘y©bZ H$m ©̀H«$‘

1-4 2-1 3-1 4-4 5-1

(4) ~oH$mar - H$maUo, ñdén, àH$ma,
amoOJma {Z{‘©Vr H$m ©̀H«$‘

1)  ~oamoOJmarMr g§H$ënZm, àH$ma,  H$maUo

1-4 2-1 3-2 4-4 5-2 6-2
7-4 8-2 9-3 10-4

2) ~oamoOJmarMo  ‘moO‘mn Am{U A§XmO

1-1 2-2 3-2 4-3 5-2 6-1
7-3 8-3

3) amoOJma {Z{‘©Vr H$m¶©H«$‘

1-2 2-3 3-3 4-3 5-4 6-4
7-4 8-3 9-2

(5) {d{dY d§{MV JQ>m§À`m g§X^m©V
gd©g‘mdoeH$Vm d gm‘m{OH$ gwajm

1)  gd©g‘mdoeH$Vm d g‘mdoeH$ d¥Õr

1-3 2-4 3-4

2)  {dÎmr¶ g‘mdoeZmMo H$m¶©H«$‘

1-3 2-4 3-4 4-4 5-3 6-3
7-4

3) AZwgy{MV OmVtMr gwajm Am{U {dH$mg

1-2 2-4

4) AZwgy{MV O‘mVtMr gwajm Am{U {dH$mg

1-2 2-4 3-1 4-4 5-3 6-3
7-4 8-1 9-4 10-1 11-2 12-3
13-2 14-3 15-2 16-4 17-3 18-3
19-4 20-2 21-1

5) ‘mJmgdJu¶m§Mr gwajm Am{U {dH$mg

6) Aëng§»¶m§H$m§Mr gwajm Am{U {dH$mg

7) Á òð> ZmJ[aH$m§Mr gwajm Am{U {dH$mg

1-1 2-2

8) {Xì¶m§Jm§Mr gwajm Am{U {dH$mg

1-2

9) H$m‘Jmam§Mr gwajm Am{U {dH$mg

1-2 2-4

10) eoVH$ar d eoV‘Owam§Mr gwajm Am{U {dH$mg

1-4 2-2 3-2 4-2 5-4 6-1
7-2 8-1 9-2 10-3 11-1 12-2
13-4 14-3

(6) {dH$mg H$m ©̀H«$‘ - ‘{hbm, ‘wbo, ¶wdH ,
àH$ën~m{YV

1) ‘{hbm g~brH$aU Am{U {dH$mg

1-3 2-3 3-3 4-4 5-3 6-4
7-1 8-3 9-2 10-1 11-4 12-3
13-2

2) ~mbH$m§Mo  g~brH$aU Am{U {dH$mg

1-2 2-1 3-2 4-4 5-3 6-3

3) ¶wdH$m§Mo g~brH$aU Am{U {dH$mg

1-3 2-3 3-3 4-1 5-4

4) àH$ën~m{YVm§Mo g~brH$aU Am{U {dH$mg

5) H$m¡eë¶  d CÚmoOH$Vm {dH$mg

1-2 2-1 3-3 4-2 5-3 6-4
7-3 8-1 9-1 10-1 11-4 12-2
13-1 14-4 15-4
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(7) {ejU, Amamo½`, H¥$fr, J¥h{Z‘m©U
joÌmMm {dH$mg

1) {ejU joÌmVrb CnH«$‘, ¶moOZm

1-1 2-2 3-3 4-2 5-1 6-2
7-4 8-2 9-3 10-3 11-2

2) Amamo½` joÌmVrb CnH«$‘, ¶moOZm

1-4 2-3 3-2

3) H¥$fr d J«m‘rU {dH$mg ¶moOZm, H$m¶©H«$‘

1-1 2-3 3-4 4-3 5-4 6-3
7-3 8-3 9-3 10-2 11-4 12-1

4) AÞgwajm Am{U {dH$mg

1-4 2-1 3-4 4-3 5-4 6-3
7-4

5) J¥h{Z‘m©U{df¶H$ ¶moOZm, H$m¶©H«$‘

1-3 2-4 3-3 4-3 5-4 6-1
7-2 8-2 9-4

(8) ‘hmJmB© - H$maUo, n[aUm‘, {Z §̀ÌU,
Cnm`,  g‘J«bjr AW©emó

1)  dñVyMr {H$‘V d ~mOmanoR>

1-4 2-4 3-3 4-2 5-2 6-3
7-1 8-1 9-2 10-2

2) ‘hmJmB© - àH$ma, H$maUo, n[aUm‘

1-4 2-2 3-4

3) ‘hmJmB© - {Z §̀ÌU, Cnm`

1-4 2-2 3-1 4-3

4) g‘J«bjr AW©emó - n¡gm d MbZnwadR>m

1-4 2-1 3-1 4-4 5-1 6-3
7-1 8-4 9-4 10-1 11-3 12-4
13-1 14-1 15-3 16-1


